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(4) AW©g§H$ën d gmd©O{ZH$ {dÎm, ~±qH$J d d {dÎm, H¥$fr d J«m‘rU
{dH$mg, Xm[aÚ« d ~oH$mar

1) amï´>r` CËnÞ
2) AW©g§H$ën d gmd©O{ZH$ {dÎm
3) ~±qH$J
4) H¥$fr d J«m‘rU {dH$mg
5) CÚmoJ d n¶m ŷV gw{dYm
6) Xm[aÚ« d ~oH$mar
7) A{W©H$ gwYmaUm
8) gd©gm‘mdoeH$Vm d {dH$mg
9) {dXoer ì¶mnma

1) amḯ>r` CËnÞ

1) ............. ¶mdfu ~m±~o ßb°Z V¶a H$aÊ¶mV Ambm hmoVm
1) 1950 2) 1947 3) 1930 4) 1944

1) In the year, ‘Bombay Plan’ was prepared for the development of Indian Economy.

1) 1950 2) 1947 3) 1930 4) 1944

2) df© 2021-22 ‘Ü¶o EHy$U Cn^moJ 7% Zo dmT>oc Agm A§XmO Amho H$maU,
1) gaH$maZo IMm©V - Ho$cocr ^ard ¶moJXmZo
2) H$moamoZm ‘hm‘marnyd© H$mcmnojm ñWyyc pñWa ^m§S>dc {Z{‘©Vr A{YH$
3) dñVy Am{U godm {Z¶m©V 2021-22 ‘Ü¶o AndmXmË‘H$[aË¶m à~i
4) darc gd©

2) Total consumption is estimated to grow by 7 per cent in 2021-22 because of

1) Significant contributions from government spending

2) Gross Fixed Capital Formation exceeded pre-pandemic levels

3) Exports of both goods and services have been exceptionally strong

4) All the above

3) AmJmD$ A§XmOmà‘mUo, df© 2020-21 ‘Ü¶o Am{W©H$ d¥ÕrV KQ> Pmë¶mZ§Va, df© 2021-22 ‘Ü¶o XoemMo dmñVì¶ ñWyc
Xoem§VJ©V CËnmXZ 9.2% Zo dmT>co. ¶mMm AW© Agm H$s,
1) gd© Am{W©H$ ì¶dhma nyd© nXmda ¶oV AmhoV.
2) gd© {ZXe©H$ Xe©{dVmV H$s, Xþgè¶m cmQ>oMm n{hë¶m {V‘mhrVrc Am{W©H$ n[aUm‘ gZ 2020-21 ‘Yrc nyU©

Q>mio~§Xrnojm H$‘r hmoVm.
3) n{hë¶m cmQ>o‘Ü¶o Amamo½¶ joÌmdarc n[aUm‘ ‘moR>m ZìhVm.
4) (1) Am{U (2)
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3) Advance estimates suggest that the Indian economy is expected to witness real GDP expansion of

9.2 per cent in 2021-22 after contracting in 2020-21. This implies that

1) Overall economic activity has recovered past the pre-pandemic levels.

2) Almost all indicators show that the economic impact of the “second wave” in Q1 was much

smaller than full lockdown phase in 2020-21.

3) The impact on health sector was not severe during first wave.

4) (1) and (2)

4) df© 2021-22 ‘Ü¶o ^maVmVrc H$moUVo CËnmXH$ joÌ CÎm‘ H$m‘{Jar H$aoc ?
1) eoVr Am{U g§c¾ joÌ 2) CÚmoJ (ImUH$m‘ Am{U ~m§YH$m‘ Yê$Z) joÌ
3) godm joÌ 4) darc gd©

4) In the year 2021-22, which productive sector of India will show the better performance ?

1) Agriculture and allied sectors 2) Industry {including mining and construction)

3) Service sector 4) All the above

5) brS²>g 2022 À¶m gd}jU AhdmbmZwgma Imbrbn¡H$s H$moUVr amÁ¶o ’$mñQ> ‘yìhg© H$m‘{Jar loUr‘Ü¶o Amho?
A) h[a¶mUm ~) Ho$ai H$) amOñWmZ S>) Vm{‘iZmSy>
n¶m©¶r CÎmao …
1) A Am{U ~ 2) A Am{U H$ 3) ~ Am{U H$ 4) H$ Am{U S>

5) According to LEADS 2022 survey report which of the following States are in Fast Movers

Performance Categories ?

a) Haryana b) Kerala c) Rajasthan d) Tamil Nadu

Answer options :

1) a and b 2) a and c 3) b and c 4) c and d

6) ............. hr ^maVr¶ Am{W©H$ {Z¶moOZmMr ‘w»¶ C{Ôï>o AmhoV.
1) Am[W©H$ dmT> 2) AmË‘{Z ©̂aVm 3) amoOJma H$‘r H$aUo 4) J[a~r Xÿa H$aUo.
n¶m©¶r CÎmao :
1) (a) ’$º$ (b) 2) (a), (b) Am{U ’$º$ (c)

3) (a), (b) Am{U (d) 4) darc gd©
6) are the main objectives of Indian economic planning.

a) Economic growth b) Self-reliance

c) Reducing employment d) Elimination of poverty

Answer options :

1) (a) and (b) 2) (a), (b) and (c) 3) (a), (b)and(d) 4) All of the above

7) Xhmì¶m n§Mdm{f©H$ ¶moOZoV EHy$U IMm©À¶m 22.8 Q> o̧$ dmQ>nmgh ...... joÌ ho Xþgè¶m H«$‘m§H$mda hmoVo.
1) dmhVyH$ Am{U XiUdiU 2) gm‘m{OH$ godm
3) ‘m{hVr-V§ÌkmZ 4) bKwCÚmoJ

7) The sector came second with allocation of 22.8 per cent of total outlay of 10th five year plan.

1) Transport and communication 2) Social services

3) Information technology 4) Small scale industries
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8) NITI Am`moJmÀ`m g§X^m©V, Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV?
a) H|$Ð Am{U amÁ` gaH$mam§gmR>r 'qWH$ Q>±H$' åhUyZ H$m‘ H$aVo.
b) g§~§{YV YmoaUmË‘H$ Am{U Vm§{ÌH$ g„m {Xbm OmVmo.
c) V§ÌkmZ gwYmaUm Am{U j‘Vm dmT>dÊ`mda ^a Úm.
d) H$m ©̀H«$‘m§À`m A§‘b~OmdUrMo narjU Am{U ‘yë`m§H$Z H$ê$ ZH$m.
Answer Options :

1) a Am{U b ’$º$ 2) c Am{U d ’$º$ 3) a, b Am{U c ’$º$ 4) darb gd©
8) With regards to NITI Aayog, which of the following statements are true ?

a) Works as 'Think tank' for Central and State Governments.

b) Relevant strategic and technical advice is given.

c) Focus on technology upgradation and capacity building.

d) Do not monitor and evaluate the implementation of programmes.

Answer Options :

1) a and b only 2) c and d only 3) a, b and c only 4) all of the above

9) ............. hr ^maVr¶ Am{W©H$ {Z¶moOZmMr ‘w»¶ C{Ôï>o AmhoV.
1) Am[W©H$ dmT> 2) AmË‘{Z ©̂aVm 3) amoOJma H$‘r H$aUo 4) J[a~r Xÿa H$aUo.
n¶m©¶r CÎmao :
1) (a) ’$º$ (b) 2) (a), (b) Am{U ’$º$ (c)

3) (a), (b) Am{U (d) 4) darc gd©
9) are the main objectives of Indian economic planning.

a) Economic growth b) Self-reliance

c) Reducing employment d) Elimination of poverty

Answer options :

1) (a) and (b) 2) (a), (b) and (c) 3) (a), (b)and(d) 4) All of the above

10) Xhmì¶m n§Mdm{f©H$ ¶moOZoV EHy$U IMm©À¶m 22.8 Q> o̧$ dmQ>nmgh ...... joÌ ho Xþgè¶m H«$‘m§H$mda hmoVo.
1) dmhVyH$ Am{U XiUdiU 2) gm‘m{OH$ godm
3) ‘m{hVr-V§ÌkmZ 4) bKwCÚmoJ

10) The sector came second with allocation of 22.8 per cent of total outlay of 10th five year plan.

1) Transport and communication 2) Social services

3) Information technology 4) Small scale industries

11) NITI Am`moJmÀ`m g§X^m©V, Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV?
a) H|$Ð Am{U amÁ` gaH$mam§gmR>r 'qWH$ Q>±H$' åhUyZ H$m‘ H$aVo.
b) g§~§{YV YmoaUmË‘H$ Am{U Vm§{ÌH$ g„m {Xbm OmVmo.
c) V§ÌkmZ gwYmaUm Am{U j‘Vm dmT>dÊ`mda ^a Úm.
d) H$m ©̀H«$‘m§À`m A§‘b~OmdUrMo narjU Am{U ‘yë`m§H$Z H$ê$ ZH$m.
Answer Options :

1) a Am{U b ’$º$ 2) c Am{U d ’$º$ 3) a, b Am{U c ’$º$ 4) darb gd©
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11) With regards to NITI Aayog, which of the following statements are true ?

a) Works as 'Think tank' for Central and State Governments.

b) Relevant strategic and technical advice is given.

c) Focus on technology upgradation and capacity building.

d) Do not monitor and evaluate the implementation of programmes.

Answer Options :

1) a and b only 2) c and d only 3) a, b and c only 4) all of the above

2) AW©g§H$ën d gmd©O{ZH$ {dÎm

1) ñdV§Ì {dH$mg ‘§S>io ñWmnZ H$aÊ¶mMr O~m~Xmar amÁ¶nmbmMr AgVo. Imbrbn¡H$s H$moUVr amÁ¶o ¶mÀ¶mer g§~§{YV
AmhoV?
A) ‘hmamï´> ~) JwOamV H$) H$Zm©Q>H$ S>) Vm{‘iZmSy>
n¶m©¶r CÎmao …
1) ’$º$ A, ~, H$ 2) ’$º$ ~, H$, S> 3) ’$º$ A, ~, S> 4) darbn¡H$s gd©

1) The Governor has responsibility to establish separate Development Boards.

Which of the following States are related with it ?

A) Maharashtra B) Gujarat C) Karnataka D) Tamil Nadu

Answer options :

1) Only A, B, C 2) Only B, C, D 3) Only A, B, D 4) All of the above

2) ‘hmamOñd A{^¶mZ H$moUË¶m {d^mJmH$Sy>Z am~{dco OmVo ?
1) ‘hgyc d dZ {d^mJ 2) J«m‘ {dH$mg {d^mJ
3) ZJa {dH$mg {d^mJ 4) CËnmXZ ewëH$ {d^mJ

2) Maharajswa Abhiyan is implemented by which department?

1) Revenue and Forest Department 2) Village Development Department

3) Urban Development Department 4) Excise Department

3) H$moUmÀ¶m {e’$maerdéZ AW© {dYo¶H$ amÁ¶ {d{Y‘§S>imV ‘m§S>Vm ¶oVo ?
i) g^mnVr ii) {dÎm‘§Ìr iii) ‘w»¶‘§Ìr iv) amÁ¶nmc
¶mo½¶ n¶m©¶ {ZdS>m.
1) ’$º$ i Am{U ii 2) ’$º$ iii Am{U iv 3) ’$º$ iv 4) ’$º$ i

3) Money Bill can be introduced in the State Legislature only on the recommendation of

i) Speaker ii) Finance Minister iii) Chief Minister iv) Governor

Choose the correct options.

1) Only i and ii 2) Only iii and iv 3) Only iv 4) Only i

4) ‘hmamï´> {dYmZg^m {Z¶‘ H«$. 208 Zwgma A§XmO g{‘Vr‘Ü¶o OmñVrV OmñV 29 gXñ¶m§Mm g‘mdoe Agoc {dYmZg^m
AÜ¶j Ë¶mn¡H$s {dYmZg ôÀ¶m gXñ¶m§‘YyZ OmñVrV OmñV ............ gXñ¶ Zm‘{ZX}o{eV H$aVrc Am{U Ë¶mM [aVrZo
{dYmZ n[afX g^mnVr {dYmZ n[afXoÀ¶m gXñ¶m§‘YyZ OmñVrV OmñV ............gXñ¶ Zm‘{ZX}{eV H$aVrc.
1) 25 d 4 2) 26 d 3 3) 23, 6 4) 23, 7
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4) Maharashtra Vidhan Sabha Rule no. According to 208 the Estimates Committee shall consist of a

maximum of 29 members out of which the Speaker shall nominate a maximum of ............ members

from among the members of the Legislative Assembly and similarly the Speaker of the Legislative

Council shall nominate a maximum of ....... from among the members of the Legislative Council.

.....members shall nominate.

1) 25 and 4 2) 26 and 3 3) 3) 23, 6 4) 23, 7

5) Imbrb {dYmZo {dMmamV ¿¶m …
A) KQ>ZoMo AZwÀN>oX 275 Am{U 282 ghm¶-AZwXmZmÀ¶m àíZm§er g§~§{YV AmhoV.
~) AZwÀN>oX 275 A§VJ©V AZwXmZ H$moUË¶mhr gmd©O{ZH$ CÔoemgmR>r amÁ¶m§Zm {Xbo OmVo.
H$) AZwÀN>oX 282 A§VJ©V AZwXmZ amÁ¶m§Zm 'ghmæ¶mMr JaO'' ‘Ü¶o {Xbo OmVo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
n¶m©¶r CÎmao …
1) XmoÝhr A Am{U H$ ¶mo½¶ AmhoV. 2) Ho$di A ¶mo½¶ Amho
3) Ho$di H$ ¶mo½¶ Amho 4) darbn¡H$s gd©

5) Consider the following statements :

a) Articles 275 and 282 of the Constitution deal with the question of grants-in-aid.

b) Grants under Article 275 are given to the states for any public purpose.

c) Grants under Article 282 are given to the states in “need of assistance”.

Which of the statement/s given above is/are correct ?

Answer Options :

1) Both a and c are correct 2) Only a is correct

3) Only cis correct 4) All of the above

6) Z°eZb aoZ’o$S> E[a`m Am°°Wm°[aQ>rZwgma, ^maVmV EH$XmM XwîH$mi nS>Ê`mMr dma§dm[aVm ......
1) 1-5 df} 2) 1-10 df} 3) 2-5 df} 4) 10 df}

6) As per the National Rainfed Area Authority, the frequency of occurance of drought once in India

is ............

1) 1-5Years 2) 1-10 Years 3) 2-5 Years 4) > 10years

7) ^maVmV Ydb H«$m§Vrbm gwédmV ............. gmbmnmgyZ H$aÊ¶mV Ambr.
1) 1971 2) 1972 3) 1973 4) 1974

7) White revolution started in India from _______ year.

1) 1971 2) 1972 3) 1973 4) 1974

8) ^maVmV gm‘m{OH$ dZrH$aU H$m ©̀H«$‘ ............ ‘Ü ò gwê$ Pmbm.
1) 1950 2) 1960 3) 1965 4) 1970

8) InIndia, Social Forestry Programme began in .............

1) 1950 2) 1960 3) 1965 4) 1970
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9) Imcrcn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
a) Mw{Zcmc ‘ohVm ¶m§Zr ghH$mar VËdmda gmIa H$maImZm gwé H$aÊ¶mMm à¶ËZ Ho$cm.
b) S>m°. YZ§O¶ JmS>Jri ¶m§À¶m ‘mJ©Xe©ZmImcr ‘hmamï´>mV ghH$mar gmIa H$maImZXmarMm ew^ma§^ Pmcm.
c) 1905 Z§Va ‘w§~B© H$mnS> H$maImZXmar‘Ü¶o VoOr Amcr
n¶m©¶r CÎmao :
1) a Am{U b ~amo~a AmhoV 2) a, b Am{U c ~amo~a AmhoV
3) a Am{U c ~amo~a AmhoV 4) ’$º$ c ~amo~a Amho.

9) Which of the following statements is / are correct ?

a) Chunilal Mehta tried to start a sugar industry on cooperative basis.

b) Cooperative sugar industry was started in Maharashtra under the guidance of Dr. Dhananjay Gadgil.

c) After 1905, textile industry flourished in Mumbai.

Answer options :

1) a andb are correct 2) a, b and c are correct

3) a and c are correct 4) only cis correct

10) Imbr ‘hmamï´> amÁ¶mVrb H$mhr Am¶.Q>r. nmH©$ d Ë¶m§Mo {R>H$mU {Xbo AgyZ Ë¶m§À¶m ¶mo½¶ OmoS>çm bmdm.
A) Am§Vaamï´>r¶ BÝ’$moQ>oH$ nmH©$ i) gm§Jbr eha
~) gm°âQ>doAa Q>o³Zmobm°Or nmH©$ ii) Zm{eH$
H$) BZ’$m°‘}oeZ Q>o³Zmobm°Or nmH©$ iii) ^mogar
S>) A§~S> Am¶.Q>r. nmH©$ iv) Zdr ‘w§~B©
n¶m©¶r CÎmao …

A ~ H$ S>
1) ii iii iv i

2) iv iii ii i

3) iv iii i ii

4) iv i iii ii

10) Below are some I.T. in Maharashtra state. Parks and their locations are given and match them

correctly.

a) International Infotech Park i) Sangli City

b) Software Technology Park ii) Nashik

c) Information Technology Park iii) Bhosari

d) Ambad I.T. Park iv) Navi Mumbai

Answer options :

A B C D

1) ii iii iv i

2) iv iii ii i

3) iv iii i ii

4) iv i iii ii

11) IRC Zwgma, J«m‘rU ^mJmV ‘moQ>agm`H$bgmR>r àdmgr H$ma ẁ{ZQ> Amho
1) 0.50 2) 0.75 3) 0.80 4) 1.00

11) As per IRC, the passenger car unit for a motorcycle in rural areas is

1) 0.50 2) 0.75 3) 0.80 4) 1.00
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12) ^maVmVrb bmoh-nmobmX CÚmoJ d ñWmnZm df© ¶m§À¶m ¶mo½¶ OmoS>çm bmdm …
           bmoh-nmobmX CÚmoJ ñWmnZm df©
a) ~§Jmb Am¶Z© A°ÊS> ñQ>rb H§$nZr i) 1874
b) Q>mQ>m Am¶Z© A°ÊS> ñQ>rb H§$nZr ii) 1907
c) B§S>r¶Z Am¶Z© A°ÊS> ñQ>rb H§$nZr iii) 1919
d) åh¡gya Am¶Z© A°ÊS> ñQ>rb H§$nZr iv) 1923
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (ii) (i) (iv)

3) (ii) (iv) (iii) (i)

4) (i) (ii) (iii) (iv)

12) Match the correct pairs of Iron and Steel Industry and its establishment year in India :

       Iron and Steel Industry Establishment Year

a) Bengal Iron and Steel Industry i) 1874

b) Tata Iron and Steel Industry ii) 1907

c) Indian Iron and Steel Industry iii) 1919

d) Mysore Iron and Steel Industry iv) 1923

Answer options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (ii) (i) (iv)

3) (ii) (iv) (iii) (i)

4) (i) (ii) (iii) (iv)

13) ‘hmamï´>mV {d{dY àH$maMr ’$io {nH${dÊ¶mV ............... {Oëøm§Mm n{hcm H«$‘m§H$ Amho.
1) Ah‘XZJa 2) nwUo  3) gmocmnwa 4) Am¡a§Jm~mX

13) ...... district ranks first in Maharashtra in growing a variety of fruits.

1) Ahamadnagar 2) Pune 3) Solapur 4) Aurangaba

14) OJmVrb n{hbr bmJdS> Ho$bobr {nHo$ AmhoV
1) Jhÿ Am{U Vm§Xyi 2) Jhÿ Am{U ~mbu 3) Jhÿ Am{U ‘H$m 4) Jhÿ Am{U Ádmar

14) The first cultivated crops in the world are

1) Wheat and Rice 2) Wheat and Barley 3) Wheat and Maize 4) Wheat and Sorghum

15) 2020-21 ‘Ü ò ‘hmamï´> amÁ`mV Ë`m§À`m bmJdS>rImbrb joÌmÀ`m CVaË`m H«$‘mZo {nH$m§Mm `mo½` H«$‘ H$m` Agob?
1) gmò m~rZ, H$mnyg, ^mV, Ádmar 2) H$mnyg, gmò m~rZ, ^mV, Ádmar
3) H$mnyg, gmò m~rZ, Ádmar, YmZ 4) ^mV, H$mnyg, gmò m~rZ, Ádmar

15) What would be the correct sequence of crops in the descending order of their area under cultivation

in Maharashtra State in 2020—21 ?

1) Soybean, Cotton, Paddy, Jowar 2) Cotton, Soybean, Paddy, Jowar

3) Cotton, Soybean, Jowar, Paddy 4) Paddy, Cotton, Soybean, Jowar



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : Mmcy KS>m‘moS>r  / 58

For Private Circulation Only

16) ¶mo½¶ OmoS>çm bmdm.
    H«$m§Vr d¡{eîQ>ço
A) h[aV H«$m§Vr I) VmJ
~) nrV H«$m§Vr II) H$mnyg
H$) V§Vy H«$m§Vr III) Vob{~¶m
S>) gwdU© V§Vy H«$m§Vr IV) AÞYmÝ¶ nrH$
n¶m©¶r CÎmao …

A ~ H$ S>
1) IV III II I

2) I II III IV

3) II IV III I

4) III I IV II

16) Make the correct pairs.

   Revolution Features

A) Green Revolution I) Jute

B) Yellow Revolution II) Cotton

C) Fibrous Revolution III) Oilseeds

D) Golden thread revolution IV) Food grain crop

Answer options :

A B C D

1) IV III II I

2) I II III IV

3) II IV III I

4) III I IV II

17) n§Om~À`m eoVH$è`m§Zr H¥$fr-dZHw$aU nÕVr A§VJ©V àmYmÝ` {Xbobr d¥j àOmVr ................ Amho.
1) nm°ß ẁbg 2) AmQ>m}H$mn©g 3) H$mOy 4) Am§~m

17) The tree species preferred by farmers of Punjab under agri-silviculture system is ................

1) Populus 2) Artocarpus 3) Cashew 4) Mango

18) JwOamV Am{U amOñWmZ amÁ`m§‘Ü ò AmT>iUmar Jwam§Mr OmV Á`mbm gdmB© Mmb Ago åhUVmV:
1) H$m§H$aoO 2) {Ja 3) amR>r 4) WmanmaH$a

18) The cattle breed found in the States of Gujarat and Rajasthan which has a peculiar gait known as

“Sawai Chal” is :

1) Kankrej 2) Gir 3) Rathi 4) Tharparkar

19) ‘hmamï´>mÀ¶m 2022-23 À¶m Am{W©H$ gd}jUmZwgma, 2021-22 ‘Ü¶o Imbrbn¡H$s H$moUË¶m Vob{~¶m§Mo gdm©{YH$
CËnmXZ Pmbo hmoVo?
1) gmo¶m~rZ 2) Zm¶Oa (H$mir ~waer) {~¶mUo
3) ŵB©‘yJ 4) gy¶©’y$b

19) According to the Economic Survey of Maharashtra 2022-23, which of the following oilseeds had

the highest production in Maharashtra in the year 2021-22?

1) Soyabean 2) Niger seed 3) Groundnut 4) Sunflower
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20) 'V-CIP' Mm {dñVma H$m¶ Amho Omo ~±qH$Jer g§~§{YV ~mVå¶m§‘Ü¶o {XgV hmoVm?
1) ìh|Ma H°${nQ>b Am¶S>|{Q>{’$Ho$eZ àmogog 2) pìhS>rAmo ~ogS>² H$ñQ>‘a Am¶S>|{Q>{’$Ho$eZ àmogog
3) ìhm°B©g ~ogS²> H$ñQ>‘a Am¶S>|{Q>{’$Ho$eZ àmogog 4) ìh|Ma H°${nQ>b BÝìhoñQ>‘|Q> àmogog

20) What is the expansion of ‘V-CIP’, which was seen in the news related to banking ?

1) Venture Capital Identification Process

2) Video Based Customer Identification Process

3) Voice Based Customer Identification Process

4) Venture Capital Investment Process

21) ‘hmamï´>mVrc eoVH$è¶m§Zm ghH$mar H¥$fr nVg§ñWm ‘m’©$V {Xcoë¶m nrH$ H$Om©darc ì¶mO XamV dgwcrer {ZJS>rV
àmoËgmhZmË‘H$ gyQ> XoÊ¶mMm {ZU©¶ ‘hmamï´> emgZmZo H$Yr KoVcm ?
1) 15 Am°JñQ>, 1987 2) 24 Zmoìh|~a, 1988 3) 24 Am°³Q>mo~a, 1998 4) 1 ‘o, 1985

21) When did the Government of Maharashtra decide to give incentives related to recovery of interest

rate on crop loans given to the farmers of Maharashtra through cooperative agriculture credit

institutions?

1) August 15, 1987 2) November 24, 1988

3) October 24, 1998 4) May 1, 1985

22) eoVH$è¶m§Zm Ho$di é. 1/- ^éZ {nH$ {d‘m ¶moOZoMm cm^ XoÊ¶mH$[aVm ""gd©g‘mdoeH$ nrH$ {d‘m ¶moOZm""
am~{dÊ¶m~m~VMm emgZ {ZU©¶ H$Yr KoÊ¶mV Amcm ?
1) {X. 23/06/2023 2) 13/06/2023 3) 1/07/2022  4) 01/05/2023

22) Farmers get only Rs. 1/- When was the government decision taken to implement "Comprehensive

Crop Insurance Scheme" to provide benefit of Bharun Crop Insurance Scheme?

1) Dt. 23/06/2023 2) 13/06/2023 3) 1/07/2022 4) 01/05/2023

23) ¶mo½¶ OmoS>çm Owidm :
       (¶moOZoMo Zmd) (¶moOZoÀ¶m A§‘c~OmdUrMm {XZm§H$)
A) ‘w»¶‘§Ìr Ocg§dY©Z ¶moOZm i) {X. 26 Am°JñQ>, 2013
~) Oc¶wº$ {edma A{^¶mZ 2.0 ii) {X. 6 OmZodmar, 2022
H$) ‘w»¶‘§Ìr J«m‘ gS>H$ ¶moOZm Q>ßnm-2 iii) {X. 3 OmZodmar, 2023
S>) H$moH$U J«m‘rU n¶©Q>Z {dH$mg H$m¶©H«$‘ iv) {X. 17 ’o$~«wdmar>, 2021
n¶m©¶r CÎmao :
1) A-iv, ~-iii, H$-ii, S>-i 2) A-iv, ~-ii, H$-iii, S>-i

3)A-i, ~-ii, H$-iii, S>-iv 4) A-iii, ~-iv, H$-i, S>-ii

23) Match the correct pairs :

              (Name of Scheme) (Date of Implementation of Scheme)

A) Chief Minister Water Conservation Scheme l) Dt. August 26, 2013

B) Jalyukta Shivar Abhiyan 2.0 ii) dt. January 6, 2022

C) Chief Minister Gram Sadak Yojana Phase-2 iii) dt. January 3, 2023

D) Konkan Rural Tourism Development Program iv) Dt. February 17, 2021

Answer options :

1) A-iv, B-iii, C-ii, D-i 2) A-iv, R-ii, C-iii, D-i

3) A-i, B-ii, C-iii, D-iv 4) A-iii, B-iv, C-i, D-ii
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24) ‘hmamï´> amÁ¶ ‘mJ© n[adhZ ‘hm‘§S>im‘m’©$V Imcrc {dYmZo {dMmamV ¿¶m.
a) ‘hm‘§S>imÀ¶m Vmã¶mV Agcoë¶m dmhZm§Zr g§»¶m 2020-21 ‘Ü¶o 17,358 hmoVr.
b) 31 ‘mM© 2021 AIoa ‘hm‘§S>imÀ¶m H$‘©Mmar g§»¶m 95,229 hmoVr.
c) 2020-21 ‘hm‘§S>imÀ¶m ~gZo àdmg H$aUmè¶m àdmem§Mr à{V{XZ gamgar g§»¶m 1.37 cmI BVH$s hmoVr.
darcn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/V ?
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (a) Am{U (c) 4) (a), (b), Am{U (c)

24) Consider the following statements by Maharashtra State Road Transport Corporation.

a) The number of vehicles in possession of the Corporation was 17,358 in 2020-21.

b) As on 31st March 2021, the strength of the employees of the Corporation was 95,229.

c) 2020-21 The daily average number of passengers traveling by Corporation buses was 1.37

lakh.

Which of the above statement/s is/are correct?

1) (a) and (b) 2) (b) and (c) 3) (a) and (c) 4) (a), (b), and (c)

25) AbrH$S>oM 2023 ‘Ü¶o, Imbrbn¡H$s H$moUË¶m ¶moOZoMo Zm‘H$aU àYmZ‘§Ìr-g‘J« ñdmñÏ¶ A{^¶mZ Ago H$aÊ¶mV
Ambo Amho?
1) amï´>r¶ Amamo½¶ A{^¶mZ 2) ‘mV¥Ëd d§XZm ¶moOZm
3) amï´>r¶ ñdmñÏ¶ {d‘m ¶moOZm 4) OZZr gwajm ¶moOZm

25) Recently in 2023, which of the following schemes has been renamed as Pradhan Mantri-Samagra

Swasthya Mission?

1) National Health Mission 2) Matritva Vandana Yojana

3) Rashtriya Swasthya Bima Yojana 4) Janani Suraksha Yojana

26) 1969 ‘Ü ò n{hbm g§JUH$ {gå ẁboeZ àmoJ«°‘ H$moUË`m dZñnVr amoJ ‘hm‘marda V`ma H$aÊ`mV Ambm?
1) ŵB©‘wJmÀ`m nmZmda C{eam òUmar S>mJ 2) Q>mo‘°Q>mo Am{U ~Q>mQ>çmbm bdH$a òUmam Ìmg
3) Q>mo‘°Q>mo Am{U ~Q>mQ>çmMm C{eam hmoUmam àH$mon 4) ŵB©‘wJmMm àma§{^H$ Q>ßnm

26) On which plant disease epidemics the first computer simulation programme was prepared in

1969 ?

1) Late leaf spot of groundnut 2) Early blight of tomato and potato

3) Late blight of tomato and potato 4) Early ieaf spot of groundnut

27) gm¡a {H$aUmoËgJm©Mo ......... à‘mU, D$O}À`m Ñï>rZo àH$meg§íbofUmV dmnabm OmVmo.
1) 24% 2) 28% 3) 32% 4) 36%

27) A portion of solar radiation, up to ......... in terms of energy is used in photosynthesis.

1) 24% 2) 28% 3) 32% 4) 36%

28) B‘maVr‘Ü ò Ja‘ H$aUo, hdoera H$aUo Am{U dmVmZwHy${bV H$aUo hm àmW{‘H$ CÔoe ............ Amho.
1) CîUVm D$Om© OmoSy>Z qH$dm H$mTy>Z Q>mHy$Z H$moaS>çm ~ë~Mo Vmn‘mZ, AmÐ©Vm Am{U hdoMr JwUdÎmm {Z §̀{ÌV H$aUo
2) hdm OmoSy>Z qH$dm H$mTy>Z Q>mHy$Z ImobrVrb hdoMo Vmn‘mZ W§S> H$aUo
3) CîUVm D$Om© H$mTy>Z hdoMo Vmn‘mZ W§S> H$aUo
4) darbn¡H$s H$mhrhr Zmhr
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28) The primary purpose of heating, ventilating and air conditioning in the building is .............

1) toregulate the dry bulb temperature, humidity and air quality by adding or removing heat energy

2) to cool the air temperature in room by adding or removing air

3) to cool the air temperature by removing heat energy

4) none of the above

29) nmoQ>©b±S> {g‘|Q> H$moUË`m Vmn‘mZmV KQ>H$ OmiyZ V`ma Ho$bo OmVo?
1) 250°C 2) 458°C 3) 2300°C 4) 1450°C

29) Portland Cement is produced by burning ingredients at what temperature ?

1) 250°C 2) 458°C 3) 2300°C 4) 1450°C

30) H§$nZ Ho$boë`m H$m±H«$sQ>gmR>r KgaUrMr H$moUVr loUr ({‘‘r‘Ü ò) ñdrH$mabr OmB©b?
1) 12 Vo 25 2) 50 Vo 100 3) 5 Vo 10 4) 25 Vo 50

30) Which range of slump (in mm) shall be adopted for vibrated concrete ?

1) 12 to 25 2) 50 to 100 3) 5 to10 4) 25 to 50

31) Am°Bb n|Q>‘Yrb ~og Aer H$m }̀ H$aVmo
a) n|Q>bm AnmaXe©H$Vm XoVo.
b) Kf©UmMm à{VH$ma dmT>dVo.
c) g§H$moMZ H«°$H$ V`ma hmoÊ`mg à{V~§Y H$aVo.
darbn¡H$s H$moUVo ’§$ŠeZ ~amo~a Amho/AmhoV?.
1) darb gd© 2) ’$º$ (a) 3) ’$º$ (a) Am{U (c) 4) ’$º$ (b)

31) A base in an oil paint performs functions such as

a) Gives opacity to the paint.

b) Increases resistance to abrasion.

c) Prevents formation of shrinkage cracks.

Which of the above function/s is/are correct ?.

1) All of the above 2) Only (a) 3) Only (a) and (c) 4) Only (b)

32) 7 ‘o 2020 amoOr Am§Y« àXoe òWo LG nm°{b‘a‘YyZ H$moUË`m dm ỳMr JiVr Pmbr?
1) A‘mo{Z`m 2) ŠbmoarZ 3) ~«mo‘mBZ 4) ñQ>m`arZ

32) Which gas leaked from LG Polymers at Andhra Pradesh on 7 May 2020?

1) Ammonia 2) Chlorine 3) Bromine 4) Styrene

33) 3 {S>g|~a 1984 amoOr ^monmi òWo ẁ{Z`Z H$m~m©BS> B§{S>`m {b.‘YyZ H$moUË`m dm ỳMr JiVr Pmbr?
1) {‘WmBb Am`gmogm`ZoQ> 2) {‘WmBb BWmBb Ho$Q>moZ
3) ’$m°ñOrZ 4) A‘mo{Z`m

33) Which gas leaked from Union Carbide India Ltd., at Bhopal on 3 December 1984?

1) Methyl isocyanate 2) Methyl ethyl ketone

3) Phosgene 4) Ammonia



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : Mmcy KS>m‘moS>r  / 62

For Private Circulation Only

34) H$m~©Z S>m` Am°ŠgmB©S> dm ỳ ‘w»`V: ...... VÎdmZwgma AmJ {dPdVmo
1) W§S> hmoUo 2) ñ‘moX[a¨J 3) Cnmg‘ma 4) ~mînr^dZ

34) Carbon dioxide gas extinguishes fire mainly by ...... principle

1) cooling 2) smothering 3) starvation 4) evaporation

35) Imbrbn¡H$s H$moUVm dm¶y hm ’w$â’w$gmbm KmVH$ Agë¶mZo Vmo {dfmar Amho?
1) H$m~©Z ‘moZmoAm°ŠgmBS> 2) H$m~©Z S>m`Am°ŠgmBS>
3) hm`S´moOZ gë’$mBS> 4) ho{b`‘

35) Which among the following is a respiratory irritant type of asphyxiant poison ?

1) Carbon monoxide 2) Carbon dioxide

3) Hydrogen sulfide 4) Helium

36) Imbrb dm ỳ§Mm {dMma H$am
a) CO b) EZ2Amo c) grEM Am{U Amo2 d) ŠbmoamoâbwamoH$m~©Ýg
darbn¡H$s H$moUVo h[aVJ¥h dm ỳ AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, b, c Am{U d

36) Consider the following gases

a) CO b) N,O c) CH and O2 d) Chlorofluorocarbons

Which of the above are the green house gases ?

1) a only 2) a and b only 3) a,b and c only 4) a, b c and d

37) ........ ho OdiOdi g§nyU©nUo {‘WoZnmgyZ ~Zbobo Amho Oar Ë`mV BVa dm ỳ§Mm g‘mdoe H$‘r Amho. ho BWoZ, àmonoZ,
ã ẁQ>oZ Am{U n|Q>oZ AmhoV.
1) Z¡g{J©H$ dm ỳ 2) BZQ>©J°g 3) {ZAm°Z dm ỳ 4) PoZm°Z dm ỳ

37) ...... is composed almost entirely of methane although it does contain small amounts of other

gases. These are ethane, propane, butane and pentane.

1) Natural gas 2) Inertgas 3) Neon gas 4) Xenon gas

38) HVAC àUmbrVrb dm ẁdrOZ §̀ÌUogmR>r Imbrb {dYmZo gË` AmhoV H$s ImoQ>r AmhoV Vo gm§Jm.
{dYmZ 1 : VmOo nwadR>m gw{Z{íM H$aÊ`mgmR>r Vo ~mhoarb hdoer AmVrb hdoMr XodmUKodmU H$aVo.
{dYmZ 2 : Vo hdm {’$ëQ>a H$aÊ`mV qH$dm AmÐ©VoMr `mo½` nmVir amIÊ`mV ŷ{‘H$m ~OmdVo.
1) XmoÝhr {dYmZo gË` AmhoV 2) {dYmZ 1 gË` Amho na§Vw {dYmZ 2 ImoQ>o Amho
3) {dYmZ 2 gË` Amho na§Vw {dYmZ 1 ImoQ>o Amho 4) XmoÝhr {dYmZo AgË` AmhoV

38) State whether the following statements for the ventilation mechanism in the HVAC system are

true or false.

Statement 1 : It exchanges inside air with outside air to ensure a fresh supply.

Statement 2 : It plays a role in filtering the air or maintaining the proper level of humidity.

1) Both the statements are true 2) Statement 1 is true but Statement 2 is false

3) Statement 2 is true but Statement 1 is false 4) Both the statements are false

39) {S>Pob OZaoQ>aÛmao dmnabo OmUmao EH$ {bQ>a B§YZ gamgar CËnmXZ H$aVo:
1) 0.7 {H$bmo CO2 2) 1 {H$bmo CO2 3) 1.7 {H$bmo CO2 4) 2.7 {H$bmo CO2

39) One litre of fuel consumed by a diesel generator produces an average of :

1) 0.7 kg of CO2 2) 1 kg of CO2 3) 1.7 kg of CO2 4) 2.7 kg of CO2
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40) AmXe© AmJ-à{VamoYH$ gm‘J«rMo JwUY‘© AmhoV
a) CîUVo‘wio Ë`mMo {dKQ>Z hmoD$ Z ò.
b) CîUVo‘wio OmñV à‘mUmV {dñVmê$ Z ò.
c) W§S> Pmë`mda Vo doJmZo AmHw§$MZ nmdbo nm{hOo.
darbn¡H$s H$moUVr {dYmZo ~amo~a/AmhoV?
1) ’$º$ (A) Am{U (§~) 2) ’$º$ (§~) 3) darb gd© 4) ¶mn¡H$s Zmhr

40) The properties of ideal fire-resisting materials are

a) It should not get disintegrated due to heat.

b) It should not expand excessively due to heat.

c) It should contract rapidly on cooling.

Which of the above statements is/are correct ?

1) Only (a) and (b) 2) Only (b) 3) All of the above 4) None of the above

41) ‘opŠgH$moÀ`m AmImVm‘Ü ò 20 E{àb 2010 amoOr S>rndm°Q>a hmoam`PZ Am°Bb [aJ ñ’$moQ>m‘wio ...... J°bZ H$ÀÀ`m VobmMr
JiVr Pmbr.
1) gw‘mao 10 Xebj 2) 50 Xebj 3) gw‘mao 40 Xebj 4) gw‘mao 4 Xebj

41) The Deepwater Horizon oil rig explosion on 20 April 2010 in the Gulf of Mexico led to the spill

of ...... gallon crude oil.

1) about 10 million 2) 50 million 3) about 40 million 4) about 4 million

42) Imbrbn¡H$s H$moUVo àH$meZ {dÎm {d^mJmH$Sy>Z V¶ma H$aÊ¶mV ¶oV Zmhr?
1) AW©g§H$ënr¶ A§XmO 2) H$m¶©H«$‘ A§XmOnÌH$
3) AW©g§H$ënr¶ {ZdoXZ 4) {dÎm{df¶H$ {ddaUnÌ

42) Which of the following publications is not prepared by the Finance Department?

1) Budget Estimates 2) Program Budget

3) Budget Statement 4) Financial Statement

43) EImÚm joÌmV IMuH$ amhUr‘mZ qH$dm amoJQ> n[apñWVr cjmV KoD$Z ‘§Oya Ho$coë¶m ^Î`mcm H$m¶ åhUVmV?
1) ñWm{ZH$ ^Îmm 2) nyaH$ ^Îmm 3) ñWm{ZH$ {ZYr 4) {deof ^Îmm

43) Allowance granted in consideration of cost of living or diseased conditions in an area is called

what?

1) Local Allowance 2) Supplementary Allowance

3) Local Fund 4) Special Allowance

44) H$moUË`m àH$maÀ`m JhmUIV ‘Ü ò, VmaU R>odUmam ñdV…bm VmaIoMm C„oI Z H$aVm JhmU n¡go ̂ aÊ`mgmR>r d¡̀ {º$H$arË`m
~m§Yrb Amho?
1) B§J«Or JhmU 2) geV© {dH«$sÛmao JhmU
3) gmYo JhmU 4) Cn^moJ VmaU

44) In which type of mortagage, the mortagagor binds himself personally to pay the mortgage money

without specifying date ?

1) English mortage 2) Mortgage by conditional sale

3) Simple mortage 4) Usufructuarymortage
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45) emgH$s¶ H$‘©Mmè¶mcm àmg§{JH$ qH$dm {deof H$m‘m~Ôc ̂ maVmÀ¶m EH${ÌV {ZYrVyZ [H§$dm amÁ¶mÀ¶m qH$dm g§KamÁ¶joÌmÀ¶m
EH${ÌV {ZYrVyZ ‘§Oya Ho$coco AmdVu qH$dm AZmdVu àXmZ åhUOo -
1) doVZ 2) ‘mZYZ 3) doVZdmT> 4) {deof doVZ

45) Recurring or non-recurring grant granted to a Government servant from the Consolidated Fund of

India or from the Consolidated Fund of a State or Union Territory for casual or special work;

1) Wages 2) Emoluments 3) Increment 4) Special Pay

46) Á¶m emgH$s¶ H$‘©Mmè¶mcm doVZ qH$dm aOm doVZ {‘iV Zmhr Ë¶mg {Xcr OmUmar ‘m{gH$ a¸$‘ åhUOo
1) {deof doVZ 2) {Zdm©h ^Îmm 3) ‘mZYZ 4) d¡¶{º$H$ doVZ

46) The monthly amount paid to a Government servant who does not receive pay or leave pay is

1) Special Pay 2) Subsistence Allowance

3) Honorarium 4) Personal Pay

47) JQ> "~' Mm emgH$s¶ H$‘©Mmar nwT>rcn¡H$s H$moUVr a¸$‘ XoUJr ñdénmV Ym[‘©H$ g‘ma§̂ mV ñdrH$mê$ eHo$c
1) 25,000/- 2) 15,000/- 3) 7,000/- 4) 1,000/-

47) Which of the following amounts can a government employee of Group B accept as a donation in

a religious ceremony?

1) 25,000/- 2) 15,000/- 3) 7,000/- 4) 1,000/-

48) ^maVmMm gmd©O{ZH$ IM© dmT>Ê¶mMr ¶mn¡H$s à‘wI H$maUo H$moUVr?
A) àemgH$s¶ ¶§ÌUoMm {dñVma ~) amï´>r¶ CËnÞmVrb dmT>
H$) bmoH$g§»¶m dmT> S>) qH$‘V nmVirVrb dmT>
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ H$ 3) H$ Am{U S> 4) darbn¡H$s gd©

48) Which of these are the main reasons for increasing public expenditure in India ?

a) Extension of administrative mechanism b) Increase in national income

c) Population growth d) Increase in price level.

Answer Options :

1) Only a 2) Only c 3) c and d 4) All of the above

49) AmYþ{ZH$ AW©VÁkm§À¶m ‘Vo ''gmd©O{ZH$ H$Om©Mm ^ma ...... da nS>Vmo.''
1) gÜ¶mMr {nT>r 2) n{hbr {nT>r 3) ^mdr {nT>r 4) ¶mn¡H$s Zmhr

49) According to modern economists “The burden of public debt lies on ......"

1) Present generation 2) Past generation

3) Future generation 4) None of these

50) ‘hmamï´> emgZ H$m¶©{Z¶‘mdcrVrc H$moUË¶m {Z¶‘mZwgma amÁ¶mÀ¶m AW©ì¶dñWoda n[aUm‘ hmoUmam àË¶oH$ AmXoe {dÎm
{d^mJmer nyd© {dMma {d{Z¶‘ H$éZ H$mT>Uo Amdí¶H$ Amho ?
1) {Z¶‘ 48 2) {Z¶‘ 49 3) {Z¶‘ 10 4) {Z¶‘ 12

50) According to which rule in the Maharashtra Government Rules of Procedure, every order affecting

the economy of the state must be cleared with the Finance Department prior consideration and

regulation?

1) Rule 48 2) Rule 49 3) Rule 10 4) Rule 12
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51) AZmdVu IMm©À¶m ~m~VrV ¶moOZm qH$dm àñVmdmcm (B‘maVr ~m§YH$m‘mMr àemgH$s¶ ‘mÝ¶Vm dJiyZ) àemgH$s¶
({dÎmr¶ ‘§Oyar YéZ) ‘mÝ¶Vm XoÊ¶mMr àemgH$s¶ {d^mJmcm {dÎmr¶ A{YH$mamMr ‘¶m©Xm {H$Vr Amho ?
1) én¶o 5.00 H$moQ>r n¶ªV 2) én¶o 15.00 H$moQ>r n¶ªV
3) én¶o 1.00 H$moQ>r n¶ªV 4) én¶o 10.00 H$moQ>r n¶ªV

51) In case of non-recurring expenditure, what is the limit of financial authority of the administrative

department to give administrative (subject to financial sanction) approval of the plan or proposal

(excluding administrative approval of building construction)?

1) Upto Rs.5.00 Crores 2) Upto Rs.15.00 Crores

3) Upto Rs.1.00 Crore 4) Upto Rs.10.00 Crore

52) Imcrcn¡H$s H$moUVo {dYmZ ^maVmÀ¶m cmoH$coIm g{‘VrÀ¶m ~m~V MwH$sMo Amho ?
1) cmoH$coIm g{‘VrÀ¶m gXñ¶m§Mm H$m¶©H$mc nmM dfmªMm Amho.
2) cmoH$coIm g{‘VrÀ¶m AÜ¶jm§Mr {Z¶wº$s cmoH$g^oMo AÜ¶j H$aVmV.
3) cmoH$coIm g{‘VrV cmoH$g^oVyZ n§Yam gXñ¶ {ZdS>co OmVmV.
4) cmoH$coIm g{‘VrV amÁ¶g^oMo gmV gXñ¶ AgVmV.

52) Which of the following statements is incorrect about Public Accounts Committee of India?

1) The term of office of the members of the Public Accounts Committee is five years.

2) The Chairman of the Public Accounts Committee is appointed by the Speaker of the Lok

Sabha.

3) Fifteen members are elected from the Lok Sabha in the Public Accounts Committee.

4) The Public Accounts Committee consists of seven members of the Rajya Sabha.

53) {dYmZ‘§S>imÀ¶m cmoH$coIm g{‘Vr~m~V nwT>rcn¡H$s ¶mo½¶ {dYmZo AmoiIm.
A) cmoH$coIm g{‘Vr‘Ü¶o OmñVrV OmñV n§Yam gXñ¶m§Mm g‘mdoe AgVmo.
~) amÁ¶m§Mo {d{Z¶moOZ coIo d {Z¶§ÌH$ d Ë¶mdarc ‘hmcoImnarjH$ ¶m§À¶m AhdmcmMo gXa g{‘Vr n[a{ZarjU H$aVo.
H$) amÁ¶ emgZmÀ¶m {dÎmr¶ co»¶m§Mo d Ë¶mdarc coImnarjm Ahdmcm§Mo {ZarjU H$aVo.
S>) amÁ¶mÀ¶m ‘hm‘§S>imMr coIm{ddaUo d Ë¶mdarc {Z¶§ÌH$ d ‘hmcoImnarjH$ ¶m§Mm Ahdmc VnmgVo.
n¶m©¶r CÎmao :
1) ’$º$ A, ~ d H$ 2) ’$º$ ~ d H$
3) ’$º$ ~, H$ d S> 4) gd© {dYmZo ¶mo½¶ AmhoV

53) Identify the correct statement among the following regarding the Public Accounts Committee of

the Legislature.

A) The Public Accounts Committee consists of a maximum of fifteen members.

B) The said committee inspects the Appropriation Accounts of the States and the reports of the

Comptroller and Auditor General thereon.

C) Monitors the financial accounts of the State Government and the audit reports thereon.

D) Examines the accounts of the State Corporation and the reports of the Comptroller and Auditor

General thereon.

Answer options :

1) A, B and C only 2) B and C only

3) B, C and D only 4) All the statements are correct
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54) ‘. Zm. go. (godoÀ¶m gd©gmYmaU eVu) {Z¶‘, 1981 Mo {Z¶‘ 9(37) Zwgma {Zd¥{ÎmdoVZm‘Ü ò ...... Mm g‘mdoe hmoVmo.
1) aOm amoIrH$aU 2) é½UVm {Zd¥{ÎmdoVZ
3) Hw$Q>§§§w~ {Zd¥{ÎmdoVZ 4) CnXmZ

54) m. no Sec. As per rule 9(37) of the (General Conditions of Service) Rules, 1981, the pension

includes ...........

1) Encashment of Leave 2) Sickness Pension

3) Family Pension 4) Gratuity

55) emgH$s¶ H$‘©Mmè¶mg {deof {O{H$arMr H$V©ì¶o VgoM H$m‘m§‘Ü¶o {d{eï> dmT> Pmë¶mZo ‘§Oya H$aÊ¶mV Amcoë¶m doVZmcm
H$m¶ åhUVmV ?
1) {deof doVZ 2) g§̂ mì¶ doVZ 3) d¡¶{º$H$ doVZ 4) {dÎmcãYr

55) What is the salary sanctioned to a government employee on account of specific increase in duties

and special duties?

1) Special pay 2) Prospective pay 3) Personal pay 4) Financial benefits

56) ‘mJmgdJu¶ emgH$s¶ H$‘©Mmè¶mg Ë¶m§À¶m godog§~§Yr A{^doXZ H$amd¶mMo Pmë¶mg Ë¶mZo nwT>rcn¡H$s H$moUmH$S>o A{^doXZ
H$amdo OoUo H$éZ Ë¶mg amOH$s¶ X~md åhUVm ¶oUma Zmhr.
1) {d^mJmMo à‘wI 2) ‘m. amÁ¶nmc
3) gm‘m{OH$ Ý¶m¶ qH$dm Am{Xdmgr {dH$mg {d^mJmMo à^mar ‘§Ìr/amÁ¶‘§Ìr 4) ‘m. ‘w»¶‘§Ìr

56) If a backward class government employee wants to report regarding his service, he should report

to one of the following so that it cannot be called political pressure.

1) Head of Department

2) Hon. Governor

3) Minister/Minister of State in-charge of Social Justice or Tribal Development Department

4) Hon. Chief Minister

57) ‘. Zm. go (godoÀ¶m gd©gmYmaU eVu) {Z¶‘, 1981 À¶m {Z¶‘ 9(36) ‘Ü¶o .......... Mr ì¶m»¶m XoÊ¶mV Amcr Amho.
1) {Zd¥{ÎmdoVZ 2) d¡¶{º$H$ doVZ 3) doVZ 4) aOm doVZ

57) m. no Rule 9(36) of Sec (General Conditions of Service) Rules, 1981 defines ..........

1) Pension 2) Personal pay 3) Salary 4) Leave pay

58) ‘hmamï´>-emgZ H$m¶©{Z¶‘mdcrMr n{hcr AZwgyMr Zwgma dm{UpÁ¶H$ A{YH$mè¶m§À¶m {Z¶w³Ë¶m, aOm BË¶mXr {df¶
H$moUË¶m {d^mJmcm Zo‘yZ XoÊ¶mV Amcm Amho ?
1) {dÎm {d^mJ 2) {Z¶moOZ {d^mJ
3) gm‘mÝ¶ àemgZ {d^mJ 4) ¶mn¡H$s H$moUVmhr Zmhr

58) As per First Schedule of Maharashtra-Government Rules of Procedure, which department has

been assigned the matter of appointment, leave etc. of commercial officers?

1) Finance Department 2) Planning Department

3) General Administration Department 4) None of these



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : Mmcy KS>m‘moS>r  / 67

For Private Circulation Only

59) Imcrcn¡H$s H$moUVo {dYmZ ~amo~a Amho ?
A) emgH$s¶ H$‘©Mmar hþ§S>m KoUma Zmhr VgoM XoUma Zmhr.
~) emgH$s¶ H$‘©Mmar KaJwVr H$m‘mgmR>r 18 dfm©Imcrc ‘wcm§Zm ZmoH$arg R>odUma Zmhr.
H$) emgH$s¶ H$‘©Mmar Ë¶mÀ¶m H$m¶m©c¶rZ H$m‘H$mOmda n[aUm‘ hmoD$ Z XoÊ¶mÀ¶m eVuÀ¶m AYrZ gm‘m{OH$ qH$dm

Ym{‘©H$ ñdê$nmMo ‘mZgodr H$m‘ H$arc.
n¶m©¶r CÎmao :
1) ’$º$ "A' 2) ’$º$ "~' 3) "A' d 'H$' 4) "A',"~' d "H$'

59) Which of the following statements is correct?

A) Government employees will neither take dowry nor pay.

B) A Government employee shall not employ children below 18 years of age for domestic work.

C) A Government servant shall perform voluntary work of a social or religious nature subject to

the condition that it does not affect his official duties.

Answer options :

1) Only A 2) Only B 3) A and C 4) A, B and C

60) nwT>rcn¡H$s H$moUVo {dYmZ MwH$sMo Amho ?
1) emgH$s¶ H$‘©Mmar H$moUË¶mhr eoAa‘Ü¶o n¡go Jw§V{dUma Zmhr
2) emgH$s¶ H$‘©Mmar H$moUË¶mhr ì¶º$scm ì¶mOmZo n¡go CgZo XoUma Zmhr
3) emgH$s¶ H$‘©Mmar ~±Ho$Mm EO§Q> åhUyZ H$m‘ H$aUma Zmhr.
4) emgH$s¶ H$‘©Mmè¶mg ñdV:À¶m ImOJr ZmoH$amcm A{J«‘ doVZ XoVm ¶oUma Zmhr

60) Which of the following statements is incorrect?

1) Government servant shall not invest money in any share

2) Government servant shall not lend money to any person on interest

3) Government servant shall not act as an agent of the bank.

4) A Government servant cannot advance salary to his private servant

61) 2023-24 À¶m AW©g§H$ënmZwgma, gaH$maH$Sy>Z IMm©Mr H$‘mb Q> o̧$dmar ...... ¶m Jmoï>tgmR>r Agob.
1) g§ajU ~iH$Q> H$aUo 2) H|$Ð nwañH¥$V ¶6moOZm
3) ì¶mOmMm ^aUm 4) AZwXmZ

61) According to the budget 2023-24, the maximum percentage of expenditure to be made by the

government will be for :

1) defence strengthening 2) centrally sponsored schemes

3) interest payment 4) subsidisation

62) H|$Ðr` AW©g§H$ën 2023 À`m g§X^m©V; Imbrb Jmoï>r Owidm.
            àmYmÝ`                      Cnm`
a) gd©g‘mdoeH$ {dH$mg I) XwîH$mir ^mJmgmR>r nmUr
b) eodQ>À`m ‘¡bmn ª̀V nmohmoMUo II) H¥$frgmR>r {S>{OQ>b gmd©O{ZH$ nm`m ŷV gw{dYm
c) {hadr dmT> III) pñH$b B§{S>`m {S>{OQ>b ßb°Q>’$m°‘©
d) ẁdm eº$s IV) nrE‘-àUm‘
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n`m©¶r CÎmao :
(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (i) (ii) (iii) (iv)

3) (iv) (iii) (ii) (i)

4) (iii) (ii) (i) (iv)

62) In reference to Union Budget 2023 ; Match the followings.

            Priority                   Measures

a) Inclusive development I) Water for drought prone area

b) Reaching the last mile II) Digital Public Infrastructure for Agriculture

c) Green growth III) Skill India digital platform

d) Youth power IV) PM-PRANAM

Answer options :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (i) (ii) (iii) (iv)

3) (iv) (iii) (ii) (i)

4) (iii) (ii) (i) (iv)

63) EopÀN>H$ CËnÞ KmofUm ¶moOZm (VDIS) ...... ‘Ü¶o Omhra H$aÊ¶mV Ambr.
1) 1993-94 2) 1995-96 3) 1997-98 4) 1999-2000

63) The Voluntary Disclosure of Income Scheme (VDIS) was announced in

1) 1993-94 2) 1995-96 3) 1997-98 4) 1999-2000

64) {dÎmr¶ O~m~Xmar Am{U A§XmOnÌH$ ì¶dñWmnZ H$m¶Xm, 2003 (E’$ Ama ~r E‘ H$m¶Xm, 2003) Ago Z‘yX H$aVmo
H$s H|$Ð gaH$maZo ................ n¶ªV ‘hgwcr VyQ> Xÿa H$aÊ¶mgmR>r ¶mo½¶ Cnm¶¶moOZm H$aUo Amdí¶H$ Amho.
1) 2004-05 2) 2008-09 3) 2010-11 4) 2015-16

64) The Fiscal Responsibility and Budget Management Act, 2003 (FRBM Act, 2003) stipulates that

the Central Government must take appropriate measures to eliminate the revenue deficit by

1) 2004-05 2) 2008 —09 3) 2010-11 4) 2015-16

65) E‘AmaQ>rnr H$m¶Xm, 1969 aÔ H$ê$Z ñnYm© H$m¶Xm, 2002 Zo ~Xbbm d Vmo ...... nmgyZ bmJy H$aÊ¶mV Ambm.
1) 1 gßQ>|~a 2002 2) 1 gßQ>|~a 2005 3) 1 gßQ>|~a 2007 4) 1 gßQ>|~a 2009

65) MRTP Act, 1969 was repealed and replaced by the Competition Act, 2002 which is implemented

with effect from

1) September 1, 2002 2) September 1, 2005

3) September 1, 2007 4) September 1, 2009

66) 12 ì¶m {dÎm Am¶moJmZo amï´>r¶ AmnÎmr {ZdmaU {ZYrMr ¶moOZm H|$Ð Am{U amÁ¶m§À¶m ¶moJXmZmgh .......... À¶m à‘mUmV
Mmby R>odÊ¶mMr {e’$mag Ho$br.
1) 25:75 2) 50:50 3) 75:25 4) 90:10

66) The 12th Finance Commission recommended the continuance of the scheme of National Calamity

Relief Fund with contributions from the Centre and the States on the ration of .......

1) 25 : 75 2) 50 : 50 3) 75 : 25 4) 90 : 10
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67) ...... {dÎm Am¶moJmZo Aer {e’$mag Ho$bobr hmoVr H$s 2011 À¶m OZJUZoÀ¶m bmoH$g§»¶oZwgma amÁ¶m§Zm AZwXmZ Úmdo.
1) n§Yamì¶m 2) Mm¡Xmì¶m 3) gmoimì¶m 4) Voamì¶m

67) Finance Commission recommended that grants should be distributed to states as per population

of 2011 census.

1) Fifteenth 2) Fourteenth 3) Sixteenth 4) Thirteenth

68) Am°JñQ> 1991 ‘Ü¶o ̂ maVmVrb H$a gwYmaUm {e’$magtgmR>r Imbrbn¡H$s H$moUVr g{‘Vr {Z¶wº$ H$aÊ¶mV Ambr hmoVr?
1) S>m°. amOm Oo. Mobæ¶m 2) E‘. Zaqgh‘
3) S>m°. gwI‘m°¶ MH«$dVu 4) S>m°. Am{~X hþgoZ

68) Which of the following committee was appointed to recommended tax reforms in India August

1991 ?

1) Dr. Raja J. Chelliah 2) M. Narashinhan

3) Dr. Sukhmoy Chakravarty 4) Dr. Abid Husen

69) ^maVmVrb {dÎm Am¶moJ d AÜ¶j ¶m§À¶m ¶mo½¶ OmoS>çm bmdm.
       {dÎm Am¶moJ         AÜ¶j
A) n{hbm {dÎm Am¶moJ i) Ho$. g§VZm‘
~) Xþgam {dÎm Am¶moJ ii) Ho$. gr. {Z¶moJr
H$) {Vgam {dÎm Am¶moJ iii) S>r. nr. ìhr. amO‘Þma
S>) Mm¡Wm {dÎm Am¶moJ iv) E. Ho$. M§Xm
n¶m©¶r CÎmao …

A ~ H$ S>
1) ii i iii iv

2) i ii iii iv

3) ii i iv iii

4) i iii ii iv

69) Match the Finance Commission of India and their Chairman.

       Finance Commission    Chairman

a) First Finance Commission i) K.Santham

b) Second Finance Commission ii) K.C. Niyogi

c) Third Finance Commission iii) D.P.V.Rajmannar

d) Fourth Finance Commission iv) A.K. Chanda

Answer options :

a b c d

1) ii i iii iv

2) i ii iii iv

3) ii i iv iii

4) i iii ii iv

70) 15 ì¶m {dÎm Am¶moJmÀ¶m {e’$maerZwgma nwT>rbn¡H$s H$moUË¶m amÁ¶mMm 2021-22 Vo 2025-26 ¶m H$mbmdYrV H|$Ðr¶
H$am§‘Ü¶o gdm©{YH$ dmQ>m Agob?
1) ‘hmamï´> 2) ‘Ü¶ àXoe 3) Am§Y« àXoe 4) CÎma àXoe
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70) As per the 15th Finance Commission recommendations which of the following State will have

highest share in Central Taxes during 2021-22 to 2025-26 ?

1) Maharashtra 2) Madhya Pradesh 3) Andhra Pradesh 4) Uttar Pradesh

71) 2019-20 Xaå¶mZ EHy$U H$a ‘hgwcmÀ`m g§X^m©V Imbrb {dYmZo {dMmamV ¿¶m …
A) CËnÞmdarb H$a ‘hm‘§S>i H$amnojm H$‘r hmoVm.
~) ‘hm‘§S>i H$amnojm dñVy Am{U godm H$a OmñV hmoVm.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
1) XmoÝhr A Am{U ~ ¶mo½¶ Amho 2) Ho$di ~ ¶mo½¶ Amho
3) Ho$di A ¶mo½¶ Amho 4) darbn¡H$s Zmhr

71) Consider the following statements in the context of Gross Tax Revenue during 2019-20:

a) Taxes on income were lower than corporation tax.

b) Goods and Service Tax was higher than corporation tax.

Which of the statement/s given above is/are correct ?

1) Both a and b are correct 2) Only b is correct

3) Only a is correct 4) None of the above

72) Imbrb {dYmZo {dMmamV ¿¶m …
A) AW©g§H$ën 2021-22 ‘Ü¶o 13 joÌm§gmR>r CËnmXZ gb¾ àmoËgmhZ ¶moOZm gwê$ Ho$br.
~) nrEbAm¶ ¶moOZm 2002-23 nmgyZ 5 dfmªÀ¶m H$mbmdYrgmR>r bmJy H$aÊ¶mV Ambr.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ AmhoV?
1) ’$º$ ~ ¶mo½¶ Amho 2) XmoÝhr A Am{U ~ ¶mo½¶ AmhoV
3) ’$º$ A ¶mo½¶ Amho 4) darbn¡H$s Zmhr

72) Consider the following statements :

a) Budget 2021-22 launched Production Linked Incentive Schemes for 13Sectors.

b) PLI Scheme is for a period of 5 years starting from 2022-23.

Which of the statement/s given above is/are correct ?

1) Only b is correct 2) Both a and b are correct

3) Only a is correct 4) None of the above

73) OrEgQ>rMo H$moUVo à{V‘mZ ^maVmV AmUÊ¶mV Ambo Amho?
1) amï´>r¶ ñVamdarb OrEgQ>r 2) amÁ¶ ñVamdarb OrEgQ>r
3) Xþhoar OrEgQ>r 4) EH$mpË‘H$ OrEgQ>r

73) Which model of GST has been introduced in India ?

1) National Level GST 2) State Level GST

3) Dual GST 4) Integrated GST

74) dñVy Am{U godm H$am§V H$moUVo H$a A§V ŷ©V Ho$bo AmhoV?
A) A~H$mar H$a ~) CËnÞ H$a 3) ‘yë¶d{Y©V H$a S>) godm H$a
n¶m©¶r CÎmao …
1) A ’$º$ 2) A, ~ Am{U H$ ’$º$ 3) A, H$ Am{U S> ’$º$ 4) ~ ’$º$
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74) Which taxes are subsumed under GST (Goods and Services Tax) ?

a) Excise duties. b) Income tax. c) Value added tax. d) Service tax.

Answer Options :

1) a only 2) a, b and c only 3) a, c and d only 4) b only

75) amOH$mofr¶ ZrVrMr gmYZo H$moUVr ?
A) gmd©O{ZH$ ì¶¶ Am{U gmd©O{ZH$ H$O© ~) bmoH$emhr Am{U g§KamÁ¶mË‘H$ aMZm
H$) H$amamonU Am{U A§XmOnÌH$ S>)g§gX Am{U àemgZ
n¶m©¶r CÎmao …
1) A ’$º$ 2) ~ Am{U H$ ’$º$ 3) S> ’$º$ 4) A Am{U H$ ’$º$

75) Which are the instruments of fiscal policy ?

a) Public spending and public debt b) Democracy and federal structure

c) Taxation and budget d) Parliament and administration

Answer Options :

1) a only 2) b and c only 3) d only 4) a and c only

76) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo A¶mo½¶ Amho/V?
A) ¶wQ>rOrEgQ>r, H|$Ð gaH$ma Am{U H|$Ðem{gV àXoe gaH$mam§Ûmao Jmoim Ho$bo OmVmV
~) Am¶OrEgQ>r, H|$Ð gaH$ma Am{U amÁ¶ gaH$mao Jmoim H$aVmV
n¶m©¶r CÎmao …
1) ’$º$ A A¶mo½¶ Amho 2) ’$º$ ~ A¶mo½¶ Amho.
3) XmoÝhr A Am{U ~ A¶mo½¶ AmhoV 4) darbn¡H$s Zmhr

76) Which of the following statement/s is/are incorrect ?

a) UTGST, is collected by Central Government and Union Territory Governments.

b) IGST, is collected by Central Government and State Governments.

Answer Options :

1) Only a is incorrect 2) Only b is incorrect

3) Both a and b are incorrect 4) None of the above

77) Imbrb {dYmZo {dMmamV ¿¶m …
A) E’$Ama~rE‘ H$m¶Xm 5 Owb¡, 2004 nmgyZ bmJy Pmbm.
~) E’$Ama~rE‘ H$m¶Xm H|$Ð gaH$ma Am{U amÁ¶ gaH$mam§Zm ~§YZH$maH$ Amho.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/V?
n¶m©¶r CÎmao …
1) Ho$di A ~amo~a Amho 2) XmoÝhr A Am{U ~ ~amo~a AmhoV
3) Ho$di ~ ~amo~a Amho 4) darbn¡H$s Zmhr

77) Consider the following statements :

a) The FRBM Act became effective from July 5, 2004.

b) The FRBM Act is mandatory for the Central Government and State Governments.

Which of the statement/s given above is /are correct ?

Answer Options :

1) Only a is correct 2) Both a and b are correct

3) Only b is correct 4) None of the above
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78) ^maVmÀ¶m AW©g§H$ën, 2023-24 Zwgma Imbrbn¡H$s H$moUVo ^maVmgmR>r Am{W©H$ àmárÀ¶m Mma à‘wI òmoVm§n¡H$s
Zmhr?
1) H$O© Am{U BVa Xm{¶Ëdo 2) dñVy Am{U godm H$a
3) H$m°nm}aoeZ Q>°Šg 4) gr‘mewëH$

78) Which of the following is NOT amongst the top four sources of monetary receipts for India

according to the budget of India, 2023-24?

1) Borrowings and other Liabilities 2) Goods and Services Tax

3) Corporation Tax 4) Customs

79) 2023-24 À¶m AW©g§H$ënmV Imbrbn¡H$s H$moUVo àmYmÝ¶H«$‘ AmhoV?
A) gd©g‘mdoeH$ {dH$mg ~) h[aV dmT> H$) ¶wdm eº$s S>) Am{W©H$ joÌ
n¶m©¶r CÎmao …
1) A Am{U S> 2) ~ Am{U H$ 3) A Am{U ~ 4) A, ~, H$ Am{U S

79) Which of the following are priorities of budget 20023-24 ?

a) Inclusive development b) Green growth

c) Youth power d) Financial sector

Answer Options :

1) a amd d 2) b and c 3) a and b 4) a, b, c amd d

80) ‘hmamï´> ZmJar godm (godoÀ¶m gd©gmYmaU eVu) {Z¶‘, 1981 ‘Yrb VaVwXrZwgma ...... åhUOo
a) {deof {O{H$arÀ`m ñdê$nmMr H$V©ì¶o,
b) H$m‘m‘Ü¶o qH$dm O~m~Xmar‘Ü¶o {d{eï> dmT>, ¶m ~m~tMm {dMma H$ê$Z EImÚm nXmÀ¶m AWdm emgH$s¶ H$‘©Mmè¶mÀ¶m

{dÎmbãYt‘Ü¶o doVZmÀ¶m ñdê$nmV {Xbobr dmT>.
n¶m©¶r CÎmao …
1) g§̂ mì¶ doVZ 2) H$m¶‘ nX doVZ 3) {deof doVZ 4) ¶mn¡H$s Zmhr

80) As per the provision in the Maharashtra Civil Services (General Conditions of Service) Rules,

1981 ... viz.

a) duties in the nature of special claims,

b) an increase in the emoluments of a post or a Government servant in the form of pay, having

regard to specific increase in work or responsibility.

Answers options :

1) Prospective Pay 2) Permanent Post Pay 3) Special Pay 4) None of these

81) Imcrcn¡H$s H$moUVm EH$ CËnÞmMm òmoV ZJanm{cH|$Mm Zmhr ?
A) dñVy d godm H$a ~) ghmæ¶H$ AZwXmZ H$) H$aoVa ‘hgyc S>) ñWm{ZH$ H$a
n¶m©¶r CÎmao :
1) ’$º$ A 2) ’$º$ ~ 3) ’$º$ S> 4) ’$º$ H$

81) Which one of the following is not the source of income of the Municipal Council?

a) Goods and Services Tax b) Grants in Aid

c) Non-tax Revenue d) Local Taxes

Answer Options :

1) Only a 2) Only b 3) Only d 4) Only c
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82) ^maVmMm gmd©O{ZH$ IM© dmT>Ê¶mMr ¶mn¡H$s à‘wI H$maUo H$moUVr?
A) àemgH$s¶ ¶§ÌUoMm {dñVma ~) amï´>r¶ CËnÞmVrb dmT>
H$) bmoH$g§»¶m dmT> S>) qH$‘V nmVirVrb dmT>
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ H$ 3) H$ Am{U S> 4) darbn¡H$s gd©

82) Which of these are the main reasons for increasing public expenditure in India ?

a) Extension of administrative mechanism b) Increase in national income

c) Population growth d) Increase in price level.

Answer Options :

1) Only a 2) Only c 3) c and d 4) All of the above

83) AmYþ{ZH$ AW©VÁkm§À¶m ‘Vo ''gmd©O{ZH$ H$Om©Mm ^ma ...... da nS>Vmo.''
1) gÜ¶mMr {nT>r 2) n{hbr {nT>r 3) ^mdr {nT>r 4) ¶mn¡H$s Zmhr

83) According to modern economists “The burden of public debt lies on ......"

1) Present generation 2) Past generation

3) Future generation 4) None of these

84) Imcrcn¡H$s H$moUVo {dYmZ ^maVmÀ¶m cmoH$coIm g{‘VrÀ¶m ~m~V MwH$sMo Amho ?
1) cmoH$coIm g{‘VrÀ¶m gXñ¶m§Mm H$m¶©H$mc nmM dfmªMm Amho.
2) cmoH$coIm g{‘VrÀ¶m AÜ¶jm§Mr {Z¶wº$s cmoH$g^oMo AÜ¶j H$aVmV.
3) cmoH$coIm g{‘VrV cmoH$g^oVyZ n§Yam gXñ¶ {ZdS>co OmVmV.
4) cmoH$coIm g{‘VrV amÁ¶g^oMo gmV gXñ¶ AgVmV.

84) Which of the following statements is incorrect about Public Accounts Committee of India?

1) The term of office of the members of the Public Accounts Committee is five years.

2) The Chairman of the Public Accounts Committee is appointed by the Speaker of the Lok Sabha.

3) Fifteen members are elected from the Lok Sabha in the Public Accounts Committee.

4) The Public Accounts Committee consists of seven members of the Rajya Sabha.

85) {dYmZ‘§S>imÀ¶m cmoH$coIm g{‘Vr~m~V nwT>rcn¡H$s ¶mo½¶ {dYmZo AmoiIm.
A) cmoH$coIm g{‘Vr‘Ü¶o OmñVrV OmñV n§Yam gXñ¶m§Mm g‘mdoe AgVmo.
~) amÁ¶m§Mo {d{Z¶moOZ coIo d {Z¶§ÌH$ d Ë¶mdarc ‘hmcoImnarjH$ ¶m§À¶m AhdmcmMo gXa g{‘Vr n[a{ZarjU H$aVo.
H$) amÁ¶ emgZmÀ¶m {dÎmr¶ co»¶m§Mo d Ë¶mdarc coImnarjm Ahdmcm§Mo {ZarjU H$aVo.
S>) amÁ¶mÀ¶m ‘hm‘§S>imMr coIm{ddaUo d Ë¶mdarc {Z¶§ÌH$ d ‘hmcoImnarjH$ ¶m§Mm Ahdmc VnmgVo.
n¶m©¶r CÎmao :
1) ’$º$ A, ~ d H$ 2) ’$º$ ~ d H$ 3) ’$º$ ~, H$ d S> 4) gd© {dYmZo ¶mo½¶ AmhoV

85) Identify the correct statement among the following regarding the Public Accounts Committee of

the Legislature.

A) The Public Accounts Committee consists of a maximum of fifteen members.

B) The said committee inspects the Appropriation Accounts of the States and the reports of the

Comptroller and Auditor General thereon.

C) Monitors the financial accounts of the State Government and the audit reports thereon.

D) Examines the accounts of the State Corporation and the reports of the Comptroller and Auditor

General thereon.

Answer options :

1) A, B and C only 2) B and C only

3) B, C and D only 4) All the statements are correct
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86) ‘. Zm. go. (godoÀ¶m gd©gmYmaU eVu) {Z¶‘, 1981 Mo {Z¶‘ 9(37) Zwgma {Zd¥{ÎmdoVZm‘Ü ò ...... Mm g‘mdoe hmoVmo.
1) aOm amoIrH$aU 2) é½UVm {Zd¥{ÎmdoVZ
3) Hw$Q>§§§w~ {Zd¥{ÎmdoVZ 4) CnXmZ

86) m. no Sec. As per rule 9(37) of the (General Conditions of Service) Rules, 1981, the pension

includes ...........

1) Encashment of Leave 2) Sickness Pension

3) Family Pension 4) Gratuity

87) OrEgQ>rMo H$moUVo à{V‘mZ ^maVmV AmUÊ¶mV Ambo Amho?
1) amï´>r¶ ñVamdarb OrEgQ>r 2) amÁ¶ ñVamdarb OrEgQ>r
3) Xþhoar OrEgQ>r 4) EH$mpË‘H$ OrEgQ>r

87) Which model of GST has been introduced in India ?

1) National Level GST 2) State Level GST

3) Dual GST 4) Integrated GST

88) dñVy Am{U godm H$am§V H$moUVo H$a A§V ŷ©V Ho$bo AmhoV?
A) A~H$mar H$a ~) CËnÞ H$a 3) ‘yë¶d{Y©V H$a S>) godm H$a
n¶m©¶r CÎmao …
1) A ’$º$ 2) A, ~ Am{U H$ ’$º$ 3) A, H$ Am{U S> ’$º$ 4) ~ ’$º$

88) Which taxes are subsumed under GST (Goods and Services Tax) ?

a) Excise duties. b) Income tax. c) Value added tax. d) Service tax.

Answer Options :

1) a only 2) a, b and c only 3) a, c and d only 4) b only

89) amOH$mofr¶ ZrVrMr gmYZo H$moUVr ?
A) gmd©O{ZH$ ì¶¶ Am{U gmd©O{ZH$ H$O© ~) bmoH$emhr Am{U g§KamÁ¶mË‘H$ aMZm
H$) H$amamonU Am{U A§XmOnÌH$ S>) g§gX Am{U àemgZ
n¶m©¶r CÎmao …
1) A ’$º$ 2) ~ Am{U H$ ’$º$ 3) S> ’$º$ 4) A Am{U H$ ’$º$

89) Which are the instruments of fiscal policy ?

a) Public spending and public debt b) Democracy and federal structure

c) Taxation and budget d) Parliament and administration

Answer Options :

1) a only 2) b and c only 3) d only 4) a and c only

90) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo A¶mo½¶ Amho/V?
A) ¶wQ>rOrEgQ>r, H|$Ð gaH$ma Am{U H|$Ðem{gV àXoe gaH$mam§Ûmao Jmoim Ho$bo OmVmV
~) Am¶OrEgQ>r, H|$Ð gaH$ma Am{U amÁ¶ gaH$mao Jmoim H$aVmV
n¶m©¶r CÎmao …
1) ’$º$ A A¶mo½¶ Amho 2) ’$º$ ~ A¶mo½¶ Amho.
3) XmoÝhr A Am{U ~ A¶mo½¶ AmhoV 4) darbn¡H$s Zmhr
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90) Which of the following statement/s is/are incorrect ?

a) UTGST, is collected by Central Government and Union Territory Governments.

b) IGST, is collected by Central Government and State Governments.

Answer Options :

1) Only a is incorrect 2) Only b is incorrect

3) Both a and b are incorrect 4) None of the above

91) ‘hmamï´> ZmJar godm (godoÀ¶m gd©gmYmaU eVu) {Z¶‘, 1981 ‘Yrb VaVwXrZwgma ...... åhUOo
a) {deof {O{H$arÀ`m ñdê$nmMr H$V©ì¶o,
b) H$m‘m‘Ü¶o qH$dm O~m~Xmar‘Ü¶o {d{eï> dmT>, ¶m ~m~tMm {dMma H$ê$Z EImÚm nXmÀ¶m AWdm emgH$s¶ H$‘©Mmè¶mÀ¶m

{dÎmbãYt‘Ü¶o doVZmÀ¶m ñdê$nmV {Xbobr dmT>.
n¶m©¶r CÎmao …
1) g§̂ mì¶ doVZ 2) H$m¶‘ nX doVZ 3) {deof doVZ 4) ¶mn¡H$s Zmhr

91) As per the provision in the Maharashtra Civil Services (General Conditions of Service) Rules,

1981 ... viz.

a) duties in the nature of special claims,

b) an increase in the emoluments of a post or a Government servant in the form of pay, having

regard to specific increase in work or responsibility.

Answers options :

1) Prospective Pay 2) Permanent Post Pay 3) Special Pay 4) None of these

92) Am°JñQ> 1991 ‘Ü¶o ̂ maVmVrb H$a gwYmaUm {e’$magtgmR>r Imbrbn¡H$s H$moUVr g{‘Vr {Z¶wº$ H$aÊ¶mV Ambr hmoVr?
1) S>m°. amOm Oo. Mobæ¶m 2) E‘. Zaqgh‘ 3) S>m°. gwI‘m°¶ MH«$dVu 4) S>m°. Am{~X hþgoZ

92) Which of the following committee was appointed to recommended tax reforms in India August

1991 ?

1) Dr. Raja J. Chelliah 2) M. Narashinhan

3) Dr. Sukhmoy Chakravarty 4) Dr. Abid Husen

93) 15 ì¶m {dÎm Am¶moJmÀ¶m {e’$maerZwgma nwT>rbn¡H$s H$moUË¶m amÁ¶mMm 2021-22 Vo 2025-26 ¶m H$mbmdYrV H|$Ðr¶
H$am§‘Ü¶o gdm©{YH$ dmQ>m Agob?
1) ‘hmamï´> 2) ‘Ü¶ àXoe 3) Am§Y« àXoe 4) CÎma àXoe

93) As per the 15th Finance Commission recommendations which of the following State will have

highest share in Central Taxes during 2021-22 to 2025-26 ?

1) Maharashtra 2) Madhya Pradesh 3) Andhra Pradesh 4) Uttar Pradesh

94) 2019-20 Xaå¶mZ EHy$U H$a ‘hgwcmÀ`m g§X^m©V Imbrb {dYmZo {dMmamV ¿¶m …
A) CËnÞmdarb H$a ‘hm‘§S>i H$amnojm H$‘r hmoVm.
~) ‘hm‘§S>i H$amnojm dñVy Am{U godm H$a OmñV hmoVm.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
n¶m©¶r CÎmao …
1) XmoÝhr A Am{U ~ ¶mo½¶ Amho 2) Ho$di ~ ¶mo½¶ Amho
3) Ho$di A ¶mo½¶ Amho 4) darbn¡H$s Zmhr
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94) Consider the following statements in the context of Gross Tax Revenue during 2019-20:

a) Taxes on income were lower than corporation tax.

b) Goods and Service Tax was higher than corporation tax.

Which of the statement/s given above is/are correct ?

Answer Options :

1) Both a and b are correct 2) Only b is correct

3) Only a is correct 4) None of the above

95) Imbrb {dYmZo {dMmamV ¿¶m …
A) AW©g§H$ën 2021-22 ‘Ü¶o 13 joÌm§gmR>r CËnmXZ gb¾ àmoËgmhZ ¶moOZm gwê$ Ho$br.
~) nrEbAm¶ ¶moOZm 2002-23 nmgyZ 5 dfmªÀ¶m H$mbmdYrgmR>r bmJy H$aÊ¶mV Ambr.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ AmhoV?
n¶m©¶r CÎmao …
1) ’$º$ ~ ¶mo½¶ Amho 2) XmoÝhr A Am{U ~ ¶mo½¶ AmhoV
3) ’$º$ A ¶mo½¶ Amho 4) darbn¡H$s Zmhr

95) Consider the following statements :

a) Budget 2021-22 launched Production Linked Incentive Schemes for 13Sectors.

b) PLI Scheme is for a period of 5 years starting from 2022-23.

Which of the statement/s given above is/are correct ?

Answer Options :

1) Only b is correct 2) Both a and b are correct

3) Only a is correct 4) None of the above

96) eyÝ`mYm[aV AW©g§H$ënmMm dmna ‘hmamï´>mV ...... ‘Ü¶o H$aÊ¶mV Ambm.
1) 1980 2) 1982 3) 1984 4) 1986

96) Zero based budget was used in Maharashtra in

1) 1980 2) 1982 3) 1984 4) 1986

97) EopÀN>H$ CËnÞ KmofUm ¶moOZm (VDIS) ...... ‘Ü¶o Omhra H$aÊ¶mV Ambr.
1) 1993-94 2) 1995-96 3) 1997-98 4) 1999-2000

97) The Voluntary Disclosure of Income Scheme (VDIS) was announced in

1) 1993-94 2) 1995-96 3) 1997-98 4) 1999-2000

98) {dÎmr¶ O~m~Xmar Am{U A§XmOnÌH$ ì¶dñWmnZ H$m¶Xm, 2003 (E’$ Ama ~r E‘ H$m¶Xm, 2003) Ago Z‘yX H$aVmo
H$s H|$Ð gaH$maZo ................ n¶ªV ‘hgwcr VyQ> Xÿa H$aÊ¶mgmR>r ¶mo½¶ Cnm¶¶moOZm H$aUo Amdí¶H$ Amho.
1) 2004-05 2) 2008-09 3) 2010-11 4) 2015-16

98) The Fiscal Responsibility and Budget Management Act, 2003 (FRBM Act, 2003) stipulates that

the Central Government must take appropriate measures to eliminate the revenue deficit by

1) 2004-05 2) 2008 —09 3) 2010-11 4) 2015-16

99) E‘AmaQ>rnr H$m¶Xm, 1969 aÔ H$ê$Z ñnYm© H$m¶Xm, 2002 Zo ~Xbbm d Vmo ...... nmgyZ bmJy H$aÊ¶mV Ambm.
1) 1 gßQ>|~a 2002 2) 1 gßQ>|~a 2005 3) 1 gßQ>|~a 2007 4) 1 gßQ>|~a 2009
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99) MRTP Act, 1969 was repealed and replaced by the Competition Act, 2002 which is implemented

with effect from

1) September 1, 2002 2) September 1, 2005

3) September 1, 2007 4) September 1, 2009

100) 12 ì¶m {dÎm Am¶moJmZo amï´>r¶ AmnÎmr {ZdmaU {ZYrMr ¶moOZm H|$Ð Am{U amÁ¶m§À¶m ¶moJXmZmgh .......... À¶m à‘mUmV
Mmby R>odÊ¶mMr {e’$mag Ho$br.
1) 25:75 2) 50:50 3) 75:25 4) 90:10

100) The 12th Finance Commission recommended the continuance of the scheme of National Calamity

Relief Fund with contributions from the Centre and the States on the ration of .......

1) 25 : 75 2) 50 : 50 3) 75 : 25 4) 90 : 10

101) ...... {dÎm Am¶moJmZo Aer {e’$mag Ho$bobr hmoVr H$s 2011 À¶m OZJUZoÀ¶m bmoH$g§»¶oZwgma amÁ¶m§Zm AZwXmZ Úmdo.
1) n§Yamì¶m 2) Mm¡Xmì¶m 3) gmoimì¶m 4) Voamì¶m

101) Finance Commission recommended that grants should be distributed to states as per population

of 2011 census.

1) Fifteenth 2) Fourteenth 3) Sixteenth 4) Thirteenth

102) ‘hmamï´> emgZ H$m¶©{Z¶‘mdcrVrc H$moUË¶m {Z¶‘mZwgma amÁ¶mÀ¶m AW©ì¶dñWoda n[aUm‘ hmoUmam àË¶oH$ AmXoe {dÎm
{d^mJmer nyd© {dMma {d{Z¶‘ H$éZ H$mT>Uo Amdí¶H$ Amho ?
1) {Z¶‘ 48 2) {Z¶‘ 49 3) {Z¶‘ 10 4) {Z¶‘ 12

102) According to which rule in the Maharashtra Government Rules of Procedure, every order affecting

the economy of the state must be cleared with the Finance Department prior consideration and

regulation?

1) Rule 48 2) Rule 49 3) Rule 10 4) Rule 12

103) AZmdVu IMm©À¶m ~m~VrV ¶moOZm qH$dm àñVmdmcm (B‘maVr ~m§YH$m‘mMr àemgH$s¶ ‘mÝ¶Vm dJiyZ) àemgH$s¶
({dÎmr¶ ‘§Oyar YéZ) ‘mÝ¶Vm XoÊ¶mMr àemgH$s¶ {d^mJmcm {dÎmr¶ A{YH$mamMr ‘¶m©Xm {H$Vr Amho ?
1) én¶o 5.00 H$moQ>r n¶ªV 2) én¶o 15.00 H$moQ>r n¶ªV
3) én¶o 1.00 H$moQ>r n¶ªV 4) én¶o 10.00 H$moQ>r n¶ªV

103) In case of non-recurring expenditure, what is the limit of financial authority of the administrative

department to give administrative (subject to financial sanction) approval of the plan or proposal

(excluding administrative approval of building construction)?

1) Upto Rs.5.00 Crores 2) Upto Rs.15.00 Crores

3) Upto Rs.1.00 Crore 4) Upto Rs.10.00 Crore

104) Imbrb {dYmZo {dMmamV ¿¶m …
A) E’$Ama~rE‘ H$m¶Xm 5 Owb¡, 2004 nmgyZ bmJy Pmbm.
~) E’$Ama~rE‘ H$m¶Xm H|$Ð gaH$ma Am{U amÁ¶ gaH$mam§Zm ~§YZH$maH$ Amho.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/V?
n¶m©¶r CÎmao …
1) Ho$di A ~amo~a Amho 2) XmoÝhr A Am{U ~ ~amo~a AmhoV
3) Ho$di ~ ~amo~a Amho 4) darbn¡H$s Zmhr
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104) Consider the following statements :

a) The FRBM Act became effective from July 5, 2004.

b) The FRBM Act is mandatory for the Central Government and State Governments.

Which of the statement/s given above is /are correct ?

Answer Options :

1) Only a is correct 2) Both a and b are correct

3) Only b is correct 4) None of the above

105) ^maVmÀ¶m AW©g§H$ën, 2023-24 Zwgma Imbrbn¡H$s H$moUVo ^maVmgmR>r Am{W©H$ àmárÀ¶m Mma à‘wI òmoVm§n¡H$s Zmhr?
1) H$O© Am{U BVa Xm{¶Ëdo 2) dñVy Am{U godm H$a
3) H$m°nm}aoeZ Q>°Šg 4) gr‘mewëH$

105) Which of the following is NOT amongst the top four sources of monetary receipts for India

according to the budget of India, 2023-24?

1) Borrowings and other Liabilities 2) Goods and Services Tax

3) Corporation Tax 4) Customs

106) 2023-24 À¶m AW©g§H$ënmV Imbrbn¡H$s H$moUVo àmYmÝ¶H«$‘ AmhoV?
A) gd©g‘mdoeH$ {dH$mg ~) h[aV dmT> H$) ¶wdm eº$s S>) Am{W©H$ joÌ
n¶m©¶r CÎmao …
1) A Am{U S> 2) ~ Am{U H$ 3) A Am{U ~ 4) A, ~, H$ Am{U S

106) Which of the following are priorities of budget 20023-24 ?

a) Inclusive development b) Green growth

c) Youth power d) Financial sector

Answer Options :

1) a amd d 2) b and c 3) a and b 4) a, b, c amd d

107) ‘hmamï´> amÁ` AW©g§H$ën 2023 ‘Ü ò, ‘m. AW©‘§Í`m§Zr eoVH$ar H|${ÐV `moOZm Omhra Ho$ë`m. `m g§X^m©V Imbrbn¡H$s
H$moUVo ~amo~a/Zmhr?
a) ‘hmH¥$fr {dH$mg `moOZm
b) YmZ / Vm§Xÿi CËnmXH$ eoVH$è`m§Zm 15,000 é. à{V hoŠQ>a àmoËgmhZna a¸$‘ àXmZ H$aUo
c) ‘hmamï´> lrAÞ A{^`mZ
d) PMFBY ‘Ü ò eoVH$è`m§Mm {d‘m hám amÁ` gaH$ma ^aob
e) CËnÞ g‘W©Z é. H|$Ðr` PM-KISAN ̀ moOZ|VJ©V g‘m{dï>/bm^ Z {‘imboë`m eoVH$ar Hw$Qw>§~m§Zm à{Vdfu 6,000
n`m©¶r CÎmao :
1) ’$º$ a Am{U c 2) a Am{U d ’$º$ 3) a ’$º$ 4) e ’$º$

107) In Maharashtra State Budget 2023, Hon. Finance Minister announced Farmer Centric Schemes.

In this context which of the following is/are not correct ?

a) Mahakrishi Vikas Yojna

b) Provide an incentive amount of Rs. 15,000 per ha. to the paddy farmers

c) Maharashtra “Shree Anna” Abhiyan

d) In PMFBY insurance premium of farmer will be paid by the State Government

e) Income support of Rs. 6,000 per year to farmer families who are not covered/ benefited under

Central PM-KISAN Scheme

Answer options :

1) a and c only 2) a and d only 3) a only 4) e only
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108) 2023-24 À¶m AW©g§H$ënmZwgma, gaH$maH$Sy>Z IMm©Mr H$‘mb Q> o̧$dmar ...... ¶m Jmoï>tgmR>r Agob.
1) g§ajU ~iH$Q> H$aUo 2) H|$Ð nwañH¥$V ¶moOZm 3) ì¶mOmMm ^aUm 4) AZwXmZ

108) According to the budget 2023-24, the maximum percentage of expenditure to be made by the

government will be for :

1) defence strengthening 2) centrally sponsored schemes

3) interest payment 4) subsidisation

109) H|$Ðr` AW©g§H$ën 2023 À`m g§X^m©V; Imbrb Jmoï>r Owidm.
        àmYmÝ`          Cnm`
a) gd©g‘mdoeH$ {dH$mg I) XwîH$mir ^mJmgmR>r nmUr
b) eodQ>À`m ‘¡bmn ª̀V nmohmoMUo II) H¥$frgmR>r {S>{OQ>b gmd©O{ZH$ nm`m ŷV gw{dYm
c) {hadr dmT> III) pñH$b B§{S>`m {S>{OQ>b ßb°Q>’$m°‘©
d) ẁdm eº$s IV) nrE‘-àUm‘
n`m©¶r CÎmao :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (i) (ii) (iii) (iv)

3) (iv) (iii) (ii) (i)

4) (iii) (ii) (i) (iv)

109) In reference to Union Budget 2023 ; Match the followings.

      Priority         Measures

a) Inclusive development I) Water for drought prone area

b) Reaching the last mile II) Digital Public Infrastructure for Agriculture

c) Green growth III) Skill India digital platform

d) Youth power IV) PM-PRANAM

Answer options :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (i) (ii) (iii) (iv)

3) (iv) (iii) (ii) (i)

4) (iii) (ii) (i) (iv)

110) O|S>a ~OoQ> åhUOo H$m¶?
1) nwéfm§gmR>r doJim AW©g§H$ën
2) ‘{hbm§gmR>r doJim AW©g§H$ën
3) gm‘mÝ¶ AW©g§H$ënmV nwéfm§gmR>r ñdV§Ì VaVwXr
4) gm‘mÝ¶ AW©g§H$ënmV ‘{hbm§gmR>r ñdV§Ì VaVwXr

110) What is meant by Gender Budget ?

1) Separate budget for men

2) Separate budget for women

3) Independent provisions for men in the general budget

4) Independent provisions for women in the general budget
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111) emgH$s¶ H$‘©Mmè¶mg {deof {O{H$arMr H$V©ì¶o VgoM H$m‘m§‘Ü¶o {d{eï> dmT> Pmë¶mZo ‘§Oya H$aÊ¶mV Amcoë¶m doVZmcm
H$m¶ åhUVmV ?
1) {deof doVZ 2) g§̂ mì¶ doVZ 3) d¡¶{º$H$ doVZ 4) {dÎmcãYr

111) What is the salary sanctioned to a government employee on account of specific increase in duties

and special duties?

1) Special pay 2) Prospective pay 3) Personal pay 4) Financial benefits

112) ‘mJmgdJu¶ emgH$s¶ H$‘©Mmè¶mg Ë¶m§À¶m godog§~§Yr A{^doXZ H$amd¶mMo Pmë¶mg Ë¶mZo nwT>rcn¡H$s H$moUmH$S>o A{^doXZ
H$amdo OoUo H$éZ Ë¶mg amOH$s¶ X~md åhUVm ¶oUma Zmhr.
1) {d^mJmMo à‘wI 2) ‘m. amÁ¶nmc
3) gm‘m{OH$ Ý¶m¶ qH$dm Am{Xdmgr {dH$mg {d^mJmMo à^mar ‘§Ìr/amÁ¶‘§Ìr 4) ‘m. ‘w»¶‘§Ìr

112) If a backward class government employee wants to report regarding his service, he should report

to one of the following so that it cannot be called political pressure.

1) Head of Department

2) Hon. Governor

3) Minister/Minister of State in-charge of Social Justice or Tribal Development Department

4) Hon. Chief Minister

113) ‘. Zm. go (godoÀ¶m gd©gmYmaU eVu) {Z¶‘, 1981 À¶m {Z¶‘ 9(36) ‘Ü¶o .......... Mr ì¶m»¶m XoÊ¶mV Amcr Amho.
1) {Zd¥{ÎmdoVZ 2) d¡¶{º$H$ doVZ 3) doVZ 4) aOm doVZ

113) m. no Rule 9(36) of Sec (General Conditions of Service) Rules, 1981 defines ..........

1) Pension 2) Personal pay 3) Salary 4) Leave pay

114) ‘hmamï´>-emgZ H$m¶©{Z¶‘mdcrMr n{hcr AZwgyMr Zwgma dm{UpÁ¶H$ A{YH$mè¶m§À¶m {Z¶w³Ë¶m, aOm BË¶mXr {df¶
H$moUË¶m {d^mJmcm Zo‘yZ XoÊ¶mV Amcm Amho ?
1) {dÎm {d^mJ 2) {Z¶moOZ {d^mJ
3) gm‘mÝ¶ àemgZ {d^mJ 4) ¶mn¡H$s H$moUVmhr Zmhr

114) As per First Schedule of Maharashtra-Government Rules of Procedure, which department has

been assigned the matter of appointment, leave etc. of commercial officers?

1) Finance Department 2) Planning Department

3) General Administration Department 4) None of these

115) eyÝ¶mYm[aV AW©g§H$ënmg§X^m©V nwT>rb {dYmZmVyZ ¶mo½¶ {dYmZ AmoiIm …
a) 1980 ‘Ü¶o ¶y.Eg.À¶m H¥$fr {d^mJmZo àW‘ gmXa Ho$bm.
b) gmd©O{ZH$ IMm©da {Z¶§ÌU R>odÊ¶mgmR>rMo EH$ nmD$b åhUyZ gmVì¶m ¶moOZoV eyÝ¶mYm[aV AW©g§H$ënmMr {e’$mag

Ho$br Jobr.
c) 1998 ‘Ü¶o H|$ÐemgZmZo eyÝ¶mYm[aV AW©g§H$ënmMm Ñ{ï>H$moZ ñdrH$mabm.
n¶m©¶r CÎmao …
1) (a), (b) 2) ’$º$ (b) 3) ’$º$ (c) 4) (a), (c)
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115) Find the correct statement about zero budgeting :

a) First introduced in the U.S. department of agriculture in 1980.

b) Zero budgeting has been recommended by the seventh plan as one of the steps to control

public expenditure.

c) Central government adopted zero budgeting approach in 1998.

Answer options :

1) (a), (b) 2) Only (b) 3) Only (c) 4) (a), (©)

3) ~±qH$J

1) 2021-22 Xaå¶mZ E‘-3 (M
3
) ‘Ü¶o ................. g‘m{dï> AmhoV.

A. nmoñQ> Am°{’$g ~MV ~±H$ R>odr. ~. nmoñQ> Am°{’$gÀ¶m EHy$U R>odr
H$. ~±H$mH$S>rb ‘wXV R>odr S>. ~±H$m§H$S>rb ‘mJUr R>odr
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) H$ Am{U S> 3) A, ~ Am{U S> 4) darbn¡H$s gd©

1) During 2021-22, Mg included

a) Post Office Saving Bank Deposit b) Total Post Office Deposits

c) Time Deposits with Banks d) Demand Deposits with Banks

Answer Options :

1) a, b and c 2) c and d 3) a, b and d 4) all of the above

2) ^maVmVrb gwYmaUm YmoaUm‘wio ~±H$mVrb {dXoer Jw§VdUyH$ ...... Q> o̧$ n¶ªV dmT>{dÊ¶mV Abr.
1) 51 2) o64 3) 54 4) 74

2) The reform policies raised the foreign investment limit in banks upto ...... percent.

1) 51 2) o64 3) 54 4) 74

4) H¥$fr d J«m‘rU {dH$mg

1) ‘hmamï´> amÁ` AW©g§H$ën 2023 ‘Ü ò, ‘m. AW©‘§Í`m§Zr eoVH$ar H|${ÐV `moOZm Omhra Ho$ë`m. `m g§X^m©V Imbrbn¡H$s
H$moUVo ~amo~a/Zmhr?
a) ‘hmH¥$fr {dH$mg `moOZm
b) YmZ / Vm§Xÿi CËnmXH$ eoVH$è`m§Zm 15,000 é. à{V hoŠQ>a àmoËgmhZna a¸$‘ àXmZ H$aUo
c) ‘hmamï´> lrAÞ A{^`mZ
d) PMFBY ‘Ü ò eoVH$è`m§Mm {d‘m hám amÁ` gaH$ma ^aob
e) CËnÞ g‘W©Z é. H|$Ðr` PM-KISAN ̀ moOZ|VJ©V g‘m{dï>/bm^ Z {‘imboë`m eoVH$ar Hw$Qw>§~m§Zm à{Vdfu 6,000
n`m©¶r CÎmao :
1) ’$º$ a Am{U c 2) a Am{U d ’$º$ 3) a ’$º$ 4) e ’$º$
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1) In Maharashtra State Budget 2023, Hon. Finance Minister announced Farmer Centric Schemes.

In this context which of the following is/are not correct ?

a) Mahakrishi Vikas Yojna

b) Provide an incentive amount of Rs. 15,000 per ha. to the paddy farmers

c) Maharashtra “Shree Anna” Abhiyan

d) In PMFBY insurance premium of farmer will be paid by the State Government

e) Income support of Rs. 6,000 per year to farmer families who are not covered/ benefited under

Central PM-KISAN Scheme

Answer options :

1) a and c only 2) a and d only 3) a only 4) e only

2) ’y$S> àmogoqgJ B§S>ñQ´r (PLISFPI) gmR>r àm°S>ŠeZ qbŠS> BÝg|{Q>ìh ñH$s‘ ho à‘wI {d^mJ AmhoV
1) ~mOar AmYm[aV CËnmXZmgh AÞ {eOdÊ`mgmR>r / ImÊ`mgmR>r V`ma
2) à{H«$`m Ho$bobr ’$io Am{U ^mÁ`m
3) g‘wÐr CËnmXZo, ‘moPoaobm MrO
4) darb gd©

2) Production Linked Incentive Scheme for Food Processing Industry (PLISFPI) major segments

are

1) Ready to cook/ready to eat foods including millets based product

2) Processed fruits and vegetables

3) Marine products, Mozzerella cheese

4) All of the above

3) ‘hmamï´> emgZmZo "OcñdamÁ¶ ¶moOZm" H$moUË¶m gmcr gwé Ho$cr ?
A) 2000 ~) 2001 H$) 2002 S>) 2003
n¶m©¶r CÎmao :
1) ’$º$ H$ Am{U ~ 2) ’$º$ A 3) ’$º$ A, ~ Am{U H$ 4) ’$º$ S>

3) In which year Government of Maharashtra started 'Jalswarajya Scheme'?

a) 2000 b) 2001 c) 2002 d) 2003

Answer Options :

1) Only c and b 2) Only a 3) Only a, b and c 4) Only d

4) nrH$ {d{dYrH$aU H$m¶©H«$‘ 2013-14 nmgyZ ............ Mr Cn¶moOZm åhUyZ am~{dÊ¶mV Ambm.
1) Am°naoeZ J«rÝg 2) amï´>r¶ H¥${f {dH$mg ¶moOZm
3) EH$ {Oëhm EH$ CËnmXZ 4) ^maVr¶ àmH¥${VH$ H¥${f nÕVr ¶moOZm

4) Crop Diversification Programme was implemented since 2013-14 as a sub-scheme of

1) Operation Greens 2) Rashtriya Krishi Vikas Yojana

3) One District One Product 4) Bharatiya Prakrituik Krishi Pandhati Programme
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5) ‘hmamï´> A°J«r{~PZog ZoQ>dH©$ (‘°¾oQ>) àH$ënm~m~V Imcrc {dYmZo {dMmamV KoD$Z CÎmamMm ¶mo½¶ n¶m©¶ {ZdS>.
A) hr ¶moOZm H¥$fr {d^mJm‘m’©$V am~{dÊ¶mV ¶oVo.
~) gXa àH$ënmV amÁ¶mVrc 10 ’$cmoËnmXZ {nH$m§Mm g‘mdoe Amho.
H$) gXa ¶moOZm Am{e¶mB© {dH$mg ~±H$ AW©ghmæ¶rV Amho.
n¶m©¶r CÎmao :
1) ’$º$ A ~amo~a 2) ’$º$ ~ d H$ ~amo~a
3) A, ~ d H$ {VÝhr ~amo~a 4) A, ~ d H$ {VÝhr MyH$

5) Select the correct answer option considering the following statements regarding the Maharashtra

Agribusiness Network (Magnet) project.

a) This scheme is implemented through the Department of Agriculture.

b) The said project covers 10 horticulture crops of the state.

c) The said scheme is funded by Asian Development Bank.

Answer options :

1) Only A is correct 2) Only B and C are correct

3) A, B and C are all three correct 4) A, B and C are all three wrong

6) PKVY Mo à‘wI joÌ g|{Ð` eoVrbm àmoËgmhZ XoV Amho Á`m‘Ü ò Imbrb Jmoï>tMm g‘mdoe Amho.
A) eoVH$è`m§‘Ü ò g|{Ð` eoVrbm àmoËgmhZ Úm
~) g|{Ð` eoVrVrb Z{dZV‘ V§ÌkmZmMm àgma H$am
H$) gmd©O{ZH$ H¥$fr g§emoYZ àUmbrVrb Vkm§À`m godm§Mm dmna H$am
S>) JmdmV {H$‘mZ EH$ ŠbñQ>a àmË`{jH$ Am`mo{OV H$am
n`m©¶r CÎmao :
1) Mmahr {dYmZo ~amo~a AmhoV 2) {dYmZ (H$) MyH$ Amho
3) ’$º$ {dYmZ (A) Am{U (~) ~amo~a AmhoV 4) ’$º$ {dYmZ (A) ~amo~a Amho

6) Key thrust areas of PKVY is promoting organic farming which includes the following.

a) Promote organic farming among farmers

b) Disseminate latest technology in organic farming

c) Utilize the services of experts from Public Agricultural research system

d) Organize a minimum of one cluster demonstration in village

Answer options :

1) All four statements are correct 2) Statement (c) is wrong

3) Only statement (a) and (b) are correct 4) Only statement (a) is correct

7) àYmZ‘§Ìr H¥$fr qgMmB© `moOZoMo (PMKSY) à‘wI KQ>H$ AmhoV.
1) àdoJH$ qgMZ bm^ H$m ©̀H«$‘ (AIBP) 2) ha IoV H$mo nmZr (HKKP)

3) à{V S´m°n ‘moAa H«$m°n (PDMC) 4) darb gd©
7) Major components of Pradhan Mantri Krishi Sinchayee Yojana (PMKSY) are

1) Accelerated Irrigation Benefit Program (AIBP)

2) Har Khet Ko Pani (HKKP)

3) Per Drop More Crop (PDMC)

4) All of the above
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8) àYmZ‘§Ìr ’$gb {d‘m `moOZoÀ`m g§X^m©V Imbrb {dYmZmMm {dMma H$am.
A) `m `moOZ|VJ©V eoVH$è`mZo H$moUË`mhr h§Jm‘mV KoVboë`m {nH$mgmR>r XmoZ Q> o̧$ EH$g‘mZ àr{‘`‘ ^amdm bmJob.
~) `m `moOZoV MH«$sdmXi, AdH$mir nmD$g `m§‘wio H$mnUrZ§VaMo ZwH$gmZ g‘m{dï> Amho.
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U ~ XmoÝhr 4) XmoÝhrn¡H$s EH$ qH$dm ~ Zmhr

8) With reference to Pradhan Mantri Fasal Bima Yojana, consider the following statement.

a) Under this scheme farmer will have to pay uniform premium of two per cent for any crop they

cultivate in any season.

b) The scheme covers post harvest losses arrising out of cyclones, unseasonal rains.

Which of the statement/s given above is/are correct ?

1) a only 2) b only 3) both a and b 4) Neither anor b

9) H|$Ð gaH$maZo Omhra Ho$ë¶mZwgma 2023-24 ‘Ü¶o Imbrbn¡H$s H$moUË¶m {nH$mMr, {H$‘mZ AmYma ŷV qH$‘V (MSP)

gdm©V H$‘r hmoVr?
1) Jhÿ 2) ‘H$m 3) ^mV 4) Vya

9) Which of the following crops had the minimum support price (MSP) in the year 2023-24 as

announced by Central Government?

1) Wheat 2) Maize 3) Paddy 4) Tur

10) OmoS>r Owidm:
a) O`H$a g{‘Vr i) 1934
b) IRC {Z{‘©Vr ii) 1952
c) CRRI ñWmnZm iii) 1956
d) NHH$m`Xm iv) 1927
n`m©¶r CÎmao :

(a) (b) (c) (d)

1) (iv) (ii) (i) (iii)

2) (ii) (iv) (i) (iii)

3) (ii) (i) (iii) (iv)

4) (iv) (i) (ii) (iii)

10) Match the pair :

a) Jayakar Committee i) 1934

b) IRC formation ii) 1952

c) CRRI Establishment iii) 1956

d) NH Act iv) 1927

Answer options:

(a) (b) (c) (d)

1) (iv) (ii) (i) (iii)

2) (ii) (iv) (i) (iii)

3) (ii) (i) (iii) (iv)

4) (iv) (i) (ii) (iii)
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11) ImÚ Vobm§darb amï´>r¶ {‘eZ-Vob nm‘ ............. ‘Ü¶o gwê$ H$aÊ¶mV Ambo.
1) Am°JñQ>, 2020 2) Am°JñQ>, 2019 3) Am°JñQ>, 2022 4) Am°JñQ>, 2021

11) National Mission on Edible oil-oil palm was launched in

1) August, 2020 2) August, 2019 3) August, 2022 4) August, 2021

12) àYmZ‘§Ìr ’$gb {d‘m `moOZm (PMFBY) ‘Ü ò W«oehmoëS> CËnÞmMr JUZm gdm}Îm‘ gamgar åhUyZ Ho$br OmVo
........... dfmªMo CËnÞ ‘mJrb ......... dfmªÀ`m CËnÞmn¡H$s.
1) 3, 5 2) 5, 10 3) 57 4) 7, 10

12) In Pradhan Mantri Fasal Bima Yojana (PMFBY) threshold yield is calculated as an average of best

........... years yield out of last .......... years yield.

1) 3, 5 2) 5, 10 3) 57 4) 7, 10

13) 2018-19 À`m H|$Ðr` AW©g§H$ënmV E‘Egnr CËnmXZ IMm©À`m {H$Vr nQ> nmVirda R>odÊ`mMo nyd©{ZpíMV VÎd Omhra
Ho$bo hmoVo?
1) 1.25 2) 1.50 3) 1.75 4) 2.00

13)  The Union Budget for 2018—19 had announced the predetermined principle to keep MSP at the

level of how much times that of the cost of production ?

1) 1.25 2) 1.50 3) 1.75 4) 2.00

14) {S>g|~a 2021 n ª̀V ‘hmamï´> amÁ`mVrb {H$Vr APMCse-NAM `m g§nyU© ^maVmVrb BboŠQ´m°{ZH$ QóqS>J nmoQ>©bgmo~V
EH${ÌV AmhoV?
1) 76 2) 118 3) 180 4) 228

14) How many APMCs in Maharashtra State are integrated with e-NAM, a pan-India electronic trading

portal, up to Dec. 2021 ?

1) 76 2) 118 3) 180 4) 228

15) aoer‘ eoVrgmR>r (Bar, VwVr, Vwgma) amï´>r` AmnÎmr à{VgmX {ZYr (NDRF) A§VJ©V BZnwQ> g~{gS>r (OoWo nrH$ ZwH$gmZ
33% Am{U Ë`mhÿZ A{YH$ Amho) Amho.
1) 4800 à{V hoŠQ>a 2) 6000 à{V hoŠQ>a 3) 6800 à{V hoŠQ>a 4) 13500 à{V hoŠQ>a

15)  Input subsidy (where crop loss is 33% and above) under National Disaster Response Fund (NDRF)

for sericulture (Eri, Mulberry, Tussar) is

1) 4800 per ha. 2) 6000 per ha 3) 6800 per ha 4) 13500 per ha

16) "BQ>mdm nm`bQ> àmoOoŠQ>'Mo àUoVo H$moU hmoVo?
1) Eg.Ho$.S>o 2) Aë~Q>© ‘ò a 3) E’$.Eb. Brayne 4) S>m°. ñnoÝga h°M

16) Who was the pioneer of ‘Etawah Pilot Project’ ?

1) S.K.Dey 2) Albert Mayer 3) F.L. Brayne 4) Dr. Spencer Hatch

17) H$mOy ’$i{nH$ {dH$mg ¶moOZm H$moëhmnya {OëømVrc Imcrcn¡H$s H$moUË¶m Vmcw³¶mV am~{dÊ¶mV ¶oV Zmhr?
1) ^yXaJS> 2) amYmZJar 3) JS>qh½cO 4) H$adra

17) In which of the following taluks of Kolhapur district is the cashew nut orchard development

scheme not being implemented?

1) Bhudargarh 2) Radhanagari 3) Gadhinglaj 4) Karveer
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18) H¥$fr Am{U eoVH$ar H$ë`mU ‘§Ìmb`, JmdmgmR>r EHy$U A§XmOnÌH$ {H$Vr Amho. ^maVmMm, 2022-23 À`m H|$Ðr`
AW©g§H$ënmV?
1) 132513.62 H$moQ>r 2) 225025.07 H$moQ>r
3) 328011.13 H$moQ>r 4) 117308.20 H$moQ>r

18) How much is the total budget estimate for Ministry of Agriculture and Farmers’ Welfare, Gowt.

of India, in the Union Budget for 2022—23 ?

1) 132513.62 Crores 2) 225025.07 Crores

3) 328011.13 Crores 4) 117308.20 Crores

19) ~iramOm Ocg§OrdZr ¶moOZo A§VJ©V {H$Vr àH$ënm§Zm ‘mÝ¶Vm XoÊ¶mV Amcocr Amho?
1) 100 2) 150 3) 91 4) 85

19) How many projects have been approved under Baliraja Jalsanjeevani Yojana?

1) 100 2) 150 3) 91 4) 85

20) àYmZ‘§Ìr ’$gb {d‘m `moOZm (PMFBY) ‘Ü ò W«oehmoëS> CËnÞmMr JUZm gdm}Îm‘ gamgar åhUyZ Ho$br OmVo
........... dfmªMo CËnÞ ‘mJrb ......... dfmªÀ`m CËnÞmn¡H$s.
1) 3, 5 2) 5, 10 3) 57 4) 7, 10

20) In Pradhan Mantri Fasal Bima Yojana (PMFBY) threshold yield is calculated as an average of best

........... years yield out of last .......... years yield.

1) 3, 5 2) 5, 10 3) 57 4) 7, 10

21) 2018-19 À`m H|$Ðr` AW©g§H$ënmV E‘Egnr CËnmXZ IMm©À`m {H$Vr nQ> nmVirda R>odÊ`mMo nyd©{ZpíMV VÎd Omhra
Ho$bo hmoVo?
1) 1.25 2) 1.50 3) 1.75 4) 2.00

21)  The Union Budget for 2018—19 had announced the predetermined principle to keep MSP at the

level of how much times that of the cost of production ?

1) 1.25 2) 1.50 3) 1.75 4) 2.00

22) {S>g|~a 2021 n ª̀V ‘hmamï´> amÁ`mVrb {H$Vr APMCse-NAM `m g§nyU© ^maVmVrb BboŠQ´m°{ZH$ QóqS>J nmoQ>©bgmo~V
EH${ÌV AmhoV?
1) 76 2) 118 3) 180 4) 228

22) How many APMCs in Maharashtra State are integrated with e-NAM, a pan-India electronic trading

portal, up to Dec. 2021 ?

1) 76 2) 118 3) 180 4) 228

23) aoer‘ eoVrgmR>r (Bar, VwVr, Vwgma) amï´>r` AmnÎmr à{VgmX {ZYr (NDRF) A§VJ©V BZnwQ> g~{gS>r (OoWo nrH$ ZwH$gmZ
33% Am{U Ë`mhÿZ A{YH$ Amho) Amho.
1) 4800 à{V hoŠQ>a 2) 6000 à{V hoŠQ>a
3) 6800 à{V hoŠQ>a 4) 13500 à{V hoŠQ>a

23)  Input subsidy (where crop loss is 33% and above) under National Disaster Response Fund (NDRF)

for sericulture (Eri, Mulberry, Tussar) is

1) 4800 per ha. 2) 6000 per ha

3) 6800 per ha 4) 13500 per ha
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24) nrH$ {d{dYrH$aU H$m¶©H«$‘ 2013-14 nmgyZ ............ Mr Cn¶moOZm åhUyZ am~{dÊ¶mV Ambm.
1) Am°naoeZ J«rÝg 2) amï´>r¶ H¥${f {dH$mg ¶moOZm
3) EH$ {Oëhm EH$ CËnmXZ 4) ^maVr¶ àmH¥${VH$ H¥${f nÕVr ¶moOZm

24) Crop Diversification Programme was implemented since 2013-14 as a sub-scheme of

1) Operation Greens 2) Rashtriya Krishi Vikas Yojana

3) One District One Product 4) Bharatiya Prakrituik Krishi Pandhati Programme

25) {X. 14 Am°JñQ> 2008 amoOrMm ‘hmË‘m Jm§Yr V§Q>m‘wº$ Jmd ‘mohr‘ amÁ¶m‘Ü¶o am~{dÊ¶m~m~VMm ‘hmamï´> emgZ
{ZU©¶mVrb n[aÀN>oX 3 Zwgma {Xboë¶m ‘mo{h‘oMo ñdê$n d ‘mo{h‘H|$ÐrV V§Q>o ¶mÀ¶m AZwf§JmZo doJionU AmoiIm.
1) Am{W©H$ 2) {XdmZr 3) ‘hgwbr 4) ’$m¡OXmar

25)  As per paragraph 3 of the Maharashtra Government Decision on implementation of the Mahatma

Gandhi Tantamukt Gaon Campaign in the State dated 14th August 2008, distinguish between the

nature of the campaign and campaign-centric Tante.

1) Financial 2) Civil  3) Revenue 4) Criminal

26) H$mOy ’$i{nH$ {dH$mg ¶moOZm H$moëhmnya {OëømVrc Imcrcn¡H$s H$moUË¶m Vmcw³¶mV am~{dÊ¶mV ¶oV Zmhr?
1) ^yXaJS> 2) amYmZJar 3) JS>qh½cO 4) H$adra

26) In which of the following taluks of Kolhapur district is the cashew nut orchard development

scheme not being implemented?

1) Bhudargarh 2) Radhanagari 3) Gadhinglaj 4) Karveer

27) Imbrbn¡H$s H$moUË`m {nH$m§À`m {Z`m©Vr‘wio ^maVmV d¡km{ZH$ eoVr gwê$ Pmbr?
1) gỳ ©’y$b, ‘mohar, H$aS>B© 2) Jhÿ, Vm§Xyi, ~mbu
3) D$g, H$mnyg, V§~mIy 4) H$mnyg, Mhm, VmJ

27) Which of the following crops export has began the scientific agriculture in India ?

1) Sunflower, Mustard, Safflower 2) Wheat, Rice, Barley

3) Sugar cane, Cotton, Tobacco 4) Cotton, Tea, Jute

28) H|$Ð gaH$maZo Omhra Ho$ë¶mZwgma 2023-24 ‘Ü¶o Imbrbn¡H$s H$moUË¶m {nH$mMr, {H$‘mZ AmYma ŷV qH$‘V (MSP)

gdm©V H$‘r hmoVr?
1) Jhÿ 2) ‘H$m 3) ^mV 4) Vya

28) Which of the following crops had the minimum support price (MSP) in the year 2023-24 as

announced by Central Government?

1) Wheat 2) Maize 3) Paddy 4) Tur

29) KCC `moOZoMm CÔoe Imbr Xe©{dë`mà‘mUo eoVH$è`m§Zm Ë`m§À`m JaOm§gmR>r ~±qH$J àUmbrH$Sy>Z nwaogm Am{U doioda
H«o${S>Q> ghmæ` àXmZ H$aUo Amho.
a) {nH$m§À`m bmJdS>rgmR>r Am{U H$mT>UrZ§VaÀ`m IMm©gmR>r AënH$mbrZ H$Om©Mr Amdí`H$Vm nyU© H$aÊ`mgmR>r.
b) {dnUZ H$O© CËnmXZ.
c) eoVH$ar Hw$Qw>§~mÀ`m dmnamÀ`m JaOm.
d) eoVrÀ`m ‘mb‘ÎmoÀ`m XoIaoIrgmR>r IoiVo ^m§S>db Am{U eoVrer g§~§{YV {H«$`mH$bmn.
e) H¥$fr Am{U g§b¾ {H«$`mH$bmnm§gmR>r Jw§VdUyH$ H«o${S>Q>Mr Amdí`H$Vm.
darbn¡H$s H$moUVo {dYmZ/Zo/`mo½`/gË` Amho?
1) a, b, c, d, e 2) a, b, c ’$º$ 3) a, b, c, e ’$º$ 4) a, b, c, d ’$º$
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29) The KCC Scheme aims at providing adequate and timely credit support from banking system to

the farmers for their needs as indicated below.

a) To meet the short term credit requirement of cultivation and post harvest expenses of crops.

b) Produce marketing loan.

c) Consumption requirements of farmer household.

d) Working capital for maintenance of farm assets and activities allied to agriculture.

e) Investment credit requirement for agriculture and allied activities.

Which of the above statement/s is/are correct/true ?

1) a, b, c, d, e 2) a, b, c only 3) a, b, c, e only 4) a, b, c, d only

30) ‘hmamï´> A°J«r{~PZog ZoQ>dH©$ (‘°¾oQ>) àH$ënm~m~V Imcrc {dYmZo {dMmamV KoD$Z CÎmamMm ¶mo½¶ n¶m©¶ {ZdS>.
A) hr ¶moOZm H¥$fr {d^mJm‘m’©$V am~{dÊ¶mV ¶oVo.
~) gXa àH$ënmV amÁ¶mVrc 10 ’$cmoËnmXZ {nH$m§Mm g‘mdoe Amho.
H$) gXa ¶moOZm Am{e¶mB© {dH$mg ~±H$ AW©ghmæ¶rV Amho.
n¶m©¶r CÎmao :
1) ’$º$ A ~amo~a 2) ’$º$ ~ d H$ ~amo~a
3) A, ~ d H$ {VÝhr ~amo~a 4) A, ~ d H$ {VÝhr MyH$

30) Select the correct answer option considering the following statements regarding the Maharashtra

Agribusiness Network (Magnet) project.

a) This scheme is implemented through the Department of Agriculture.

b) The said project covers 10 horticulture crops of the state.

c) The said scheme is funded by Asian Development Bank.

Answer options :

1) Only A is correct 2) Only B and C are correct

3) A, B and C are all three correct 4) A, B and C are all three wrong

31) PKVY Mo à‘wI joÌ g|{Ð` eoVrbm àmoËgmhZ XoV Amho Á`m‘Ü ò Imbrb Jmoï>tMm g‘mdoe Amho.
A) eoVH$è`m§‘Ü ò g|{Ð` eoVrbm àmoËgmhZ Úm
~) g|{Ð` eoVrVrb Z{dZV‘ V§ÌkmZmMm àgma H$am
H$) gmd©O{ZH$ H¥$fr g§emoYZ àUmbrVrb Vkm§À`m godm§Mm dmna H$am
S>) JmdmV {H$‘mZ EH$ ŠbñQ>a àmË`{jH$ Am`mo{OV H$am
n`m©¶r CÎmao :
1) Mmahr {dYmZo ~amo~a AmhoV 2) {dYmZ (H$) MyH$ Amho
3) ’$º$ {dYmZ (A) Am{U (~) ~amo~a AmhoV 4) ’$º$ {dYmZ (A) ~amo~a Amho

31) Key thrust areas of PKVY is promoting organic farming which includes the following.

a) Promote organic farming among farmers

b) Disseminate latest technology in organic farming

c) Utilize the services of experts from Public Agricultural research system

d) Organize a minimum of one cluster demonstration in village

Answer options :

1) All four statements are correct 2) Statement (c) is wrong

3) Only statement (a) and (b) are correct 4) Only statement (a) is correct
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32) àYmZ‘§Ìr H¥$fr qgMmB© `moOZoMo (PMKSY) à‘wI KQ>H$ AmhoV.
1) àdoJH$ qgMZ bm^ H$m ©̀H«$‘ (AIBP) 2) ha IoV H$mo nmZr (HKKP)

3) à{V S´m°n ‘moAa H«$m°n (PDMC) 4) darb gd©
32) Major components of Pradhan Mantri Krishi Sinchayee Yojana (PMKSY) are

1) Accelerated Irrigation Benefit Program (AIBP)

2) Har Khet Ko Pani (HKKP)

3) Per Drop More Crop (PDMC)

4) All of the above

33) àYmZ‘§Ìr ’$gb {d‘m `moOZoÀ`m g§X^m©V Imbrb {dYmZmMm {dMma H$am.
A) `m `moOZ|VJ©V eoVH$è`mZo H$moUË`mhr h§Jm‘mV KoVboë`m {nH$mgmR>r XmoZ Q> o̧$ EH$g‘mZ àr{‘`‘ ^amdm bmJob.
~) `m `moOZoV MH«$sdmXi, AdH$mir nmD$g `m§‘wio H$mnUrZ§VaMo ZwH$gmZ g‘m{dï> Amho.
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U ~ XmoÝhr 4) XmoÝhrn¡H$s EH$ qH$dm ~ Zmhr

33) With reference to Pradhan Mantri Fasal Bima Yojana, consider the following statement.

a) Under this scheme farmer will have to pay uniform premium of two per cent for any crop they

cultivate in any season.

b) The scheme covers post harvest losses arrising out of cyclones, unseasonal rains.

Which of the statement/s given above is/are correct ?

1) a only 2) b only 3) both a and b 4) Neither anor b

34) "ñdrQ> [aìhmoë ỳeZ' H$emer g§~§{YV Amho?
1) gmIaoMo CËnmXZ
2) ‘Y‘mer nmbZ Am{U ‘Y Am{U g§~§{YV CËnmXZm§Mo CËnmXZ
3) JmoS> Xw½YOÝ` nXmWmªMo CËnmXZ
4) à{H«$`m Ho$boë`m ’$i CËnmXZm§Mo CËnmXZ

34) What is ‘Sweet Revolution’ related to ?

1) Production of sugar

2) Beekeeping and production of honey and related products

3) Production of sweet dairy products

4) Production of processed fruit products

35) .......... hm nrH$ CËnmXZ, newYZ, eoVr, ‘Ëñ`nmbZ, dZrH$aU BË`mXr gd© n¡by§Mm g‘mdoe Agbobm EH$ A{Ve`
ì`mnH$ eãX Amho.
1) eoVr 2) {gpëìhnmíMa 3) H¥$fremó 4) {gpëìh-~mJm`V

35)  ..........is a very broad term encompassing all aspects of crop production, livestock, farming,

fisheries, forestry etc.

1) Agriculture 2) Silvipasture 3) Agronomy 4) Silvi-horticulture
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36) ’y$S> àmogoqgJ B§S>ñQ´r (PLISFPI) gmR>r àm°S>ŠeZ qbŠS> BÝg|{Q>ìh ñH$s‘ ho à‘wI {d^mJ AmhoV
1) ~mOar AmYm[aV CËnmXZmgh AÞ {eOdÊ`mgmR>r / ImÊ`mgmR>r V`ma
2) à{H«$`m Ho$bobr ’$io Am{U ^mÁ`m
3) g‘wÐr CËnmXZo, ‘moPoaobm MrO
4) darb gd©

36) Production Linked Incentive Scheme for Food Processing Industry (PLISFPI) major segments

are

1) Ready to cook/ready to eat foods including millets based product

2) Processed fruits and vegetables

3) Marine products, Mozzerella cheese

4) All of the above

37) ghH$mamMo {ejU d à{ejU g§X^m©Vrb g{‘Vr d df© ¶m§À¶m ¶mo½¶ OmoS>çm bmdm.
                   g{‘Vr      df©
a) am°¶b H${‘eZ Am°Z A°{J«H$ëMa i) 1895
b) àm. H$d} g{‘Vr ii) 1915
c) ’«o$S>[aH$ {ZH$mobgZ iii) 1928
d) ‘°H$bJZ g{‘Vr iv) 1964
n¶m©¶r CÎmao …
1) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv) 2) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

3) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii) 4) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)

37) Match committee and year in co-operative education and training context.

            Committee     Year

a) Royal Commission on Agriculture i) 1895

b) Prof. Karve Committee ii) 1915

c) Frederick Nicholson iii) 1928

d) Maclagan Committee iv) 1964

Answer options :

1) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv) 2) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

3) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii) 4) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)

5) CÚmoJ d n¶m ŷV gw{dYm
1) Imbrb {dYmZo {dMmamV ¿¶m …

A) nrE‘ dmOno¶r gaH$maZo 1999 ‘Ü¶o ZdrZ {ZJwªVdUyH$ {d^mJ V¶ma Ho$bm.
~) 2001 ‘Ü¶o {ZJwªVdUyH$ {d^mJ nyU© ‘§Ìmb¶ ~Zbo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ AmhoV?
n¶m©¶r CÎmao …
1) Ho$di A 2) Ho$di ~ 3) XmoÝhr A Am{U ~ 4) darbn¡H$s Zmhr

1) Consider the following statements :

a) Government of PM Vajpayee created new department of disinvestmentin 1999.

b) Department of disinvestment became a full Ministry in 2001.

Which of the statement/s given above is/are correct ?

Answer Options :

1) Only a 2) Only b 3) Both a and b 4) None of the above
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2) Imcrc {dYmZo {dMmamV ¿¶m :
a) ^maV gaH$maZo 24 Owc¡ 1991 amoOr ZdrZ Am¡Úmo{JH$ YmoaU Omhra Ho$co.
b) ¶m YmoaUm‘wio gaH$magmR>r amIrd Agcoë¶m CÚmoJm§Mr g§»¶m 10 n¶ªV H$‘r Pmcr.
darcn¡H$s H$moUVr {dYmZo ~amo~a Amho/AmhoV ?
1) (a) ~amo~a Amho 2) (b) ~amo~a Amho
3) XmoÝhr (a) (b) Am{U ~amo~a AmhoV 4) darcn¡H$s Zmhr

2) Consider the following statements :

a) The Government of India announced a New Industrial Policy on July 24, 1991.

b) The policy reduced the number of industries reserved for the government to 10.

Which of the statements given above is/are correct ?

1) (a) is correct 2) (b) is correct

3) Both (a) and (b) are correct 4) None of the above

3) AQ>b nwZé‚mrdZ d ehar n[adV©Z A{^¶mZ (AMRUT) {df¶r Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr?
1) AMRUT ho ^maV gaH$maMo à‘wI A{^¶mZ Amho.
2) J¥h{Z‘m©U d ehar ì¶dhma ‘§Ìmb¶ ¶m§Zr ho A{^¶mZ gwê$ Ho$bo Amho.
3) Vo Xoe^amVrb eham§‘Yrb nmÊ¶mÀ¶m nwadR>çmMr AmìhmZo gmoS>{dVo.
4) 25 OyZ 2015 ‘Ü¶o Xoe^amVrb 500 eham§‘Ü¶o Vo H$m¶m©pÝdV H$aÊ¶mV Ambo.

3) Which of the following statements about Atal Mission for Rejuvenation and Urban Transformation

(AMRUT) is not correct ?

1) AMRUT is flagship mission of Government of India

2) It was launched by Ministry of Housing and Urban Affairs

3) It addresses the challenges of water supply in cities across the country

4) It was launched on 25th June, 2015 in 500 cities in the country

4) ""amOrd Jm§Yr J«m‘rU {dÚwVrH$aU ¶moOZm (RGGVY) "" ............. ‘Ü¶o gwé H$aÊ¶mV Amcr.
1) ‘o 2005 2) OmZodmar 2010 3) E[àc 2005 4) E{àc 2004

4) “Rajeev Gandhi Grameen Vidyutikaran Yojana (RGGVY)” was launched in

1) May 2005 2) January 2016 3) April 2005 4) April 2004

5) ""amOrd Jm§Yr J«m‘rU {Zdmam ¶moOZm"" ............. ‘Ü¶o Omhra H$aÊ¶mV Amcr.
1) Am°³Q>mo~a, 2006 2) ‘mM©, 2009 3) E{àc, 2010 4) Zmoìh|~a,2005

5) “Rajeev Gandhi Rural Shelter Scheme” was declared in

1) October, 2006 2) March, 2009 3) April, 2010 4) November, 2005

6) ""ñdÀN> ^maV A{^¶mZ"" ............ ¶m {Xder gwé H$aÊ¶mV Amco
1) 2 Am°³Q>mo~a, 2015 2) 2 Am°³Q>mo~a 2014
3) E[àc 2005 4) E{àc 2004

6) “Swachh Bharat Abhiyan” was started on the

1) 2nd October, 2015 2) 2nd October, 2014

3)14th November, 2014 4) 26th January, 2014
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7)  ^maVmVrb ZmJar J¥h{Z‘m©U AZweof gmoS>{dÊ`mgmR>r 'àYmZ‘§Ìr Amdmg `moOZm (ehar)' Imbrbn¡H$s H$moUË`m dfm©V
gwê$ H$aÊ`mV Ambr?
1) 2017 2) 2014 3) 2015 4) 2018

7) In which of the following years was the 'Pradhan Mantri Awas Yojana (Urban)' launched to tackle

the urban housing backlog in India ?

1) 2017 2) 2014 3) 2015 4) 2018

8) 'CS>o Xoe H$m Am‘ ZmJ[aH$' AWm©V 'CS>mZ' hr ¶moOZm ...... ‘Ü¶o gwê$ H$aÊ¶mV Ambr.
1) gßQ>|~a 2016 2) Am°³Q>mo~a 2016 3) Zmoìh|~a 2016 4) {S>g|~a 2016

8) ‘Ude Desh Ka Aam Nagrik’ (UDAN) scheme was launched in

1) Sept. 2016 2) Oct. 2016 3) Nov. 2016 4) Dec. 2016

9) nwaogo gwa{jV no¶Ob nwadÊ¶mgmR>rMm Ob OrdZ CnH«$‘ ...... ‘Ü¶o gwê$ H$aÊ¶mV Ambm.
1) Am°JñQ> 2018 2) Am°JñQ> 2019 3) E{àb 2020 4) E{àb 2018

9) Jal Jeevan Mission envisaged to provide adequate safe drinking water was launched in

1) August 2018 2) August 2019 3) April 2020 4) April 2018

10) ""nwZa©{MV amï´>r¶ J«m‘ ñdamO A{^¶mZ" ¶m ¶moOZoH$arVm gaZ 2023-24 ¶m {dÎmr¶ dfm©H$[aVm Imcrcn¡H$s
H$moUË¶m aH$‘oÀ¶m dm{f©H$ H¥$Vr AmamIS>çmg H|$Ð emgZmZo ‘§Oyar {Xcr Amho ?
1)  373.12 H$moQ>r 2)  337.21 H$moQ>r
3)  321.37 H$moQ>r 4)  312.73 H$moQ>r

10) The central government has approved an annual action plan of which of the following amounts for

the financial year Saran 2023-24 for the scheme "Restructured National Gram Swaraj Mission"?

1)  373.12 crore 2)  337.21 crore

3)  321.37 crore 4)  312.73 crore

11) Odmhacmc Zohé amï´>r¶ ehar nwZéËWmZ A{^¶mZ A§VJ©V eha énm§VaU A{^¶mZm‘Ü¶o H|$Ð Am{U amÁ¶ gaH$maMm
dmQ>m ......... BVH$m Amho.
1) 50 : 50 2) 40 : 60 3) 60 : 40 4) darcn¡H$s Zmhr

11) Under the Jawaharlal Nehru National Urban Renewal Mission (JNNURM) — Urban Rejuvenation

Mission contribution ratio of Central and State Government is

1) 50:50 2) 40:60 3) 60:40 4) None of the above

12) R>¸$a ~mßnm Am{Xdmgr dñVr ¶moOZogmR>r Am{W©H$ VaVyX Imcrcn¡H$s H$moUVr Amho ?
1) amÁ¶ ¶moOZm (100%) 2) H|$Ð ¶moOZm (100%)
3) amÁ¶ : H|$Ð (60:40) 4) amÁ¶ : H|$Ð (75:25)

12) Which of the following is the financial provision for Thakkar Bappa Tribal Settlement Scheme?

1) State Scheme (100%) 2) Central Scheme (100%)

3) State : Center (60:40) 4) State : Center (75:25)
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13) ‘hmamï´>mÀ¶m 'pìhOZ 2030' n{ÌHo$Zwgma, ‘hmamï´>mVrb nm¶m ŷV gw{dYm§{df¶r Imbrbn¡H$s H$moUVo ‘wÔo ¶mo½¶ AmhoV?
A) {dÚwV joÌmVrb ImOJr joÌmMo ¶moJXmZ - 50.8%
~) à{V {H$‘r bm§~rÀ¶m añË¶mdarb dmhZ g§»¶m - 93
H$) Am§Vaamï´>r¶ {d‘mZVim§Mr g§»¶m - 4
S>) {dÚwV{Z{‘©Vr j‘VoV Am¡pîUH$ D$Om© òmoVm§Mo ¶moJXmZ - 17.8%
n¶m©¶r CÎmao …
1) A, ~, H$ Am{U S> 2) A, ~ Am{U H$ 3) Ho$di A Am{U ~ 4) A, ~ Am{U S>

13) Which of the following points about infrastructure in Maharashtra is correct, as per Vision 2030’

document of Maharashtra ?

a) Private sector contribution to electricity — 50.8%

b) No. of vehicles per km road length — 93

c) No. of international airports — 4

d) Contribution of thermal energy sources to generating capacity — 17.8%

Answer Options :

1) a, b, c and d 2) a, b and c 3) Only a and b 4) a, b and d

14) ""Vmcw³¶mÀ¶m {R>H$mUr VmcwH$m H«$sS>m g§Hw$c C^maUo"" ¶m ¶moOZoH$arVm Imcrcn¡H$s H$moUVo {dYmZ gË¶ Amho?
n¶m©¶r CÎmao :
1) 100% amÁ¶ nwañH¥$V ¶moOZm 2) 100% H|$Ð nwañH¥$V ¶moOZm
3) 60:40 (amÁ¶:H§o$Ð {hñgm) 4) 40:60 (amÁ¶:H§o$Ð {hñgm)

14) hich of the following statements is true for the scheme "Establishing Taluka Sports Complex at

Taluka Place"

Answer Options :

1) 100% State Sponsored Scheme 2) 100% Central Sponsored Scheme

3) 60:40 (State:Central share) 4) 40:60 (State:Central share)

15) Imbrb {dYmZo {dMmamV ¿¶m …
A) ^maV gaH$maZo 2001-02 ‘Ü¶o H|$Ðr¶ añVo {ZYr ¶moOZm gwê$ Ho$br.
~) Ho$di amï´>r¶ ‘hm‘mJmªÀ¶m {dH$mgmgmR>r Am{U XoI^mbrgmR>r ^maV gaH$maZo H|$Ðr¶ añVo {ZYr ¶moOZm gwê$ Ho$br.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
n¶m©¶r CÎmao …
1) XmoÝhr A Am{U ~ ¶mo½¶ AmhoV 2) ’$º$ A ¶mo½¶ Amho
3) ’$º$ ~ ¶mo½¶ Amho 4) darbn¡H$s Zmhr

15) Consider the following statements :

a) Government of India introduced Central Road Fund Scheme in 2001-02.

b) Only for the development and maintenance of national highways Government of India introduced

Central Road Fund Scheme.

Which of the statement/s given above is/are correct ?

Answer Options :

1) Both a and b are correct 2) Only a is correct

3) Only b is correct 4) None of the above
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16) Imbrb {dYmZo {dMmamV ¿¶m.
A) ^maV gaH$maZo gßQ>|~a 2021 ‘Ü¶o bú¶ ^maV nmoQ>©b gwê$ Ho$bo.
~) bú¶ ^maV nmoQ>©b A§VX}er¶ Ob‘mJm©er g§~§{YV Amho.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo MyH$ Amho/V?
n¶m©¶r CÎmao …
1) XmoÝhr A Am{U ~ MyH$ AmhoV 2) Ho$di A MyH$ Amho
3) Ho$di ~ MyH$ Amho 4) darbn¡H$s EH$hr MyH$ Zmhr

16) Consider the following statements :

a) Government of India the Lakshya Bharat Portal launched in September, 2021.

b) The Lakshya Bharat Portal related to Inland waterways.

Which of the statement/s given above is/are incorrect ?

Answer Options :

1) Both a and b are incorrect 2) Only a is incorrect

3) Only b is incorrect 4) None of the above is incorrect

17) ^maV gaH$maMo M°pån¶Ýg Am°ZbmB©Z nmoQ>©b ...... er g§~§{YV Amho.
1) AmR> à‘wI CÚmoJ 2) gyú‘, bKy Am{U ‘Ü¶‘ CÚmoJ
3) ImU Am{U CËIZZ CÚmoJ 4) darbn¡H$s gd©

17) The CHAMPIONS online portal of Government of India is related to

1) Eight core industries 2) Micro, small and medium enterprise

3) Mining and quarrying industries 4) All of the above

18) Imbrbn¡H$s H$moUVr EH$mpË‘H$ D$Om© {dH$mg ¶moOZoMr C{Ôï>o AmhoV?
A) {dVaU Omio geº$ H$aUo
~) eoVH$è¶m§Zm AZwXm{ZV drO nwa{dUo
H$) D$Om© {dVaU joÌmV ‘m{hVr-V§ÌkmZmMm dmna H$aUo.
n¶m©¶r CÎmao …
1) A Am{U ~ ’$º$ 2) ~ Am{U H$ ’$º$ 3) A Am{U H$ ’$º$ 4) darbn¡H$s gd©

18) Which of the following are the objectives of Integrated Power Development Scheme(IPDS) ?

a) Strengthening distribution network

b) Providing subsidised power to farmers

c) Use of information technology in power distribution sector

Answer Options :

1) a and b only 2) b and c only 3) a and c only 4) All of these

19) Imbrb {dYmZo {dMmamV ¿¶m …
A) ^maV‘mbm n[a¶moOZm hm H|$Ð gaH$ma Am{U amÁ¶ gaH$mamÛmao am~{dÊ¶mV ¶oUmam ‘hÎdmH$m§jr nm¶m ŷV gw{dYm

H$m¶©H«$‘ Amho.
~) g§V VwH$mam‘ nmbIr ‘mJ© Am{U g§V kmZoída nmbIr ‘mJ© àH$ënm§Mm ^maV‘mbm n[a¶moOZoV g‘mdoe Amho.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
n¶m©¶r CÎmao …
1) Ho$di A ¶mo½¶ Amho 2) XmoÝhr A Am{U ~ ¶mo½¶ AmhoV
3) Ho$di ~ ¶mo½¶ Amho 4) darbn¡H$s Zmhr



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : Mmcy KS>m‘moS>r  / 95

For Private Circulation Only

19) Consider the following statements :

a) Bharatmala Pariyojana is an ambitious infrastructure programme being implemented by Central

Government and State Governments.

b) Sant Tukaram Palkhi Marg and Sant Dnyaneshwar Palkhi Marg Projects are included in

Bharatmala Pariyojana.

Which of the statement/s given above is/are correct ?

Answer Options :

1) Only a is correct 2) Both a and b are correct

3) Only b is correct 4) None of the above

20) amÁ¶mVrc ZmJar ^mJm§À¶m XrK©H$mcrZ JaOm§Mm {dMma H$éZ Ë¶m§Mm gw{Z¶mo{OV {dH$mg gmYÊ¶mÀ¶m Ñï>rZo
............ A{^¶mZ am~{dÊ¶mV ¶oVo.
1) ‘mÜ¶{‘H$ {ejm A{^¶mZ 2) ‘hmamï´> aOV O¶§Vr ZJamoËWmZ ‘hmA{^¶mZ
3) CÞV ^maV A{^¶mZ 4) ‘hmamï´> gwdU© O¶§Vr ZJamoËWmZ ‘hmA{^¶mZ

20) Considering the long-term needs of the urban areas of the state, ............ campaign is implemented

in order to achieve their well-planned development.

1) Madhyamik Shiksha Abhiyan

2) Maharashtra Silver Jubilee Upliftment Mahabhiyan

3) Unnat Bharat Abhiyan

4) Maharashtra Suvarna Jubilee Upliftment Mahabhiyan

21) CÁdb {S>ñH$m°‘ A°í¶waÝg ¶moOZm H$moUr gwê$ Ho$br ?
1) H|$Ð gaH$ma 2) amÁ¶ gaH$ma
3) ‘hmamï´> {dÚwV ~moS>© 4) OrdZ {d‘m {ZJ‘

21) Who launched Ujwal Discom Assurance Yojana ?

1) Central Government 2) State Government

3) Maharashtra Electricity Board 4) Life Insurance Corporation

22) ...... ‘Ü¶o {ZJwªVdUyH$ hm eãX n{hë¶m§Xm dmnabm Jobm.
1) AW©g§H$ën 1991-92 2) AW©g§H$ën 1990-91
3) Am§V[aH$ AW©g§H$ën 1991 4) A§V[a‘ AW©g§H$ën 1992

22) The term ‘disinvestment’ was used for first time in

1) Budget 1991-92 2) Budget 1990-91

3) Interim Budget 1991 4) Interim Budget 1992

23) Imbrb {dYmZo {dMmamV ¿¶m …
A) Am{W©H$ df© 2021 ‘Ü¶o gmd©O{ZH$ ImOJr ^mJrXmar ‘yë¶m§H$Z g{‘VrZo 07 àH$ënm§Mr {e’$mag Ho$br.
~) ¶m 07 àH$ënm§n¡H$s, 03 aoëdo joÌmVrb àH$ën, 02 ~§Xa joÌmVrb àH$ën Am{U 02 Xÿag§Mma joÌmVrb àH$ën

AmhoV.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/V?
n¶m©¶r CÎmao …
1) ’$º$ A ~amo~a Amho. 2) XmoÝhr A Am{U ~ ~amo~a AmhoV.
3) ’$º$ ~ ~amo~a Amho. 4) darbn¡H$s EH$hr Zmhr
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23) Consider the following statements :

a) During the financial year 2021, Public Private Partnership Appraisal Committee recommended

07 projects.

b) Out of these 07 projects, 03 are railway sector projects, 02 are port sector projects and 02 are

telcom sector projects.

Which of the statement/s given above is/are correct ?

Answer Options :

1) Only a is correct 2) Both a and b are correct

3) Only b is correct 4) None of the above

24) gmd©O{ZH$ CnH«$‘ gd}jU 2008-09 Zwgma 125 gmd©O{ZH$ joÌmVrb CnH«$‘m§Zr Ho$boë¶m ñd-‘yë¶m§H$ZmÀ¶m AmYmao
...... Ago à‘m{UV Ho$bo Jobo.
A) 47 CËH¥$ï> hmoVo ~) 35 Iyn Mm§Jbo
H$) 25 g‘mYmZH$maH$ Am{U 18 dmOdr S>) 25 Mm§Jbo Am{U 18 dmOdr
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) A, ~ Am{U S> 3) ~, H$ Am{U S> 4) A, H$ Am{U S>

24) According to the Public Enterprises Survey 2008-09 on the basis of the self-evaluation by 125

Public Sector Enterprises

a) 47 were rated excellent. b) 35 very good.

c) 25 satisfactory and 18 fair. d) 25 good and 18 fair.

Answer Options :

1) a, b and c 2) a, b and d 3) b, c and d 4) a, c and d

25) Imcrc {dYmZo {dMmamV ¿¶m :
a) ^maV gaH$maZo 24 Owc¡ 1991 amoOr ZdrZ Am¡Úmo{JH$ YmoaU Omhra Ho$co.
b) ¶m YmoaUm‘wio gaH$magmR>r amIrd Agcoë¶m CÚmoJm§Mr g§»¶m 10 n¶ªV H$‘r Pmcr.
darcn¡H$s H$moUVr {dYmZo ~amo~a Amho/AmhoV ?
1) (a) ~amo~a Amho 2) (b) ~amo~a Amho
3) XmoÝhr (a) (b) Am{U ~amo~a AmhoV 4) darcn¡H$s Zmhr

25) Consider the following statements :

a) The Government of India announced a New Industrial Policy on July 24, 1991.

b) The policy reduced the number of industries reserved for the government to 10.

Which of the statements given above is/are correct ?

1) (a) is correct 2) (b) is correct

3) Both (a) and (b) are correct 4) None of the above

26) 'CS>o Xoe H$m Am‘ ZmJ[aH$' AWm©V 'CS>mZ' hr ¶moOZm ...... ‘Ü¶o gwê$ H$aÊ¶mV Ambr.
1) gßQ>|~a 2016 2) Am°³Q>mo~a 2016 3) Zmoìh|~a 2016 4) {S>g|~a 2016

26) ‘Ude Desh Ka Aam Nagrik’ (UDAN) scheme was launched in

1) Sept. 2016 2) Oct. 2016 3) Nov. 2016 4) Dec. 2016
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27) ‘hmamï´>mÀ¶m 'pìhOZ 2030' n{ÌHo$Zwgma, ‘hmamï´>mVrb nm¶m ŷV gw{dYm§{df¶r Imbrbn¡H$s H$moUVo ‘wÔo ¶mo½¶ AmhoV?
A) {dÚwV joÌmVrb ImOJr joÌmMo ¶moJXmZ - 50.8%
~) à{V {H$‘r bm§~rÀ¶m añË¶mdarb dmhZ g§»¶m - 93
H$) Am§Vaamï´>r¶ {d‘mZVim§Mr g§»¶m - 4
S>) {dÚwV{Z{‘©Vr j‘VoV Am¡pîUH$ D$Om© òmoVm§Mo ¶moJXmZ - 17.8%
n¶m©¶r CÎmao …
1) A, ~, H$ Am{U S> 2) A, ~ Am{U H$ 3) Ho$di A Am{U ~ 4) A, ~ Am{U S>

27) Which of the following points about infrastructure in Maharashtra is correct, as per Vision 2030’

document of Maharashtra ?

a) Private sector contribution to electricity — 50.8%

b) No. of vehicles per km road length — 93

c) No. of international airports — 4

d) Contribution of thermal energy sources to generating capacity — 17.8%

Answer Options :

1) a, b, c and d 2) a, b and c 3) Only a and b 4) a, b and d

28) Imbrb {dYmZo {dMmamV ¿¶m …
A) ^maV gaH$maZo 2001-02 ‘Ü¶o H|$Ðr¶ añVo {ZYr ¶moOZm gwê$ Ho$br.
~) Ho$di amï´>r¶ ‘hm‘mJmªÀ¶m {dH$mgmgmR>r Am{U XoI^mbrgmR>r ^maV gaH$maZo H|$Ðr¶ añVo {ZYr ¶moOZm gwê$ Ho$br.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
1) XmoÝhr A Am{U ~ ¶mo½¶ AmhoV 2) ’$º$ A ¶mo½¶ Amho
3) ’$º$ ~ ¶mo½¶ Amho 4) darbn¡H$s Zmhr

28) Consider the following statements :

a) Government of India introduced Central Road Fund Scheme in 2001-02.

b) Only for the development and maintenance of national highways Government of India introduced

Central Road Fund Scheme.

Which of the statement/s given above is/are correct ?

Answer Options :

1) Both a and b are correct 2) Only a is correct

3) Only b is correct 4) None of the above

29) ‘hmamï´> emgZmZo "OcñdamÁ¶ ¶moOZm" H$moUË¶m gmcr gwé Ho$cr ?
A) 2000 ~) 2001 H$) 2002 S>) 2003
n¶m©¶r CÎmao :
1) ’$º$ H$ Am{U ~ 2) ’$º$ A 3) ’$º$ A, ~ Am{U H$ 4) ’$º$ S>

29) In which year Government of Maharashtra started 'Jalswarajya Scheme'?

a) 2000 b) 2001 c) 2002 d) 2003

Answer Options :

1) Only c and b 2) Only a 3) Only a, b and c 4) Only d

30) Imbrb {dYmZo {dMmamV ¿¶m …
A) Am{W©H$ df© 2021 ‘Ü¶o gmd©O{ZH$ ImOJr ^mJrXmar ‘yë¶m§H$Z g{‘VrZo 07 àH$ënm§Mr {e’$mag Ho$br.
~) ¶m 07 àH$ënm§n¡H$s, 03 aoëdo joÌmVrb àH$ën, 02 ~§Xa joÌmVrb àH$ën Am{U 02 Xÿag§Mma joÌmVrb àH$ën AmhoV.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/V?
n¶m©¶r CÎmao …
1) ’$º$ A ~amo~a Amho. 2) XmoÝhr A Am{U ~ ~amo~a AmhoV.
3) ’$º$ ~ ~amo~a Amho. 4) darbn¡H$s EH$hr Zmhr
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30) Consider the following statements :

a) During the financial year 2021, Public Private Partnership Appraisal Committee recommended

07 projects.

b) Out of these 07 projects, 03 are railway sector projects, 02 are port sector projects and 02 are

telcom sector projects.

Which of the statement/s given above is/are correct ?

Answer Options :

1) Only a is correct 2) Both a and b are correct

3) Only b is correct 4) None of the above

31) gmd©O{ZH$ CnH«$‘ gd}jU 2008-09 Zwgma 125 gmd©O{ZH$ joÌmVrb CnH«$‘m§Zr Ho$boë¶m ñd-‘yë¶m§H$ZmÀ¶m AmYmao
...... Ago à‘m{UV Ho$bo Jobo.
A) 47 CËH¥$ï> hmoVo ~) 35 Iyn Mm§Jbo
H$) 25 g‘mYmZH$maH$ Am{U 18 dmOdr S>) 25 Mm§Jbo Am{U 18 dmOdr
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) A, ~ Am{U S> 3) ~, H$ Am{U S> 4) A, H$ Am{U S>

31) According to the Public Enterprises Survey 2008-09 on the basis of the self-evaluation by 125

Public Sector Enterprises

a) 47 were rated excellent. b) 35 very good.

c) 25 satisfactory and 18 fair. d) 25 good and 18 fair.

Answer Options :

1) a, b and c 2) a, b and d 3) b, c and d 4) a, c and d

32) ^maVmVrb XiUdiUmer g§~§{YV nwT>rbn¡H$s ~amo~a {dYmZ/Zo H$moUVo/Vr?
a) ^maVmV gZ 1837 ‘Ü¶o Q>nmb godoMr gwédmV Pmbr.
b) ^maV gaH$maZo 2003 ‘Ü¶o ~«m°S>~±S> YmoaU Omhra Ho$bo.
c) Xÿag§Mma gmYZm§Mo CËnmXZ H$aUmam ^maV EH$ à‘wI Xoe hmoÊ¶mgmR>r XÿaÜdZrgmR>r {deof Am{W©H$ joÌ C^maUo ho

AH$amì¶m n§Mdm{f©H$ ¶moOZoMo ‘hÎdmMo C{Ôï> hmoVo.
d) 1872 ‘Ü¶o Abo³Pm§S>a J«°h‘ ~ob ¶m§Zr XÿaÜdZrMo V§Ì {dH${gV Ho$bo.
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (a) Am{U (c) 3) (a) Am{U (d) 4) (b) Am{U (d)

32) Which of the following statement/s regarding communication in India is/are correct ?

a) Postal Service was started in India in the year 1837.

b) Government of India announced Broadband Policy in 2003.

c) Establishment of Special Economic Zones (SEZ) for India as a leading telecommunication

equipment manufacturing country was an important objective of the Eleventh Five Year Plan.

d) In 1872, Alexander Graham Bell developed the telephone technique.

Answer options :

1) (a) and (b) 2) (a) and (c) 3) (a) and (d) 4) (b) and (d)
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33) ^maVmV Xÿag§Mma joÌmV gdm©V àW‘ 5 Or godm H$moUË¶m H§$nZrZo gwê$ Ho$br?
a) ^maVr EAaQ>ob b) [abm¶Ýg {OAmo c) Am¶S>r¶m d) ~r.Eg.EZ.Eb.
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (a) Am{U (c) 3) (b) Am{U (d) 4) (c) Am{U (d)

33) Which company launched the first 5G Service in telecom sector in India ?

a) Bharti Airtel b) Reliance Jio c) Idea d) BSNL

Answer options :

1) (a) and (b) 2) (a) and (c) 3) (b) and (d) 4) (c) and (d)

6) Xm[aÚ« d ~oH$mar

1) gßQ>|~a 2001 ‘Ü¶o Odmha J«mg‘¥Õr ¶moOZm Am{U amoOJma ¶moOZm ........... ¶m ¶moOZoV EH${ÌV H$aÊ¶mV Amë¶m.
1) g§nyU© J«m‘rU amoOJma ¶moOZm 2) ñdU©O¶§Vr J«m‘ ñdamoOJma ¶moOZm
3) àYmZ ‘§Ìr J«m‘moX¶ ¶moOZm 4) ñdU©O¶§Vr ehar amoOJma ¶moOZm

1) In September 2001 the schemes of Jawahar Gram Samridhi Yojana and Employment Assurance

Scheme have been integrated with ..........

1) Sampoorna Grameen Rozgar Yojana 2) Swarnajayanti Gram Swarozgar Yojana

3) Pradha Mintri Gramoday Yojana 4) Swarnajayanti Shahari Rozgar Yojana

2) {’${bßgMm dH«$ hm H$emgmR>r Cn¶wº$ Amho?
1) ^mddmT>m{VaoH$mÀ¶m AënH$mbrZ ~Xbm§Mo {díbofU
2) ^mddmT>m{VaoH$mÀ¶m XrK©H$mbrZ ~Xbm§Mo {díbofU
3) ~oamoOJmar Am{U ^mddmT>m{VaoH$mÀ¶m XrK©H$mbrZ ~Xbm§Mo {díbofU
4) ~oamoOJmar Am{U ^mddmT>m{VaoH$mÀ¶m AënH$mbrZ ~Xbm§Mo {díbofU

2) The Philips curve is useful for

1) analysing short-run movements of inflation

2) analysing long-run movements of inflation

3) analysing long-run movements of unemployment and inflation

4) analysing short-run movements of unemployment and inflation

3) ""g§nyU© J«m‘rU amoOJma ¶moOZm""(SGRY) .......... ‘Ü¶o gwé H$aÊ¶mV Amcr.
1) gßQ>§|~a 2001 2) Zmoìh|~a 2001 3) {S>g|~a 2003 4) OmZodmar 2001

3) “Sampoorna Gramin Rozgar Yojaria” (SGRY) was launched in

1) September 2001 2) November 2001 3) December 2003 4) January 2001

4) 2011-12 ‘Ü¶o EHy$U l‘eº$s‘Ü¶o, {Z`{‘V amoOJma Am{U àmg§{JH$ amoOJmamMm H$m¶ {hñgm hmoVm ?
1) ñd¶§amoOJma 32%, {Z`{‘V 18%, àmg§{JH$ 30%
2) ñd¶§amoOJma 30%, {Z`{‘V 52%, àmg§{JH$ 18%
3) ñd¶§amoOJma 20%, {Z`{‘V 18%, àmg§{JH$ 62%
4) ¶mn¡H$s Zmhr
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4) What was the share of self employed, regular employees and casual labours in the total workforce

in 2011-12 ?

1) Self employed 52%, regular 18%, casual 30%

2) Self employed 30%, regular 52%, casual 18%

3) Self employed 20%, regular 18%, casual 62%

4) None of these

5) Am§Vaamï´>r¶ l‘ g§KQ>ZoÀ¶m 2018 À¶m AhdmbmZwgma ^maVm‘Ü¶o OJmVrb ...... Q> o̧$ ~oamoOJma bmoH$g§»¶m Amho.
1) 9.49 2) 10.49 3) 11.49 4) 10.91

5) According to International Labour Organization Report 2018, India has ...... per cent of world’s

unemployed population.

1) 9.49 2) 10.49 3) 11.49 4) 10.91

6) ‘hmË‘m Jm§Yr amï´>r¶ J«m‘rU amoOJma h‘r ¶moOZoA§VJ©V {‘iUmè¶m amoOJmam~m~V Imbrbn¡H$s H$moUVo {dYmZ ¶mo½¶ Amho?
1) dfm©VyZ 100 {Xdg J«m‘rU AHw$eb ì¶º$sg amoOJma {‘iVmo.
2) dfm©VyZ 100 {Xdg J«m‘rU AHw$eb Hw$Qw>§~mg amoOJma {‘iVmo.
3) dfm©VyZ 100 {Xdg J«m‘rU AHw$eb Hw$Qw>§~mVrb EH$m àm¡T> ì¶º$sg amoOJma {‘iVmo.
4) dfm©VyZ 100 {Xdg J«m‘rU AHw$eb Hw$Qw>§~mVrb àm¡T> ì¶º$s¨Zm amoOJma {‘iVmo.

6) Which of the following statement is correct regarding Mahatma Gandhi National Rural

Employment Guarantee Scheme ?

1) Employment to unskilled rural person for 100 days in a year

2) Employment to unskilled rural family for 100 days in a year

3) Employment to one adult person in an unskilled rural family for 100 days in a year

4) Employment to adult persons in a rural unskilled family for 100 days in a year

7) Imbrb {dYmZo {dMmamV ¿¶m.
A) n{hë¶m n§Mdm{f©H$ ¶moOZoÀ¶m AIoarg ^maVmVrb ~oamoOJmam§Mo à‘mU EHy$U H$Ë¶m© bmoH$g§»¶oÀ¶m 2.9% hmoVo.
~) Xþgè¶m n§Mdm{f©H$ ¶moOZoÀ¶m AIoarg ^maVmVrb ~oamoOJmam§Mo à‘mU 3.6% hmoVo.
H$) {Vgè¶m n§Mdm{f©H$ ¶moOZoÀ¶m AIoarg ^maVmVrb ~oamoOJmam§Mo à‘mU 4.5% hmoVo.
darbn¡H$s H$moUVo/Vr {dYmZ/{dYmZo ~amo~a Amho/V?
1) A Am{U ~ 2) ~ Am{U H$ 3) A Am{U H$ 4) A, ~ Am{U H$

7) Consider the following statements.

a) Atthe end of the First Five Year Plan the unemployment rate in India was 2.9% of the total

working population.

b) Unemployment rate in India was 3.6% at the end of Second Five Year Plan.

c) Atthe end of the Third Five Year Plan the unemployment rate in India was 4.5%.

Which of the above statement/s is/are correct ?

1) a and b 2) b and c 3) a and c 4) a, b and c

8) V|Sw>cH$a g{‘VrZo 2004-05 gmR>rMm A{Ic ^maVr¶ Xm[aÐç aofoMm A§XmO J«m‘rU ^mJmgmR>r  ..........Am{U
ehar ^mJmgmR>r .............. Xa‘hm XaS>moB© BVH$m A§Xm{OV Ho$cm hmoVm.
1) 446 Am{U 878 2) 446 Am{U 578 3) 578 Am{U 778 4) 578 Am{U 678

8) The Tendulkar Committee estimated All India Poverty line for the year 2004-05 for rural areas at

Rs. ...... and for urban areas at Rs. ...... per capita per month.

1) 446 and 878 2) 446 and 578 3) 578 and 778 4) 578 and 678
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9) a§JamOZ g{‘Vr, 2014 Zo df© 2011-12 gmR>r Xm[aÐç aofm X¡Z§{XZ XaS>moB© Cn^moJ IM© .......... ehar ^mJmgmR>r
Am{U .......... J«m‘rU ^mJmgmR>r {ZpíMV Ho$br Amho.
1) 50 én¶o Am{U 35 én¶o 2) 47 én¶o Am{U 32 én¶o
3) 55 én¶o Am{U 40 én¶o 4) 60 én¶o Am{U 45 én¶o

9) Rangarajan Committee, 2014 defined poverty line for 2011-12 at Rs. ............ per capita per day

consumption expenditure for urban areasa and Rs. ............... capita per day for rural areas.

1) Rs. 50 and Rs. 35 2) Rs. 47 and Rs. 32

3) Rs. 55 and Rs. 40 4) Rs. 60 and Rs. 45

10) Imbrb {ZH$fm§À¶m AmYmao 2011-12 ¶m dfm©gmR>r {Z¶moOZ Am¶moJmZo Xm[aX²Œ¶ aofm {ZpíMV Ho$br.
1) XaS>moB© CËnÞ à{V‘{hZm J«m‘rU ^mJmgmR>r ê$. 816 d ehar ^mJmgmR>r ê$. 1000
2) XaS>moB© CËnÞ à{V‘{hZm J«m‘rU ^mJmgmR>r ê$. 47 d ehar ^mJmgmR>r ê$. 32
3) XaS>moB© CËnÞ à{V‘{hZm J«m‘rU ^mJmgmR>r ê$. 49.63 d ehar ^mJmgmR>r ê$. 56.64
4) ¶m§n¡H$s Zmhr

10) For 2011-12 planning commission had defined poverty line with the help of following criteria.

1) Rs.816 and Rs. 1,000 per capita income per month in rural areas and urban areas respectively.

2) Rs.47 and Rs.32 per capita income per day in rural areas and urban areas respectively.

3) Rs.49.63 and Rs.56.64 per capita income per day in rural areas and urban areas respectively

4) None of these

11) ^maVmVrc Xm[aÐçmMo ‘moO‘mn/A§XmO H$moUË¶m AW©Vkm§Zr Ho$co ?
A) S>m°. Xm§S>oH$a Am{U aW ~) S>m°. S>m°ëQ>Z
H$) lr. nr. S>r. AmoPm S>) lr. cH$S>mdmcm
n¶m©¶r CÎmao :
1) ’$º$ A 2) A, ~ Am{U H$ 3) A, H$ Am{U S> 4) ¶mn¡H$s gd©

11) Which economist has done the estimate of poverty in India?

a) Dr. Dandekar and Rath b) Dr. Dalton

c) Shri P. D. Oza d) Shri Lakadawala

Answer Options :

1) a only 2) a, b and c 3) a, c and d 4) all above

12) ''EImXm Xoe Jar~ AgVmo H$maU Vmo Jar~M AgVmo '' ho {dYmZ ...... Mo Amho.
1) Or. {‘Xm©b 2) a°¾a Z³g© 3) am°{~Ýg 4) ‘me©b

12) ‘A country is poor, because it is poor’ this statement is of

1) G. Myrdal 2) Ragnar Nurks 3) Robbins 4) Marshall

13) ............ ¶m g{‘Ë¶m Xm[aÐçmer g§~§{YV ZmhrV.
a) Xm§S>oH$a Am{U aW g{‘Vr b) {‘Ýhmg g{‘Vr
c) Zaqgh‘ g{‘Vr d) Vmamnmoa g{‘Vr
n¶m©¶r CÎmao :
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (c) Am{U (d) 4) darc gd©



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : Mmcy KS>m‘moS>r  / 102

For Private Circulation Only

13) ....... these committees are not related to poverty.

a) Dandekar and Rath’s Committee b) Minhas Committee

c) Narasimham Committee d) Tarapore Committee

Answer options:

1) (a) and (b) 2) (b) and (c) 3) (c) and (d) 4) All of the above

14) 2011 ‘Ü¶o ............ ‘Yrc ~mc ‘¥Ë¶yXa gdm©{YH$ hmoVm.
1) Amgm‘ 2) npíM‘ ~§Jmc  3) amOñWmZ 4) ‘Ü¶àXoe

14) The Infant Mortality Rate (IMR) was highest in 2011 in ......

1) Assam 2) West Bengal 3) Rajasthan 4) Madhya Pradesh

15) RCH H$m ©̀H«$‘m§VJ©V à‘wI hñVjonm§‘Ü ò dJiVm gd© g‘m{dï> AmhoV :
1) AË`mdí`H$ àgyVr H$miOr
2) bgrH$aU
3) ‘wbm§‘Ü ò Aeº$nUm à{V~§Y Am{U {Z §̀ÌU
4) d¥Õm§‘Yrb Ag§gJ©OÝ` amoJm§Mo à{V~§Y

15) The major interventions under RCH programme includes ALL EXCEPT :

1) Essential obstetrics care

2) Immunization

3) Prevention and control of anemia in children

4) Prevention of non-communicable diseases in elderly

16) g§nyU© J«m‘rU ñdamoOJma ¶moOZm Ho$di ...... Ûmao am~dbr OmVo.
1) n§Mm¶V amO g§ñWm 2) gmd©O{ZH$-ImOJr ^mJrXmar
3) {dÎm ‘§Ìmb¶, H|$Ð gaH$ma 4) {dÎm ‘§Ìmb¶, amÁ¶ gaH$ma

16) The Sampoorna Grameen Swarozgar Yojana is implemented exclusivelythrough

1) Panchayat Raj Institutions 2) Public-Private Partnership

3) Ministry of Finance, Central Government 4) Ministry of Finance, State Government

17) gßQ>|~a 2001 ‘Ü¶o Odmha J«mg‘¥Õr ¶moOZm Am{U amoOJma ¶moOZm ........... ¶m ¶moOZoV EH${ÌV H$aÊ¶mV Amë¶m.
1) g§nyU© J«m‘rU amoOJma ¶moOZm 2) ñdU©O¶§Vr J«m‘ ñdamoOJma ¶moOZm
3) àYmZ ‘§Ìr J«m‘moX¶ ¶moOZm 4) ñdU©O¶§Vr ehar amoOJma ¶moOZm

17) In September 2001 the schemes of Jawahar Gram Samridhi Yojana and Employment Assurance

Scheme have been integrated with ..........

1) Sampoorna Grameen Rozgar Yojana 2) Swarnajayanti Gram Swarozgar Yojana

3) Pradha Mintri Gramoday Yojana 4) Swarnajayanti Shahari Rozgar Yojana

18) Imbrb {dYmZo {dMmamV ¿¶m.
A) n{hë¶m n§Mdm{f©H$ ¶moOZoÀ¶m AIoarg ^maVmVrb ~oamoOJmam§Mo à‘mU EHy$U H$Ë¶m© bmoH$g§»¶oÀ¶m 2.9% hmoVo.
~) Xþgè¶m n§Mdm{f©H$ ¶moOZoÀ¶m AIoarg ^maVmVrb ~oamoOJmam§Mo à‘mU 3.6% hmoVo.
H$) {Vgè¶m n§Mdm{f©H$ ¶moOZoÀ¶m AIoarg ^maVmVrb ~oamoOJmam§Mo à‘mU 4.5% hmoVo.
darbn¡H$s H$moUVo/Vr {dYmZ/{dYmZo ~amo~a Amho/V?
1) A Am{U ~ 2) ~ Am{U H$ 3) A Am{U H$ 4) A, ~ Am{U H$
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18) Consider the following statements.

a) Atthe end of the First Five Year Plan the unemployment rate in India was 2.9% of the total

working population.

b) Unemployment rate in India was 3.6% at the end of Second Five Year Plan.

c) Atthe end of the Third Five Year Plan the unemployment rate in India was 4.5%.

Which of the above statement/s is/are correct ?

1) a and b 2) b and c 3) a and c 4) a, b and c

19) ""g§nyU© J«m‘rU amoOJma ¶moOZm""(SGRY) .......... ‘Ü¶o gwé H$aÊ¶mV Amcr.
1) gßQ>§|~a 2001 2) Zmoìh|~a 2001 3) {S>g|~a 2003 4) OmZodmar 2001

19) “Sampoorna Gramin Rozgar Yojaria” (SGRY) was launched in

1) September 2001 2) November 2001 3) December 2003 4) January 2001

20) 2011-12 ‘Ü¶o EHy$U l‘eº$s‘Ü¶o, {Z`{‘V amoOJma Am{U àmg§{JH$ amoOJmamMm H$m¶ {hñgm hmoVm ?
1) ñd¶§amoOJma 32%, {Z`{‘V 18%, àmg§{JH$ 30% 2) ñd¶§amoOJma 30%, {Z`{‘V 52%, àmg§{JH$ 18%
3) ñd¶§amoOJma 20%, {Z`{‘V 18%, àmg§{JH$ 62% 4) ¶mn¡H$s Zmhr

20) What was the share of self employed, regular employees and casual labours in the total workforce

in 2011-12 ?

1) Self employed 52%, regular 18%, casual 30%

2) Self employed 30%, regular 52%, casual 18%

3) Self employed 20%, regular 18%, casual 62%

4) None of these

21) ‘hmË‘m Jm§Yr amï´>r¶ J«m‘rU amoOJma h‘r ¶moOZoA§VJ©V {‘iUmè¶m amoOJmam~m~V Imbrbn¡H$s H$moUVo {dYmZ ¶mo½¶ Amho?
1) dfm©VyZ 100 {Xdg J«m‘rU AHw$eb ì¶º$sg amoOJma {‘iVmo.
2) dfm©VyZ 100 {Xdg J«m‘rU AHw$eb Hw$Qw>§~mg amoOJma {‘iVmo.
3) dfm©VyZ 100 {Xdg J«m‘rU AHw$eb Hw$Qw>§~mVrb EH$m àm¡T> ì¶º$sg amoOJma {‘iVmo.
4) dfm©VyZ 100 {Xdg J«m‘rU AHw$eb Hw$Qw>§~mVrb àm¡T> ì¶º$s¨Zm amoOJma {‘iVmo.

21) Which of the following statement is correct regarding Mahatma Gandhi National Rural

Employment Guarantee Scheme ?

1) Employment to unskilled rural person for 100 days in a year

2) Employment to unskilled rural family for 100 days in a year

3) Employment to one adult person in an unskilled rural family for 100 days in a year

4) Employment to adult persons in a rural unskilled family for 100 days in a year

22) V|Sw>cH$a g{‘VrZo 2004-05 gmR>rMm A{Ic ^maVr¶ Xm[aÐç aofoMm A§XmO J«m‘rU ^mJmgmR>r  ..........Am{U
ehar ^mJmgmR>r .............. Xa‘hm XaS>moB© BVH$m A§Xm{OV Ho$cm hmoVm.
1) 446 Am{U 878 2) 446 Am{U 578
3) 578 Am{U 778 4) 578 Am{U 678

22) The Tendulkar Committee estimated All India Poverty line for the year 2004-05 for rural areas at

Rs. ...... and for urban areas at Rs. ...... per capita per month.

1) 446 and 878 2) 446 and 578

3) 578 and 778 4) 578 and 678
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23) a§JamOZ g{‘Vr, 2014 Zo df© 2011-12 gmR>r Xm[aÐç aofm X¡Z§{XZ XaS>moB© Cn^moJ IM© .......... ehar ^mJmgmR>r
Am{U .......... J«m‘rU ^mJmgmR>r {ZpíMV Ho$br Amho.
1) 50 én¶o Am{U 35 én¶o 2) 47 én¶o Am{U 32 én¶o
3) 55 én¶o Am{U 40 én¶o 4) 60 én¶o Am{U 45 én¶o

23) Rangarajan Committee, 2014 defined poverty line for 2011-12 at Rs. ............ per capita per day

consumption expenditure for urban areasa and Rs. ............... capita per day for rural areas.

1) Rs. 50 and Rs. 35 2) Rs. 47 and Rs. 32

3) Rs. 55 and Rs. 40 4) Rs. 60 and Rs. 45

24) Imbrb {ZH$fm§À¶m AmYmao 2011-12 ¶m dfm©gmR>r {Z¶moOZ Am¶moJmZo Xm[aX²Œ¶ aofm {ZpíMV Ho$br.
1) XaS>moB© CËnÞ à{V‘{hZm J«m‘rU ^mJmgmR>r ê$. 816 d ehar ^mJmgmR>r ê$. 1000
2) XaS>moB© CËnÞ à{V‘{hZm J«m‘rU ^mJmgmR>r ê$. 47 d ehar ^mJmgmR>r ê$. 32
3) XaS>moB© CËnÞ à{V‘{hZm J«m‘rU ^mJmgmR>r ê$. 49.63 d ehar ^mJmgmR>r ê$. 56.64
4) ¶m§n¡H$s Zmhr

24) For 2011-12 planning commission had defined poverty line with the help of following criteria.

1) Rs.816 and Rs. 1,000 per capita income per month in rural areas and urban areas respectively.

2) Rs.47 and Rs.32 per capita income per day in rural areas and urban areas respectively.

3) Rs.49.63 and Rs.56.64 per capita income per day in rural areas and urban areas respectively

4) None of these

25) ^maVmVrc Xm[aÐçmMo ‘moO‘mn/A§XmO H$moUË¶m AW©Vkm§Zr Ho$co ?
A) S>m°. Xm§S>oH$a Am{U aW ~) S>m°. S>m°ëQ>Z
H$) lr. nr. S>r. AmoPm S>) lr. cH$S>mdmcm
n¶m©¶r CÎmao :
1) ’$º$ A 2) A, ~ Am{U H$ 3) A, H$ Am{U S> 4) ¶mn¡H$s gd©

25) Which economist has done the estimate of poverty in India?

a) Dr. Dandekar and Rath b) Dr. Dalton

c) Shri P. D. Oza d) Shri Lakadawala

Answer Options :

1) a only 2) a, b and c 3) a, c and d 4) all above

26) ''EImXm Xoe Jar~ AgVmo H$maU Vmo Jar~M AgVmo '' ho {dYmZ ...... Mo Amho.
1) Or. {‘Xm©b 2) a°¾a Z³g© 3) am°{~Ýg 4) ‘me©b

26) ‘A country is poor, because it is poor’ this statement is of

1) G. Myrdal 2) Ragnar Nurks 3) Robbins 4) Marshall

27) ............ ¶m g{‘Ë¶m Xm[aÐçmer g§~§{YV ZmhrV.
a) Xm§S>oH$a Am{U aW g{‘Vr b) {‘Ýhmg g{‘Vr
c) Zaqgh‘ g{‘Vr d) Vmamnmoa g{‘Vr
n¶m©¶r CÎmao :
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (c) Am{U (d) 4) darc gd©
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27) ....... these committees are not related to poverty.

a) Dandekar and Rath’s Committee b) Minhas Committee

c) Narasimham Committee d) Tarapore Committee

Answer options:

1) (a) and (b) 2) (b) and (c) 3) (c) and (d) 4) All of the above

7) A{W©H$ gwYmaUm

1) Owb¡ 1991 nmgyZ AW©ì¶dñWoVrb nwadR>m ~mOy gwYmaÊ¶mgmR>r ì¶mnH$ CXmarH$aUmMo Cnm¶ bmJy Ho$bo OmV AmhoV.
¶mVrb A{YH$ ‘hÎdmMo AmhoV …
A) ì¶mnma Am{U ^m§S>db àdmh gwYmaUm ~) Am¡Úmo{JH$ {d{Z¶§ÌU
H$) {ZJwªVdUyH$ Am{U gmd©O{ZH$ CÚmoJ gwYmaUm S>) {dÎmr¶ joÌ gwYmaUm
n¶m©¶r CÎmao …
1) A Am{U ~ 2) H$ Am{U S> 3) A, ~ Am{U H$ 4) A, ~, H$ Am{U S>

1) Since July 1991, comprehensive liberalization measures have been undertaken to improve the

supply side of the economy. Among these the more important are :

a) Trade and capital flows reforms b) Industrial deregulation

c) Disinvestment and Public Enterprises Reformsd) Financial sector reforms

Answer Options :

1) a and b 2) c and d 3) a, b andc 4) a, b, c and d

8) gd©gm‘mdoeH$Vm d {dH$mg

1) 2023 ‘Yrc amÁ¶mÀ¶m AW©g§H$ënm‘Ü¶o ‘hmË‘m Omo{Vamd ’w$co OZ Amamo½¶ ¶moOZoV CnMmamMr dm{f©H$ ‘¶m©Xm {H$Vr
aH$‘oZo dmT>{dÊ¶mMo Kmo{fV H$aÊ¶mV Amco Amho ?
A) én¶o 1 cmImdéZ 5 cmI ~) én¶o 1.50 cmImdéZ 5 cmI
H$) én¶o 2 cmImdéZ 4 cmI S>) én¶o 2.50 cmImdéZ 4 cmI
n¶m©¶r CÎmao :
1) ’$º$ H$ Am{U S> ~amo~a 2) ’$º$ ~ ~amo~a
3) ’$º$ S> ~amo~a 4) ’$º$ A, Am{U H$ ~amo~a

1) In the state budget of 2023, the annual limit of treatment in Mahatma Jyotirao Phule Jan Arogya

Yojana has been announced to increase by what amount?

a) 5 lakhs from Rs 1 lakh b) 5 lakhs from Rs 1.50 lakhs

c) 4 lakhs from Rs 2 lakhs d) 4 lakhs from Rs 2.50 lakhs

Answer options :

1) Only C and D are correct 2) Only B is correct

3) Only d is correct 4) Only a, and c are correct

2) JmonrZmW ‘w§S>o eoVH$ar AnKmV gwajm gmZwJ«h AZwXmZ ¶moOZoÀ¶m Am{W©H$ ghmæ¶mH$[aVm cm^mWu H$moUË¶m d¶moJQ>mVrc
Agmdm ?
1) 18 Vo 58 df© 2) 10 Vo 75 df© 3) 18 Vo 75 df© 4) 21 Vo 58 df©

2) What age should be the beneficiary for the financial assistance of Gopinath Munde Shetkari

Accident Safety Grant Scheme?

1) 18 to 58 years 2) 10 to 75 years 3) 18 to 75 years 4) 21 to 58 years
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3) Xm[aÐç aofoImcrc {dYdm ‘{hcocm B§{Xam Jm§Yr amï´>r¶ {Zd¥ÎmrdoVZ ¶moOZo A§VJ©V {Zd¥ÎmrdoVZmMm cm^ {‘iÊ¶mgmR>r
{dYdm ‘{hcoMo d¶ {H$Vr AgUo Amdí¶H$ Amho ?
1){H$‘mZ 18 df© Vo 65 dfm©n¶ªV 2) {H$‘mZ 60 df© Vo 80 dfm©n¶ªV
3) {H$‘mZ 40 df© Vo 79 dfm©n¶ªV 4) {H$‘mZ 65 d Ë¶mdarc gd©

3) What is the age of a widow below the poverty line to get the benefit of pension under the Indira

Gandhi National Pension Scheme?

1) Minimum 18 years to 65 years 2) Minimum 60 years to 80 years

3) Minimum 40 years to 79 years 4) Minimum 65 and all above

4) Ooìhm EImÚm Hw$Qw>§~mMm d§{MVVm JwUm§H$ ......... Q> o̧$ qH$dm Ë¶mnojm A{YH$ AgVmo, Ë¶mdoir Vo Hw$Qw>§~ AZoH$ A§Jm§Zr
(~hþ{‘V) X[aÐr ‘mZbo OmVo.
1) 20.33 2) 50.33 3) 40.33 4) 33.3

4) If deprivation score of a household is ......... percent or greater, then that household is called

multidimensionally poor.

1) 20.33 2) 50.33 3) 40.33 4) 33.3

5) {ZamYma ì¶º$s¨Zm ‘XV H$aÊ¶mÀ¶m CÔoemZo 'g§O¶ Jm§Yr {ZamYma AZwXmZ ¶moOZo'A§VJ©V EH$b bm^mWubm Xa‘hm {H$Vr
a¸$‘ {Xbr OmVo?
1) é. 300 2) é. 600 3) é. 900 4) é. 1,200

5) What amount is given to the single beneficiary per month under ‘Sanjay Gandhi Niradhar Anudan

Yojana’, which aims to help the destitute persons?

1) Rs. 300 2) Rs. 600 3) Rs. 900 4) Rs. 1,200

6) gwH$Ý¶m ¶moOZoA§VJ©V ‘{hcm d ~mc{dH$mg {d^mJmÛmao ‘hmamï´> amÁ¶mVrc Xm[aÐç aofoImcr OÝ‘Umè¶m nmÌ ‘wcrÀ¶m Zm§do
OÝ‘V: {H$Vr a¸$‘ ‘wcrÀ¶m OÝ‘mÀ¶m 1 dfm©À¶m AmV Am¶w{d©‘m ‘hm‘§S>imÀ¶m ¶moOZoV Jw§V{dÊ¶mV ¶oVo ?
1) é. 21,200/- 2) é. 22,200/- 3) é. 25,000/- 4) é. 23,000/-

6) Under Sukanya Yojana, how much amount is invested in the life insurance corporation scheme

within 1 year of the girl child's birth in the name of the eligible girl child born below the poverty

line in Maharashtra State by the Department of Women and Child Development?

1) Rs. 21,200/- 2) Rs. 22,200/- 3) Rs. 25,000/- 4) Rs. 23,000/-

7) nÌH$mamÀ¶m H$ë¶mUmgmR>r Imcrcn¡H$s H$moUVm gwdU©‘hmoËgdr nÌH$ma H$ë¶mU {ZYr ñWmnZ H$aÊ¶mV Amcm Amho?
1) ‘hmË‘m Omo{Vamd ’w$co 2) AmMm¶© ~miemór Om§^oH$a
3) ñdm‘r e§H$aamd MìhmU 4) ñdJu¶ ¶ed§Vamd MìhmU

7) Which of the following Golden Jubilee Journalists Welfare Fund has been established for the

welfare of journalists?

1) Mahatma Jyotirao Phule 2) Acharya Balshastri Jambhekar

3) Swami Shankarao Chavan 4) Late Yashwantrao Chavan

8) AZwgy{MV OmVr d Zd~m¡Õ KQ>H$m§Vrc Xm[aÐçaofoImcrc ŷ‘r{hZ Hw$Qw>§~mZm O‘rZ CncãY H$éZ XoÊ¶mgmR>r-
Imcrcn¡H$s H$moUVr ¶moOZm amÁ¶mV am~{dÊ¶mV ¶oVo ?
1) S>m°. ~m~mgmho~ Am§~oS>H$a H¥$fr ñdmdc§~Z ¶moOZm
2) H$‘©dra XmXmgmho~ Jm¶H$dmS> g~irH$aU d ñdm^r‘mZ ¶moOZm
3) {~a²gm ‘w§S>m H¥$fr H«$m§Vr ¶moOZm
4) S>m°. n§Om~amd Xoe‘wI O¡{dH$ eoVr ¶moOZm
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8) Which of the following scheme is implemented in the state to provide land to landless families

belonging to scheduled castes and neo-Buddhist groups below the poverty line?

1) Dr. Babasaheb Ambedkar Krishi Swalamban Yojana

2) Karmaveer Dadasaheb Gaikwad Empowerment and Swabhiman Yojana

3) Birsa Munda Krishi Kranti Yojana

4) Dr. Punjabrao Deshmukh Organic Farming Scheme

9) Imcrcn¡H$s H$moUVr/H$moUË¶m ¶moOZm ‘{hcm d ~mc{dH$mg {d^mJm‘m’©$V am~{dÊ¶mV ¶oVmV ? CÎmamMm ¶mo½¶ n¶m©¶ {ZdS>m.
A) dZ ñQ>m°n g|Q>a ~) C‚mdcm H$)gwH$Ý¶m g‘¥Õr S>) ñdmYma
n¶m©¶r CÎmao :
1) ’$º$ A d ~ 2) ’$º$ ~, H$ d S> 3) ’$º$ A, ~ d S> 4) ’$º$ A, H$ d S>

9) Which of the following schemes are/are implemented through the Department of Women and

Child Development? Choose the correct answer option.

A) One stop center B) Ujjwala C) Sukanya Samriddhi d) Swadhar

Answer options :

1) A and B only 2) B, C and D only 3) A, B and D only 4) A, C and D only

10) XrZX¶mc A§Ë¶moX¶ ¶moOZo C{Ôï> Imcrcà‘mUo H$moUVo Amho ?
1) ehar emco¶ nmofU H$m¶©H«$‘
2) J«m‘rU ^maVmMr JaO {dMmamV KoD$Z Cƒ {ejU g§ñWm§‘Ü¶o g§ñWm§Ë‘H$ j‘Vm C^maUo.
3) Jar~m§gmR>r ZmJar gw{dYm§Mr {Z{‘©Vr H$aUo.
4) ñd¶§ghm¶Vm JQ>mÀ¶m ‘mÜ¶‘mVyZ J«m‘rU Jar~m§À¶m geº$ g§ñWm C^maÊ¶mda ^a XoUo.

10) Which of the following is the objective of Deendayal Antyodaya Yojana?

1) Urban School Nutrition Programme

2) Building institutional capacity in higher education institutions considering the needs of rural

India.

3) Creating civic amenities for the poor.

4) Emphasis on building strong institutions of the rural poor through self-help groups.

11) OZZr gwajm `moOZm (JSY) hr .................. àm`mo{OV `moOZm Amho.
1) WHO 2) UNICEF 3) amÁ` gaH$ma 4) H|$Ð gaH$ma

11) Janani Suraksha Yojana (JSY) is .................. sponsored scheme.

1) WHO 2) UNICEF 3) State Govt 4) Central Govt

12) PMJAY `moOZoÀ`m g§X^m©V Imbrb {dYmZo {dMmamV ¿`m :
a) hr OJmVrb gdm©V ‘moR>r Amamo½` {d‘m `moOZm Amho, Or nyU©nUo gaH$maÛmao {dÎmnwadR>m Ho$br OmVo.
b) ho H$m¡Qw>§{~H$ AmH$ma, d` qH$dm qbJ `mda {Z~ªYm§gh Amamo½` godm godm§‘Ü ò gd© ZmJ[aH$m§Zm H°$ebog àdoe àXmZ

H$aVo.
c) ho ̂ maVmVrb gmd©O{ZH$ qH$dm ImOJr é½Umb`mV Xwæ`‘ Am{U àmXo{eH$ XoI^mb é½Umb`mV àdoemgmR>r à{V Hw$Qw>§~

à{V df© é. 5 bmI H$ìha àXmZ H$aVo.
d) `m‘Ü ò hm°pñnQ>bm`PoeZnyduÀ`m 3 {Xdgm§n ª̀V Am{U hm°pñnQ>bm`PoeZZ§VaÀ`m 15 {Xdgm§À`m EŠñàog Ogo H$s

{ZXmZ Am{U Am¡fYo g‘m{dï> AmhoV.
darbn¡H$s H$moUVr {dYmZo gË` AmhoV/AmhoV?
1) a Am{U b ’$º$ 2) a, b Am{U c ’$º$ 3) b, c Am{U d ’$º$ 4) a, c Am{U d ’$º$
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12) Consider the following statements in context to PMJAY Scheme :

a) It is World's largest Health Insurance Scheme, fully financed by the Government.

b) It provides cashless access to all citizens to health care services with restrictions on family

size, age or gender.

c) It provides cover of Rs.5 lakh per family per year for secondary and tertiary care hospitalisation

access at empanelled public or private hospital in India.

d) It covers upto 3 days of pre hospitalisation and 15 Days post hospitalisation express such as

diagnostics and medicines.

Which of the above statements is/are true ?

1) a and b only 2) a, b and c only 3) b, c and d only 4) a, c and d only

13) emco¶ nmofU Amhma ¶moOZoer nwT>rcn¡H$s H$moUË¶m ~m~r g§~§{YV AmhoV ?
a) àmW{‘H$ {ejUmMo gmd©{ÌH$aU H$aUo. b) {dÚmÏ¶mªMr nQ>Zm|XUr dmT>{dUo.
c) ‘mo’$V JUdoe dmQ>n H$aUo. d) darc gd©
darcn¡oH$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (a) Am{U (c) 4) ’$º$ (d)

13) ‘Which of the following is related to school mid-day meal programme ?

a) Universalization of primary education b) Increasing student enrolment

c) Distribute free uniforms d) All of the above

Which of the statement(s) given above is/are correct ?

1) (a) and(b) 2) (b) and (c) 3) (a) and (c) 4) Only (d)

14) nwT>rc {dYmZm§Mm {dMma H$am :
{dYmZ (I) : ‘{hcm Am{U ~mcHo$ ¶m§Zm EH$mpË‘H$ cm^ XoÊ¶mgmR>r {‘eZ eº$s ¶moOZm gwé H$aÊ¶mV Amcr.
{dYmZ (II) : 2022-23 ¶m dfm©H$[aVm "{‘eZ dmËgë¶gmR>r" é. 2,472 H$moQ>r BVH$s VaVyX H$aÊ¶mV Amcr.
n¶m©¶r CÎmao :
1) {dYmZo (II) ~amo~a Amho, MyH$ Amho 2) {dYmZ (I) ~amo~a Amho, (II) MyH$ Amho.
3) XmoÝhr {dYmZo MyH$ AmhoV 4) XmoÝhr {dYmZo ~amo~a AmhoV

14) Consider the following statements :

Statement (I) : The Mission Shakti Yojana was launched to provide integrated benefits to women

and children.

Statement (I) : A provision of T 2,472 crore has been made for ‘Mission Vatsalya’ for the year

2022 — 23.

Answer options :

1) Statement (II) is correct, (I) is incorrect 2) Statement (I) is correct, (II) is incorrect

3) Both statements are incorrect 4) Both statements are correct

15) Imbrb OmoS>çm Owidm.
A - emídV {dH$mgmMr Ü¶o¶o ~ - g§~§YrV AgUmè¶m ~m~r
A) emídV {dH$mgmMo Ü¶o¶ H«$. 10 1) hdm‘mZ {H«$¶m
~) emídV {dH$mgmMo Ü¶o¶ H«$. 13 2) O{‘Zrdarb OrdZ
H$) emídV {dH$mgmMo Ü¶o¶ H«$. 14 3) Ag‘mZVm H$‘r H$aUo
S>) emídV {dH$mgmMo Ü¶o¶ H«$. 15 4) nmÊ¶mImbrb OrdZ

5) XmarÐç {Z‘y©bZ
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n¶m©¶r CÎmao …
1) A - 1, ~ - 2, H$ - 3, S> - 4 2) A - 2, ~ - 3, H$ - 5, S> - 4
3) A - 5, ~ - 2, H$ - 4, S> - 1 4) A - 3, ~ - 1, H$ - 4, S> - 2

15) Match the following list.

A — Sustainable Development Goals B — Related items

a) Sustainable Development Goal 10 1) Climate action

b) Sustainable Development Goal 13 2) Life on land

c) Sustainable Development Goal 14 3) Reduce inequalities

d) Sustainable Development Goal 15 4) Life below water

5) Poverty alleviation

Answer options :

1) a — 1, b — 2, c — 3, d — 4 2) a — 2, b — 3, c — 5, d — 4

3) a — 5, b — 2, c — 4, d — 1 4) a — 3, b — 1, c — 4, d — 2

16) emídV {dH$mg Ü ò̀  (SDG) - bú` 3.1 Zwgma, 2030 n ª̀V JmR>bo OmUmao ‘mVm‘¥Ë ỳ à‘mUmMo C{Ôï> à{V 1,00,000
{Od§V OÝ‘m§‘mJo ........... Amho.
1) 150 nojm H$‘r 2) 100 nojm H$‘r 3) 70 nojm H$‘r 4) 50 nojm H$‘r

16) The target of maternl mortality ratio, to be achieved by 2030, as per Sustainable Development

Goal (SDG) - Target 3.1, is ........... per 1,00,000 live births.

1) Less than 150 2) Less than 100 3) Less than 70 4) Less than 50

17) 2015 ‘Ü ò g§̀ wº$ amï´>m§Zr bmoH$, J«h Am{U g‘¥ÕrgmR>r {H$Vr emídV {dH$mg bú ò (SDGs) ñdrH$mabr AmhoV?
1) 15 2) 16 3) 17 4) 18

17) How many Sustainable Development Goals (SDGs) are adopted by United Nations in 2015 for

its agenda of action for people, planet and prosperity ?

1) 15 2) 16 3) 17 4) 18

18) H$moUVm SDG gd© d`moJQ>mVrb gdmªgmR>r Amamo½`Xm`r OrdZ gw{ZpíMV H$aÊ`mgmR>r Am{U H$ë`mUmgmR>r àmoËgmhZ
XoVo?
1) 2 2) 3 3) 6 4) 9

18) Which SDG deals to ensure health lives and promote well-being for all at all ages ?

1) 2 2) 3 3) 6 4) 9

19) ‘mZdr OrdZ‘mZmMr VwbZm doJdoJù`m Xoem§‘Yrb Ûmao Ho$br OmD$ eH$Vo
1) DALY 2) HDI 3) PQLI 4) HPI

19) Human Living Standards can be compared in different countries by

1) DALY 2) HDI 3) PQLI 4) HPI

20) eyÝ`mYm[aV AW©g§H$ënmMm dmna ‘hmamï´>mV ...... ‘Ü¶o H$aÊ¶mV Ambm.
1) 1980 2) 1982 3) 1984 4) 1986

20) Zero based budget was used in Maharashtra in

1) 1980 2) 1982 3) 1984 4) 1986
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21) gm‘m{OH$ {dH$mg ................gy{MV H$aVmo.
A) ‘mZdmMo H$ë¶mU ~) GNP ‘Ü¶o dmT
H$) gm‘m{OH$ g§KQ>ZoV gwYmaUm S>) gm‘m{OH$ Ý¶m¶
n¶m©¶r CÎmao : >
1) A, H$ d S> 2) A, ~ d H$ 3) A, ~ d S> 4) ~, H$ d S>

21) The social development implies

a) Welfare of human being b) Rise in GNP

c) Improvement in social organisation d) Social justice

Answer Options :

1) a, c and d 2) a, b and c 3) a, b and d 4) b, c and d

22) ^m¡{VH$ JwUdÎmm {ZX}em§H$ (PQLI) ‘Ü ò dJiVm gd© g‘m{dï> AmhoV
1) gmjaVm 2) ~mb‘¥Ë ỳ Xa 3) EH$ d`mMo Am ẁ‘m©Z 4) XaS>moB© GDP

22) Physical Quality of life Index (PQLI) include all except

1) Literacy 2) Infant mortality rate

3) Life expectancy at age one 4) GDP per capita

23) WHO Zwgma amhUr‘mZmÀ`m ‘mZH$m§‘Ü ò dJiVm gd© g‘m{dï> AmhoV
1) ñdÀN>Vm Am{U nmofU 2) CËnÞ Am{U ì`dgm`
3) Amamo½`mÀ`m VaVwXrMr nmVir 4) ‘mZdr h¸$

23) Standard of living as per WHO includes all except

1) Sanitation and nutrition 2) Income and occupation

3) Level of provision of health 4) Human Rights

24) ‘mZdr {dH$mg hr cmoH$m§À¶m {ZdS>r {dñVmaUmar à{H«$¶m AgyZ, Ë¶mV nwT>rc ~m~tMm g‘mdoe hmoVmo :
a) XrK©H$mcrZ Am{U {ZamoJr Am¶wî¶ b) {ejU
c) amhUr‘mZmMm CÎm‘ XOm© d) Xm[aÐçmV cjUr¶ KQ>
n¶m©¶r CÎmao :
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (a), (b),Am{U (c) 4) darc gd©

24) Human Development is a process of enlarging people’s choices. It includes the following things:

a) Long and healthy life b) Education

c) Decent standard of living d) Substantial Reduction in poverty

Answer options :

1) Only (a) and (b) 2) Only (b) and (c) 3) Only (a), (b) and (c) 4) All of the above

25) ‘mZdr {dH$mg {ZX}em§H$m‘Ü¶o ~hþAm¶m‘r Xm[aÚ« {ZX}em§H$mMo ......, ......, ......, VrZ Am¶m‘ à{Vq~{~V hmoVmV.
A) Amamo½¶ ~) CËnÞ H$) {ejU S>) amhUr‘mZ
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) ~, H$ Am{U S> 3) A, H$ Am{U S> 4) A, ~ Am{U S>

25) Multidimensional poverty index has three dimensions mirroring in the Human Development index.

a) Health b) Income c) Education d) Living standards

Answer Options :

1) a, b and c 3) a, c and d 2) b, c and d 4) a, b and d
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26) 'emídV {dH$mgmMr Ü¶o¶o - 2015' ‘Ü¶o Imbrb joÌm§Mm g‘mdoe hmoVmo.
A) gd© ñdê$nmVrb gmd©{ÌH$ Xm[aÐç Xÿa H$aUo. ~) ’$º$ O{‘ZrdaMo OrdZ g‘¥Õ H$aUo.
H$) qbJ g‘^md {Z‘m©U H$aUo. S>) Ü¶o¶mgmR>r ^mJrXmar H$aUo.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
1) A, ~, H$ Am{U S> 2) ~, H$ Am{U S> 3) A, ~ Am{U S> 4) A, H$ Am{U S>

26) ‘Sustainable Development Aims —2015’ includes the following areas

a) Eradication of universal poverty in all sector b) Enriching life on land only

c) Creating gender equality d) Partnering for a goal

Which of the above sentences are correct ?

1) a, b, c and d 2) b, c and d 3) a, b and d 4) a, c and d

27) Imbrb {dYmZo {dMmamV ¿¶m.
A) dmT> gd©g‘mdoeH$ AgVo Ooìhm Vr amoOJma {Z‘m©U H$aVo.
~) {Z¶VH$m{bH$ l‘eº$s gd}jU Xe©{dVo H$s gßQ>|~a 2021 d gßQ>|~a 2022 ‘Ü¶o g§nboë¶m {V‘mhrV 15 df} Am{U

Ë¶mhÿZ A{YH$ d¶mÀ¶m bmoH$m§gmR>r ehar ~oamoOJmarMm Xa 7.2 Q>³³¶m§dê$Z 9.8 Q>³³¶m§n¶ªV dmT>bm Amho.
darbn¡H$s H$moUVo / Vr {dYmZ / Zo ¶mo½¶ Amho / V?
1) Ho$di A ¶mo½¶ Amho 2) Ho$di ~ ¶mo½¶ Amho
3) XmoÝhr A Am{U ~ ¶mo½¶ AmhoV 4) darbn¡H$s H$moUVohr Zmhr

27) Consider the following statements.

a) Growth is inclusive when it creates jobs.

b) The periodic labour force survey shows that the Urban unemployment rate for people aged 15

years and above increased from 7.2 percent to 9.8 percent during quarter ending September

2021 to quarter ending September 2022.

Which of the statement/s given above is/are correct ?

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) None of the above

28) 2014 ‘Ü¶o emgZmZo {dÎmr¶ g‘mdoeZmgmR>r Imbrbn¡H$s H$moUVr ¶moOZm A§‘bmV AmUbr?
1) {ZíMbZrH$aU ¶moOZm 2) g§nÎmr {ddaU ¶moOZm
3) àYmZ‘§Ìr OZYZ ¶moOZm 4) darbn¡H$s gd©

28) In 2014, the Government implemented which of the following Scheme for financial inclusion ?

1) Demonetization Scheme 2) Property Disclosure Scheme

3) Pradhan Mantri Jan Dhan Yojana 4) All of the above

29) UNDP’s Mm AmXoe Amho :
A) hdm‘mZ ~XbmMo ‘yë`m§H$Z
~) J[a~rer bT>m
H$) ‘mZdr H$ë`mU, n`m©daU g§dY©Z Am{U g‘mZVm
S>) n`m©daUmg AZwHy$b YmoaUo Am{U nÕVr bmJy H$aUo
n¶m©¶r CÎmao …
1) (A) Am{U (~) 2) ’$º$ (~) 3) (H$) Am{U (S>) 4) ’$º$ (S>)
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29) UNDP’s mandate is :

a) the assessment of climate change

b) to fight poverty

c) human well-being, environmental conservation and equity

d) implementing environmentally sound policies and practices

Answer options :

1) (a) and (b) 2) Only (b) 3) (c) and (d) 4) Only (d)

30) gmd©O{ZH$ {dVaU ì`dñWoVyZ nmÌ Zgboë`m Hw$Qw>§~m§Zm H$mTy>Z Q>mH$Ê`mgmR>r àm{áH$a {ZYm©aH$mMm {ZH$f dmnaÊ`mMm
gaH$maMm ‘mZg Amho.
1) Jhÿ 2) Vm§Xyi 3) gmIa 4) Jhÿ, Vm§Xyi Am{U Vob

30) The Government intends to use the income tax assessee’s criterion to eliminate non-eligible

families for from public distribution system.

1) Wheat 2) Rice 3) Sugar 4) Wheat, rice and oil

31) AÞnyUm© ¶moOZoMo cm^mWu H$moU AmhoV ?
1) emioVrc ‘wcr 2) àmg§{JH$ H$m‘Jma
3) amï´>r¶ d¥ÕmnH$mi {Zd¥Îmr doVZ ¶moOZoImcr ZmhrV Ago Á¶oð> ZmJ[aH$ 4) {Zd¥Îm g¡{ZH$

31) Who are the beneficiaries of Annapurna Yojana ?

1) School girls 2) Casual labours

3) Senior citizens who are not under National Old Age Pension Scheme 4) Retired soldiers

32) AmOr{dH$m J«m‘rU EŠgàog `moOZm (AGEY) J«m‘rU ^mJmV gwa{jV, nadS>Umar Am{U gm‘wXm{`H$ {ZarjU Ho$boë`m
dmhVyH$ godm àXmZ H$aVo. dmhZo Ë`m§À`m ‘mbH$sMr Am{U MmbdVmV
1) J«m‘n§Mm`V 2) ghH$mar g§ñWm
3) ñd §̀-‘XV JQ>mMo gXñ` (SHG) 4) 4) darbn¡H$s H$mhrhr Zmhr

32) Aajeevika Grameen Express Yojana (AGEY) provides safe, affordable and community monitored

transport services to rural areas. The vehicles are owned and operated by

1) Grampanchayat 2) Co-operative society

3) Member of Self-Help Group (SHG) 4) 4) None of the above

33) `mo½` OmoS>çm Owidm :
  ̀ moOZm                    CÔoe
i) nrE‘-Amem a) nrEgEg A§VJ©V Vob {~`mUo Am{U H$S>YmÝ ò IaoXr H$aUo Am{U ’$m`Xoera {H$‘Vr

àXmZ H$aUo
ii) E‘Am¶Eg-nrEgEg b) nrEgEg, nrS>rnrEg Am{U nrnrEgEg Mm g‘mdoe Agboë`m eoVH$è`m§Zm E‘Egnr

gw{Z{üV H$aÊ`mgmR>r
iii) nrE‘-{H$gmZ c) eoVH$ar Hw$Qw>§~m§Zm CËnÞmMm AmYma XoÊ`mgmR>r
iv) nrE‘OrEgdm` d) H$ZopŠQ>pìhQ>r gwYmaÊ`mgmR>r J«m‘rU añVo {dH$mg
Vo H$‘r BZnwQ>gh dmT>{dbo OmD$ eH$VmV
n`m©¶r CÎmao :
1) i-a ii-b iii-c iv-d

2) i-a ii-d iii-b iv-c

3) i-b ii-a iii-c iv-d

4) i-c ii-b iii-a iv-d
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33) Match the correct pairs :

   Schemes                   Purpose

i) PM-AASHA a) procurement of oil seed and pulses under PSS and provide remunerative

prices

ii) MIS-PSS b) to ensure MSP to farmers comprising of PSS, PDPS and PPSS

iii) PM-KISAN c) to provide income support to farmer families

iv) PMGSY d) rural road development to improve connectivity

They can be grown with fewer inputs

Answer options :

1) i-a ii-b iii-c iv-d

2) i-a ii-d iii-b iv-c

3) i-b ii-a iii-c iv-d

4) i-c ii-b iii-a iv-d

34) ^maVmÀ`m 2022-23 À`m Am{W©H$ gd}jUmZwgma, J«mhH$ AÞ qH$‘V {ZX}em§H$ (CFPI) da AmYm[aV AÞ ‘hmJmB©
Am{W©H$ df© 2022 ‘Ü ò 3.8 Q>³³`m§dê$Z 2023 ‘Ü ò 7 Q>³³`m§da nmohmoMbr. XadmT>rgmR>r gdm©V OmñV O~m~Xma
Agboë`m XmoZ à‘wI MmbH$m§Mr {ZdS> H$am Am{W©H$ df© 2023 ‘Ü ò AÞYmÝ` ‘hmJmB©V.
1) ‘m§g Am{U ‘mgo Am{U Xw½YOÝ` nXmW©
2) ‘gmbo Am{U ’$io
3) H$S>YmÝ ò Am{U Ë`mMr CËnmXZo Am{U ‘gmbo
4) V¥UYmÝ ò Am{U Ë`mMo CËnmXZ Am{U XyY Am{U Ë`mMo CËnmXZ

34) As per Economic survey of India 2022-23, food inflation based on Consumer Food Price Index

(CFPI) climbed to 7 per cent in financial year 2023 from 3.8 per cent in financial year 2022.

Select the two top most drivers responsible for hike in food inflation in FY 2023.

1) Meat & Fish and Milk Products

2) Spices and Fruits

3) Pulses & its products and spices

4) Cereals & its product and milk & its product

35) 1990 ‘Ü ò Staatz Zo XrK©H$mbrZ AmYmamda ImÌr XoÊ`mMr j‘Vm Aer ì`m»`m Ho$br Amho H$s AÞ àUmbr EHy$U
bmoH$g§» òbm doioda, {dídmgmh© Am{U nm¡{ï>H$Ñï²>`m nwaoem AÞ nwadR>çmgmR>r àdoe àXmZ H$aVo.
1) gmd©O{ZH$ {dVaU ì`dñWm 2) AÞ gwajm
3) aoeqZJ ì`dñWm 4) AÞ gwajm

35) Staatz in 1990 defined as the ability to assure on a long term basis, that the food system provides

the total population access to a timely, reliable and nutritionally adequate supply of food.

1) Public distribution system 2) Food safety

3) Rationing system 4) Food security

36) AÞ gwajm Am{U ‘mZH$ H$m`Xm 2006 Zwgma AÞ åhUyZ n[a^m{fV Ho$boë`m {d{dY nXmWmªn¡H$s Imbrb AmhoV/AmhoV.
a) AZwdm§{eH$[aË`m gwYm[aV qH$dm A{^`m§{ÌH$s AÞ b) AÞ CnMma H$aVmZm dmnabobo nmUr
c) {Od§V àmUr d) Am¡fYo Am{U Am¡fYr CËnmXZo
darbn¡H$s H$moUVo/`mo½` AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) darb gd©
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36) Following is/are among the various substances defined as “Food” according to “Food Safety and

Standards Act 2006”.

a) Genetically modified or engineered food

b) Water used during treatment of food

c) Live animals

d) Drugs and medicinal products

Which of the above is/are correct ?

1) a only 2) a and b only 3) a,b and c only 4) All of the above

9) {dXoer ì¶mnma

1) ‘oñZo Z’$m åhUOo :
1) Am`H$a {ddaUnÌmV XmIdbobm Z’$m 2) AJXr {H$‘mZ Z’$m
3) {‘eZÛmao H$‘mdbobm Z’$m 4) darbn¡H$s H$mhrhr Zmhr

1) Mesne profits means :

1) profit shown in income tax return 2) very minimum profit

3) profit earned by mission 4) none of the above

2) ABC {díbofUmVrb BÝìh|Q>ar H§$Q´mob ‘oH°${ZP‘ ............ da AmYm[aV Amho.
1) Cn^moJmMo ‘yë¶ 2) XwH$mZmVyZ hmbMmb
3) JaO 4) darbn¡H$s H$mhrhr Zmhr

2) The inventory control mechanism in ABC analysis is based on ............

1) Value of consumption 2) Movement from store

3) Necessity 4) None of the above

3) ......... `moOZm ~hþVm§e H$maUm§gmR>r Cn ẁº$ Amho OoWo ^ma Am{U nwadR>çmMr gmVË` A{V[aº$ IMm©Mo g‘W©Z H$aVo.
1) qgJb ~g 2) S>~b ~g S>~b ~«oH$a
3) XmoÝhr (1) Am{U (2) 4) darbn¡H$s H$mhrhr Zmhr

3) .......... scheme is useful for most of the purposes where the loads and continuity of supply justify

additional costs.

1) Single bus 2) Double bus double breaker

3) Both (1) and (2) 4) None of the above

4) df© 2016-17 ‘Ü¶o ^maVmÀ¶m {Z¶m©V CËnÞm‘Ü¶o nwT>rcn¡H$s H$moUË¶m dñVy CËnmXZm§Zr AJ«H«$‘ {‘imcm?
1) B§{O{ZA[a¨J dñVy 2) ‘m¡ë¶dmZ IS>o (aËZo) Am{U Xm{JZo
3) H¥${f CËnmXZo 4) dómoËnmXZo

4) Which were the main objectivve of fifth plan?

a) Removal of poverty b) Attainment of self-reliance

c) Development of industries d) Growth with stability

Answer Options :

1) only a 2) a and b 3) only c 4) all above
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5) ^maVmVrb 2019-20 Xaå¶mZ EHy$U E’$S>rAm¶ B{¹$Q>rÀ¶m àdmhm~m~V Imbrb godm joÌmMr ‘m§S>Ur MT>Ë¶mH«$‘mZo
H$am.
A) hdmB© dmhVyH$ ~) ‘m{hVr Am{U àgmaU H$) gmJar dmhVyH$ S>) {ejU
n¶m©¶r CÎmao …
1) A, ~, H$ Am{U S> 2) S>, H$, ~ Am{U A 3) H$, ~, A Am{U S> 4) H$, S>, A Am{U ~

5) Arrange the following services sector in ascending order regarding the inflows of Gross FDI

Equity during 2019-20 in India.

a) Air Transport b) Information and Broadcasting

c) Sea Transport d) Education

Answer Options :

1) a, b, c and d 2) d, c, b and a 3) c, b, a and d 4) c, d, a and b

6) 2020-21 ¶m H$mbmdYrV ^maVmV WoQ> {dXoer Jw§VdUwH$sMm CÚmoJ {Zhm¶ CVaË¶m H«$‘mZo H«$‘ (‘m§S>Ur) H$am.
A) dmhVyH$ ~) CËnmXZ H$) ~m§YH$m‘ S>) g§JUH$ godm
n¶m©¶r CÎmao …
1) A, ~, H$ Am{U S> 2) ~, S>, A Am{U H$ 3) H$, S>, A Am{U ~ 4) S>, ~, A Am{U H$

6) Arrange in the descending order of following industry-wise inflows of foreign direct investment

to India during 2020-21.

a) Transport b) Manufacturing c) Construction d) Computer services

Answer Options :

1) a, b, c and d 2) b, d, a and c 3) c, d, a and b 4) d, b, a and c

7) 2021-22 ‘Ü ò ^maVmVrb ~mOar {Z`m©V H$aUmè`m XmoZ à‘wI Xoem§n¡H$s H$moUVo Xoe (E‘Q>rÀ`m à‘mUmV) AmhoV?
1) g§̀ wº$ Aa~ A{‘amVr Am{U ẁZm`Q>oS> ñQ>oQ²g Am°’$ A‘o[aH$m
2) g§̀ wº$ Aa~ A{‘amVr Am{U Zonmi
3) MrZ Am{U g§̀ wº$ Aa~ A{‘amVr
4) MrZ Am{U O‘©Zr

7) Which of the following are top two millet exporting destination countries (in terms of quantity

MT) of India in 2021-22 ?

1) United Arab Emirates and United States of America

2) United Arab Emirates and Nepal

3) China and United Arab Emirates

4) China and Germany

8) ì`mnmamÀ`m dm{f©H$ {díbofUmgmR>r amï´>r` Am`mV-{Z`m©V aoH$m°S>©Zwgma; 2021-22 `m Am{W©H$ dfm©V H¥$fr ‘mbmÀ`m
{Z`m©VrÀ`m ‘yë`mÀ`m ~m~VrV Imbrbn¡H$s H$moUVo amÁ` n{hë`m VrZ amÁ`m§‘Ü ò Amho?
1) JwOamV, ‘hmamï´> Am{U Am§Y« àXoe 2) ‘hmamï´>, Am§Y« àXoe Am{U CÎma àXoe
3) JwOamV, ‘hmamï´> Am{U CÎma àXoe 4) JwOamV, ‘hmamï´> Am{U H$Zm©Q>H$

8) As per National Import-Export record for yearly analysis of trade; which of the following States

ranks among top three in respect of value in share of export in agriculture commodity in financial

year 2021 —22 ?

1) Gujarat, Maharashtra and Andhra Pradesh

2) Maharashtra, Andhra Pradesh and Uttar Pradesh

3) Gujarat, Maharashtra and Uttar Pradesh

4) Gujarat, Maharashtra and Karnataka
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9) Imbrbn¡H$s H$moUË`m {nH$m§À`m {Z`m©Vr‘wio ^maVmV d¡km{ZH$ eoVr gwê$ Pmbr?
1) gỳ ©’y$b, ‘mohar, H$aS>B© 2) Jhÿ, Vm§Xyi, ~mbu
3) D$g, H$mnyg, V§~mIy 4) H$mnyg, Mhm, VmJ

9) Which of the following crops export has began the scientific agriculture in India ?

1) Sunflower, Mustard, Safflower 2) Wheat, Rice, Barley

3) Sugar cane, Cotton, Tobacco 4) Cotton, Tea, Jute

10) {dXoer {d{Z‘¶ {Z¶‘Z H$m¶Xm  (FERA) ........... amoOr A§‘cmV Amcm.
1) 1 OmZodmar, 1972 2)1 OmZodmar, 1973 3) 1 OmZodmar, 1974 4)1 OmZodmar, 1975

10) Foreign Exchange Regulation Act (FERA) came into force on

1) 1st January, 1972 2) 1st January, 1973 3) 1st January, 1974 4) 1st January, 1975

11) OmoS>çm Owidm …
Imbr {Xboë¶m df© 2020-21 ‘Yrb, WoQ> naH$s¶ Jw§VdUyH$ àdmh AmH${f©V H$aUmar joÌo (ñV§̂  'A') Am{U Ë¶m
joÌm§Mm EHy$U WoQ> naH$s¶ Jw§VdUwH$sVrc dmQ>m (ñV§̂  '~') ¶m§À¶m ¶mo½¶ OmoS>çm Owidm.
        ñV§̂  'A' (joÌ) ñV§̂  '~' (Q> o̧$dmar)
A) g§JUH$ gm°âQ>doAa Am{U hmS>©doAa i) 2.7
~) ‘moQ>maJmS>çm (Automobile) CÚmoJ joÌ ii) 4.4
H$) godm joÌ iii) 8.5
S>) ì¶mnma (Trading) joÌ iv) 43.8
n¶m©¶r CÎmao …

A ~ H$ S>
1) i ii iii iv

2) iv i iii ii

3) iii iv i ii

4) ii iii iv i

11) Match the following.

Match the sectors attracting the foreign direct investment (equity) inflows given in Column ‘A’

with their percentage share in total foreign direct investment equity inflows given in Column ‘B’

for the year 2020-21.

Column 'A' (Sector) Column 'B' (%)

a) Computer software and hardware i) 2.7

b) Automobile industry ii) 4.4

c) Services sector iii) 8.5

d) Trading sector iv) 43.8

Answer Options :

a b c d

1) i ii iii iv

2) iv i iii ii

3) iii iv i ii

4) ii iii iv i
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12) OmJ{VH$ ì¶mnma g§KQ>ZoZwgma df© 2020 ‘Ü¶o ^maV ì¶mnmar‘mb {Z¶m©VXmam§‘Ü¶o Am{U ì¶mnmar‘mb Am¶mVXmam§‘Ü¶o
OmJ{VH$ H«$‘dmarV AZwH«$‘o Imbrbn¡H$s H$moUË¶m H«$‘m§H$m§da hmoVm?
1) {Z¶m©V H«$‘ 12, Am¶mV H«$‘ 7 2) {Z¶m©V H«$‘ 30, Am¶mV H«$‘ 5
3) {Z¶m©V H«$‘ 21, Am¶mV H«$‘ 14 4) {Z¶m©V H«$‘ 41, Am¶mV H«$‘ 21

12) As per WTO what was India’s ranking in the world merchandise exports and in the world

merchandise imports for the year 2020, among the world exporters and importers respectively ?

1) Export rank 12, Import rank 7 2) Export rank 30, Import rank 5

3) Export rank 21, Import rank 14 4) Export rank 41, Import rank 21

13) Imbrb {dYmZo {dMmamV ¿¶m …
A) 2021-22 Xaå¶mZ Am°ñQ´>o{b¶m Am{U gm¡Xr Aao{~¶m ^maVmÀ¶m noQ´>mo{b¶‘ {Z¶m©VrgmR>r nmMì¶m Am{U gmVì¶m

H«$‘m§H$mMr gdm©V ‘moR>r {Z¶m©V {R>H$mUo ~Zbr AmhoV.
~) 2021-22 ‘Ü¶o ^maVmÀ¶m EHy$U {Z`m©Vrn¡H$s noQ´>mo{b¶‘, Vob Am{U d§JU {Z¶m©VrMm dmQ>m 16.0 Q> o̧$ hmoVm.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo MwH$sMr Amho/V?
n¶m©¶r CÎmao …
1) ’$º$ A MyH$ Amho 2) ’$º$ ~ MyH$ Amho
3) XmoÝhr A Am{U ~ MyH$ AmhoV 4) darbn¡H$s Zmhr

13) Consider the following statements :

a) During 2021-22 Australia and Saudi Arabia have become the fifth and seventh largest export

destinations for India’s petroleum exports.

b) Petroleum, oil and lubricants exports accounted for 16.0 percent of India’s total exports during

2021-22.

Which of the statement/s given above is/are incorrect ?

Answer Options :

1) Only a is incorrect 2) Only b is incorrect

3) Both a and b are incorrect 4) None of the above

14) Imcrc {dYmZo {dMmamV ¿¶m :
a) E{àc-Zmoìh|~a 2021 ‘Ü¶o ^maVmVyZ gdm©{YH$ {Z¶m©V ¶yEgE, ¶wEB© Am{U MrZ ¶m Xoem§Zm Pmcr hmoVr.
b) ¶mM H$mimV MrZ, ¶yEB© Am{U ¶yEgE ho ^maVmmR>r gdm©V ‘moR>o Am¶mV ómoV hmoVo.
darcn¡H$s H$moUVr {dYmZo ~amo~a Amho/AmhoV ?
1) ’$º$ (a) 2) ’$º$ (b) 3) XmoÝhr (a) Am{U (b) 4) darcn¡H$s Zmhr

14) Consider the following statements :

a) During April-November 2021, the highest exports from India were to USA, UAE and China.

b) During the same period China, UAE and USA were the largest import sources for India.

Which of the statements given above is/are correct ?

1) Only(a) 2) Only (b) 3) Both (a) and (b) 4) None of the above

15) Imbrb {dYmZo {dMmamV ¿¶m …
A) B§S>moZo{e¶mVrb ~mbr ¶oWo 3 Vo 7 {S>g|~a 2013 ¶m H$mbmdYrV OmJ{VH$ ì¶mnma g§KQ>ZoMr Zddr ‘§ÌrñVar¶ ~¡R>H$

Pmbr hmoVr.
~) ~mbr n°Ho$O‘Yrb ‘w»¶ H$ama AÝ¶ AZwXmZ Am{U ì¶mnma gwb^Voer g§~§{YV AmhoV.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/AmhoV?
1) ’$º$ A ~amo~a Amho 2) ’$º$ ~ ~amo~a Amho
3) XmoÝhr A Am{U ~ MyH$ AmhoV 4) XmoÝhr A Am{U ~ ~amo~a AmhoV
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15) Consider the following statements :

a) The Ninth World Trade Organisation’s Ministerial meeting was held in Balj, Indonesia during 3

to 7 December 2013.

b) The main agreements in the Bali package were related to food subsidies and trade facilitation.

Which of the statement/s given above is/are correct ?

1) Only a is correct 2) Only b is correct

3) Both a and b are incorrect 4) Both a and b are correct

16) OmJ{VH$ ì¶mnma g§KQ>ZoV Imbrbn¡H$s H$moUVo H$ama A§V ŷ©V hmoVmV?
A) dñVy§À¶m ì¶mnmamdarb ~hþnjr¶ H$ama. ~) godm ì¶mnmamdarb gm‘mÝ¶ H$ama.
H$) H$mnS> Am{U H$nS>çm§darb H$ama. S>) ì¶mnma{df¶H$ ~m¡{ÕH$ ‘mb‘Îmm H$ama.
n¶m©¶r CÎmao …
1) Ho$di A Am{U H$ 2) Ho$di ~ Am{U S> 3) Ho$di A, ~ Am{U S> 4) darbn¡H$s gd©

16) Which of the following agreements comes under World Trade Organisation ?

a) Multilateral Agreements on Trade in goods.

b) General Agreement on Trade in Services.

c) Agreements on Textiles and Clothing.

d) Agreement on Trade Related Intellectual Property (TRIPs).

Answer Options :

1) Only a and c 2) Only b and d 3) Only a, b and d 4) All of the above

17) {~«³g dw‘oÝg {~PZog Abm¶Ýg (BRICS WBA) g§X^m©Vrb nwT>rb {dYmZo dmMm.
A) Owb¡-2020 ‘Ü¶o A{YH¥$VnUo CnH«$‘m§Mr gwédmV.
~) nañna bm^mMo àH$ën AmoiIyZ Am{U ‘{hbm CÚmoOH$m§À¶m ì¶mdgm{¶H$ {hVg§~§Ym§Zm MmbZm XoD$Z {~«³g Xoem§Vrb

{Ûnjr¶ ì¶mnmambm MmbZm XoUo hm Ë¶mMm CÔoe Amho.
H$) {~«³g Xoem§Vrb 25 ‘{hbm ZoË¶m§Mm Ë¶mV g‘mdoe Amho.
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ ~amo~a AmhoV. 2) A Am{U ~ ’$º$ ~amo~a AmhoV.
3) ~ Am{U H$ ’$º$ ~amo~a AmhoV. 4) A Am{U H$ ’$º$ ~amo~a AmhoV.

17) Read the following statements related to BRICS Women’s Business Alliances (BRICS WBA).

a) Officially launched its activities in July 2020.

b) It aims to faster bilateral trade between BRICS countries by identifying projects of mutual

benefits and unlocking opportunities for advancing business interests of women entrepreneurs.

c) It comprises 25 women leaders from BRICS countries.

Answer Options :

1) a, b and c are correct 2) a and b only are correct

3) b and c only are correct 4) a and c only are correct

18) Imbrb {dYmZo {dMmamV ¿¶m …
A) WTO Mr Xhmdr ‘§ÌrñVar¶ n[afX Ho${Z¶m ¶oWo Am¶mo{OV H$aÊ¶mV Ambr hmoVr.
~) WTO Mr AH$amdr ‘§ÌrñVar` n[afX B§S>moZo{e¶m ¶oWo Am¶mo{OV H$aÊ¶mV Ambr hmoVr.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/V?
1) Ho$di A ~amo~a Amho 2) Ho$di ~ ~amo~a Amho
3) XmoÝhr A Am{U ~ ~amo~a AmhoV 4) darbn¡H$s Zmhr
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18) Consider the following statements :

a) The WTO’s Tenth Ministerial Conference was held in Kenya.

b) The WTO’s Eleventh Ministerial Conference was held in Indonesia.

Which of the statement/s given above is/are correct ?

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) None of the above

19) Am§Vaamï´>r¶ ZmUo {ZYr g§~§YrV Imbrbn¡H$s H$moUVo {dYmZ/Zo A¶mo½¶ Amho/V?
A) gXñ¶ Xoem§À¶m pñWa {d{Z‘¶ Xamgh MbZ n[adV©Zr¶VoMr ñWmnZm d XoI^mb.
~) naH$s¶ MbZmdarb {Z¶§ÌUo H$‘r qH$dm g§nyU©nUo Zmhrer H$aÊ¶mgmR>r ‘XV H$aUo.
H$) Jar~ Xoem§Zm nZwa©MZm Am{U {dH$mgmgmR>r ghmæ¶ H$aUo.
S>) ~hþnjr¶ ì¶mnma d Xo¶H$ ¶m§Mm ì¶mnH$ {dñVma H$aÊ¶mg ‘XV H$aUo.
n¶m©¶r CÎmao …
1) A, ~, S> 2) ’$º$ ~ 3) ’$º$ H$ 4) H$, S>

19) Which of the following statement/s is/are incorrect about International Monetary Fund (IMF) ?

a) Establishment and maintenance of currency convertibility with stable exchange rate of member

nations.

b) To help in the elimination or reduction of existing exchange controls.

c) To assist in the reconstruction and development of poor nations.

d) To help in the widest extension of multilateral trade and payments.

Answer options :

1) a, b, d 2) only b 3) only c 4) c, d
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CÎmao

(4) AW©g§H$ën d gmd©O{ZH$ {dÎm, ~±qH$J d d {dÎm, H¥$fr d J«m‘rU {dH$mg, Xm[aÚ« d ~oH$mar

1) amï´>r` CËnÞ

1-4 2-4 3-4 4-2 5-3 6-3 7-2 8-3 9-3 10-2
11-3

2) AW©g§H$ën d gmd©O{ZH$ {dÎm

1-1 2-1 3-3 4-3 5-2 6-3 7-1 8-1 9-2 10-3
11-1 12-4 13-x 14-2 15-3 16-1 17-1 18-1 19-1 20-2
21-2 22-1 23-1 24-1 25-1 26-2 27-2 28-1 29-4 30-1
31-1 32-4 33-1 34-2 35-1 36-4 37-1 38-1 39-4 40-1
41-4 42-4 43-1 44-3 45-2 46-2 47-2 48-4 49-1 50-1
51-1 52-1 53-3 54-4 55-1 56-3 57-3 58-3 59-3 60-4
61-3 62-1 63-3 64-2 65-4 66-3 67-2 68-1 69-3 70-4
71-1 72-3 73-3 74-3 75-4 76-3 77-1 78-4 79-4 80-3
81-1 82-4 83-1 84-1 85-3 86-4 87-3 88-3 89-4 90-3
91-3 92-1 93-4 94-1 95-3 96-4 97-3 98-2 99-4 100-3
101-2 102-1 103-1 104-1 105-4 106-4 107-4 108-3 109-1 110-4
111-1 112-3 113-3 114-3 115-2

3) ~±qH$J

1-2 2-4

4) H¥$fr d J«m‘rU {dH$mg

1-4 2-4 3-4 4-2 5-2 6-1 7-4 8-2 9-2 10-4
11-4 12-3 13-2 14-2 15-2 16-2 17-4 18-1 19-3 20-3
21-2 22-2 23-2 24-2 25-1 26-4 27-3 28-2 29-1 30-2
31-1 32-4 33-2 34-2 35-1 36-4 37-3

5) CÚmoJ d n¶m ŷV gw{dYm

1-3 2-1 3-3 4-3 5-4 6-2 7-3 8-2 9-2 10-2
11-3 12-1 13-3 14-1 15-2 16-3 17-2 18-3 19-3 20-4
21-1 22-3 23-1 24-2 25-1 26-2 27-3 28-2 29-4 30-1
31-2 32-2 33-3
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6) Xm[aÚ« d ~oH$mar

1-1 2-4 3-1 4-1 5-1 6-3 7-4 8-2 9-2 10-1
11-3 12-2 13-3 14-4 15-4 16-1 17-1 18-4 19-1 20-1
21-3 22-2 23-2 24-1 25-3 26-2 27-3

7) A{W©H$ gwYmaUm

1-4

8) gd©gm‘mdoeH$Vm d {dH$mg

1-2 2-2 3-3 4-4 5-2 6-1 7-3 8-2 9-3 10-4
11-4 12-4 13-1 14-2 15-4 16-3 17-3 18-2 19-2 20-4
21-1 22-4 23-4 24-4 25-3 26-4 27-1 28-3 29-2 30-3
31-3 32-3 33-3 34-4 35-4 36-2

9) {dXoer ì¶mnma

1-4 2-1 3-2 4-1 5-3 6-4 7-2 8-3 9-3 10-3
11-2 12-3 13-4 14-3 15-4 16-4 17-1 18-1 19-3


